									Contrac	t T869.120.302	- Bid Tabulation									
		Line Iter	n Detail		South Stat	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Gener	al Contractor	Union Paving and	Const. Co., Inc.	Pierson-Driscoll,	A Joint Venture	George Harms C	•	Intercounty Pavir Kibbleh	-
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	1D01LAY	1	L.S.	Construction Layout	\$1,000,000.00	\$1,000,000.00	\$2,000,000.00	\$2,000,000.00	\$2,200,000.00	\$2,200,000.00	\$1,223,765.73	\$1,223,765.73	\$1,950,000.00	\$1,950,000.00	\$2,600,000.00	\$2,600,000.00	\$2,700,000.00	\$2,700,000.00	\$2,123,289.74	\$2,123,289.74
2	1D10MOB	1	L.S.	Mobilization Environmental Health and	\$6,970,000.00	\$6,970,000.00	\$7,300,000.00	\$7,300,000.00	\$7,474,674.05	\$7,474,674.05	\$7,110,000.00	\$7,110,000.00	\$7,700,000.00	\$7,700,000.00	\$7,500,000.00	\$7,500,000.00	\$8,930,000.00	\$8,930,000.00	\$10,319,721.33	\$10,319,721.33
3	5ZO0019	1	L.S.	Safety Plans	\$500.00	\$500.00	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$8,500.00	\$8,500.00	\$4,000.00	\$4,000.00	\$9,180.00	\$9,180.00
4	1G05SCH	1	L.S.	Progress Schedule (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$750,000. Enter a Unit Price of \$750,000 as your bid for this item.)	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00
5	1HFP500	1	L.S.	Fuel Price Adjustment (This is a NO BID, Lump Sum item for this contract. The Lump Sum price is \$500,000. Enter a Unit Price of \$500,000 as your bid item for this item.)	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00
6	2A01CAG	157	Acre	Clearing and Grubbing	\$25.00	\$3,925.00	\$2,000.00	\$314,000.00	\$500.00	\$78,500.00	\$1,500.00	\$235,500.00	\$5,000.00	\$785,000.00	\$4,000.00	\$628,000.00	\$38,215.00	\$5,999,755.00	\$11,544.41	\$1,812,472.37
7	2A06CAG	12	Each	Sealing of Abandoned Well	\$800.00	\$9,600.00	\$700.00	\$8,400.00	\$1,200.00	\$14,400.00	\$745.00	\$8,940.00	\$650.00	\$7,800.00	\$550.00	\$6,600.00	\$600.00	\$7,200.00	\$810.00	\$9,720.00
8	2B04REX	729,602.00	C.Y.	Roadway Excavation and Embankment	\$8.00	\$5,836,816.00	\$8.50	\$6,201,617.00	\$9.00	\$6,566,418.00	\$14.00	\$10,214,428.00	\$6.00	\$4,377,612.00	\$12.00	\$8,755,224.00	\$13.25	\$9,667,226.50	\$20.25	\$14,774,440.50
9	2B05REX	4,765.00	C.Y.	Roadway Excavation, Muck	\$23.00	\$109,595.00	\$16.00	\$76,240.00	\$35.00	\$166,775.00	\$8.00	\$38,120.00	\$15.00	\$71,475.00	\$17.00	\$81,005.00	\$76.50	\$364,522.50	\$38.04	\$181,260.60
10	2B15STS	73,768.00	C.Y.	Stripping Topsoil	\$7.80	\$575,390.40	\$9.50	\$700,796.00	\$15.00	\$1,106,520.00	\$8.00	\$590,144.00	\$6.00	\$442,608.00	\$7.00	\$516,376.00	\$6.00	\$442,608.00	\$6.02	\$444,083.36
11	2C00005	28,900.00	C.Y.	Clay Liner	\$30.00	\$867,000.00	\$36.50	\$1,054,850.00	\$15.00	\$433,500.00	\$25.00	\$722,500.00	\$12.50	\$361,250.00	\$9.00	\$260,100.00	\$34.00	\$982,600.00	\$22.27	\$643,603.00
12	2C02EMB	228,840.00	C.Y.	Embankment, Grade A	\$23.00	\$5,263,320.00	\$21.50	\$4,920,060.00	\$25.00	\$5,721,000.00	\$35.00	\$8,009,400.00	\$19.00	\$4,347,960.00	\$24.50	\$5,606,580.00	\$28.00	\$6,407,520.00	\$29.62	\$6,778,240.80
13	2C04EMB	1,548.00	C.Y.	Porous Fill	\$30.00	\$46,440.00	\$47.00	\$72,756.00	\$50.00	\$77,400.00	\$55.00	\$85,140.00	\$60.00	\$92,880.00	\$65.00	\$100,620.00	\$35.00	\$54,180.00	\$50.40	\$78,019.20
14	2H01DSC	1,000.00	S.Y.	Temporary Seeding	\$3.50	\$3,500.00	\$10.00	\$10,000.00	\$5.00	\$5,000.00	\$1.00	\$1,000.00	\$2.00	\$2,000.00	\$0.75	\$750.00	\$0.80	\$800.00	\$4.32	\$4,320.00
15	2E01CAL	395	C.Y.	Coarse Aggregate Layer	\$50.00	\$19,750.00	\$67.50	\$26,662.50	\$75.00	\$29,625.00	\$42.00	\$16,590.00	\$50.00	\$19,750.00	\$80.00	\$31,600.00	\$50.00	\$19,750.00	\$24.15	\$9,539.25
16	2E01FEX	9,618.00	C.Y.	Foundataion Excavation Riprap Stone Aprons, 18"	\$35.00	\$336,630.00	\$21.00	\$201,978.00	\$30.00	\$288,540.00	\$28.00	\$269,304.00	\$25.00	\$240,450.00	\$45.00	\$432,810.00	\$20.00	\$192,360.00	\$28.35	\$272,670.30
17	2G00005	170	Ton	Thick, (D50=9")	\$46.00	\$7,820.00	\$46.00	\$7,820.00	\$90.00	\$15,300.00	\$75.00	\$12,750.00	\$70.00	\$11,900.00	\$65.00	\$11,050.00	\$175.00	\$29,750.00	\$60.39	\$10,266.30
18	2G00009	45	C.Y.	Gabions Gabion Mattress Slope	\$282.00	\$12,690.00	\$178.00	\$8,010.00	\$500.00	\$22,500.00	\$400.00	\$18,000.00	\$250.00	\$11,250.00	\$315.00	\$14,175.00	\$200.00	\$9,000.00	\$332.39	\$14,957.55
19	2G00010	20	C.Y.	Protection, 12" Thick	\$282.00	\$5,640.00	\$180.00	\$3,600.00	\$650.00	\$13,000.00	\$600.00	\$12,000.00	\$400.00	\$8,000.00	\$375.00	\$7,500.00	\$225.00	\$4,500.00	\$486.45	\$9,729.00
20	2G00022	62	Ton	Riprap Stone Scour Hole, 12" Thick, D50=6"	\$46.00	\$2,852.00	\$50.00	\$3,100.00	\$150.00	\$9,300.00	\$110.00	\$6,820.00	\$70.00	\$4,340.00	\$55.00	\$3,410.00	\$100.00	\$6,200.00	\$76.15	\$4,721.30
21	2G00038	30	C.Y.	Gabion Mattress 9" x 6' x 9'	\$282.00	\$8,460.00	\$190.00	\$5,700.00	\$500.00	\$15,000.00	\$500.00	\$15,000.00	\$400.00	\$12,000.00	\$390.00	\$11,700.00	\$250.00	\$7,500.00	\$441.65	\$13,249.50
22	2G12A06	1,370.00	Ton	Riprap Stone Aprons, 12" Thick, D50=6"	\$46.00	\$63,020.00	\$46.00	\$63,020.00	\$75.00	\$102,750.00	\$70.00	\$95,900.00	\$70.00	\$95,900.00	\$50.00	\$68,500.00	\$110.00	\$150,700.00	\$55.02	\$75,377.40
23	2G12A08	1,420.00	Ton	Riprap Stone Aprons, 24" Thick (D50=12")	\$46.00	\$65,320.00	\$49.00	\$69,580.00	\$75.00	\$106,500.00	\$70.00	\$99,400.00	\$70.00	\$99,400.00	\$65.00	\$92,300.00	\$92.00	\$130,640.00	\$74.12	\$105,250.40
24	2G12D07	14,400.00	Ton	Riprap Stone Ditch Protection, 12" Thick, D50=6"	\$46.00	\$662,400.00	\$46.00	\$662,400.00	\$55.00	\$792,000.00	\$60.00	\$864,000.00	\$45.00	\$648,000.00	\$40.00	\$576,000.00	\$45.00	\$648,000.00	\$53.49	\$770,256.00
25	2H00001	1,440.00	L.F.	Temporary Slope Drain	\$25.00	\$36,000.00	\$17.00	\$24,480.00	\$25.00	\$36,000.00	\$50.00	\$72,000.00	\$18.00	\$25,920.00	\$25.00	\$36,000.00	\$26.00	\$37,440.00	\$62.51	\$90,014.40
26	2H00007	25,740.00	L.F.	Heavy Duty Silt Fence, Black	\$5.00	\$128,700.00	\$4.30	\$110,682.00	\$6.00	\$154,440.00	\$5.00	\$128,700.00	\$5.00	\$128,700.00	\$7.00	\$180,180.00	\$6.50	\$167,310.00	\$5.40	\$138,996.00
27	2H00009	1,000.00	Each	Sediment Containment Bags	\$5.00	\$5,000.00	\$163.00	\$163,000.00	\$100.00	\$100,000.00	\$5.00	\$5,000.00	\$25.00	\$25,000.00	\$50.00	\$50,000.00	\$100.00	· ·	\$179.12	\$179,120.00
28 29	2H00016 2H25TEC	344 104	Each C.Y.	Inlet Filter, Type 2 Hay Bales	\$125.00 \$50.00	\$43,000.00 \$5,200.00	\$134.00 \$16.00	\$46,096.00 \$1,664.00	\$125.00 \$100.00	\$43,000.00 \$10,400.00	\$75.00 \$75.00	\$25,800.00 \$7,800.00	\$150.00 \$75.00	\$51,600.00 \$7,800.00	\$125.00 \$20.00	\$43,000.00 \$2,080.00	\$240.00 \$110.00	\$82,560.00 \$11,440.00	\$129.60 \$27.00	\$44,582.40 \$2,808.00
30	2H35TEC	1,005.00	L.F.	Floating Turbidity Barriers	\$20.00	\$20,100.00	\$17.00	\$17,085.00	\$40.00	\$40,200.00	\$10.00	\$10,050.00	\$30.00	\$30,150.00	\$25.00	\$25,125.00	\$50.00	. ,	\$21.60	\$21,708.00
31	2H45TEC	1,140.00	Ton	Construction Driveway	\$70.00	\$79,800.00	\$80.00	\$91,200.00	\$40.00	\$45,600.00	\$40.00	\$45,600.00	\$35.00	\$39,900.00	\$25.00	\$28,500.00	\$60.00	\$68,400.00	\$43.36	\$49,430.40
32	N1F0001	1	L.S.	Concrete Washout Facility	\$100,000.00	\$100,000.00	\$6,800.00	\$6,800.00	\$60,000.00	\$60,000.00	\$20,000.00	\$20,000.00	\$100,000.00	\$100,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$24,300.00	\$24,300.00
33	N1F0002	3	Each	Oil Only Emergency Spill Kit	\$100.00	\$300.00	\$1,070.00	\$3,210.00	\$900.00	\$2,700.00	\$550.00	\$1,650.00	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.00	\$1,900.00	\$5,700.00	\$1,620.00	\$4,860.00
34	N2H0006	10	Each	Dewatering Basins	\$1,500.00	\$15,000.00	\$975.00	\$9,750.00	\$2,500.00	\$25,000.00	\$250.00	\$2,500.00	\$2,500.00	\$25,000.00	\$500.00	\$5,000.00	\$2,500.00	\$25,000.00	\$4,651.86	\$46,518.60
35	2J11DES	1	L.S.	Demolition of Existing Structures No. 1	\$50,000.00	\$50,000.00	\$5,000.00	\$5,000.00	\$200,000.00	\$200,000.00	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$250,000.00	\$250,000.00	\$55,909.79	\$55,909.79

									Contra	ct T869.120.302	- Bid Tabulation									
		Line Iten	n Detail		South State	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Gener	al Contractor	Union Paving and	Const. Co., Inc.	Pierson-Driscoll,	, A Joint Venture		Construction Co., nc.		ing LLC J/V H. & ehouse
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
36	2J12DES	1	L.S.	Demolition of Existing Structures No. 2	\$500,000.00	\$500,000.00	\$300,000.00	\$300,000.00	\$1,400,000.00	\$1,400,000.00	\$500,000.00	\$500,000.00	\$375,000.00	\$375,000.00	\$310,000.00	\$310,000.00	\$1,050,000.00	\$1,050,000.00	\$525,000.00	\$525,000.00
37	2J13DES	1	L.S.	Demolition of Existing Structures No. 3	\$75,000.00	\$75,000.00	\$5,000.00	\$5,000.00	\$200,000.00	\$200,000.00	\$65,000.00	\$65,000.00	\$50,000.00	\$50,000.00	\$150,000.00	\$150,000.00	\$250,000.00	\$250,000.00	\$77,403.33	\$77,403.33
38	2J14DES	1	L.S.	Demolition of Existing Structures No. 4	\$150,000.00	\$150,000.00	\$130,000.00	\$130,000.00	\$500,000.00	\$500,000.00	\$150,000.00	\$150,000.00	\$200,000.00	\$200,000.00	\$250,000.00	\$250,000.00	\$420,000.00	\$420,000.00	\$139,650.00	\$139,650.00
39	2J15DES	1	L.S.	Demolition of Existing Structures No. 5	\$150,000.00	\$150,000.00	\$130,000.00	\$130,000.00	\$500,000.00	\$500,000.00	\$150,000.00	\$150,000.00	\$200,000.00	\$200,000.00	\$250,000.00	\$250,000.00	\$420,000.00	\$420,000.00	\$139,650.00	\$139,650.00
40	2J16DES	1	L.S.	Demolition of Existing Structures No. 6	\$500,000.00	\$500,000.00	\$375,000.00	\$375,000.00	\$1,000,000.00	\$1,000,000.00	\$650,000.00	\$650,000.00	\$450,000.00	\$450,000.00	\$350,000.00	\$350,000.00	\$650,000.00	\$650,000.00	\$719,250.00	\$719,250.00
41	2J22DES	1	L.S.	Demolition of Existing Structures No. 7	\$250,000.00	\$250,000.00	\$210,000.00	\$210,000.00	\$700,000.00	\$700,000.00	\$400,000.00	\$400,000.00	\$250,000.00	\$250,000.00	\$275,000.00	\$275,000.00	\$1,300,000.00	\$1,300,000.00	\$372,750.00	\$372,750.00
42	2K01TPF	37,795.00	L.F.	Temporary Orange Plastic Fence	\$0.25	\$9,448.75	\$2.00	\$75,590.00	\$2.00	\$75,590.00	\$3.50	\$132,282.50	\$2.00	\$75,590.00	\$1.80	\$68,031.00	\$4.00	\$151,180.00	\$2.05	\$77,479.7
43	2L01SBB	160	C.Y.	Subbase	\$37.50	\$6,000.00	\$28.00	\$4,480.00	\$75.00	\$12,000.00	\$60.00	\$9,600.00	\$40.00	\$6,400.00	\$30.00	\$4,800.00	\$42.00	\$6,720.00	\$48.43	\$7,748.80
44	2M00006	59,142.00	C.Y.	Excavation, Acid Producing Soils	\$0.01	\$591.42	\$4.25	\$251,353.50	\$1.00	\$59,142.00	\$6.25	\$369,637.50	\$0.01	\$591.42	\$6.00	\$354,852.00	\$7.40	\$437,650.80	\$15.86	\$937,992.12
45	2M00007	21,610.00	S.Y.	Acid-Producing Soils Remediation	\$2.00	\$43,220.00	\$3.30	\$71,313.00	\$3.00	\$64,830.00	\$1.00	\$21,610.00	\$2.00	\$43,220.00	\$1.00	\$21,610.00	\$1.25	\$27,012.50	\$2.43	\$52,512.30
46	2M00008	65,560.00	Ton	Disposal of Acid Producing Soil	\$0.01	\$655.60	\$1.00	\$65,560.00	\$5.00	\$327,800.00	\$32.50	\$2,130,700.00	\$14.00	\$917,840.00	\$10.00	\$655,600.00	\$9.80	\$642,488.00	\$22.49	\$1,474,444.40
47	2M00009	70	Each	Testing for Acid Producing Soil Deposits	\$250.00	\$17,500.00	\$321.00	\$22,470.00	\$1,300.00	\$91,000.00	\$325.00	\$22,750.00	\$250.00	\$17,500.00	\$300.00	\$21,000.00	\$340.00	\$23,800.00	\$745.44	\$52,180.80
48	2M00011	4	Each	Testing of Soils for Waste Classification	\$1,250.00	\$5,000.00	\$1,025.00	\$4,100.00	\$2,550.00	\$10,200.00	\$1,500.00	\$6,000.00	\$1,450.00	\$5,800.00	\$1,000.00	\$4,000.00	\$1,200.00	\$4,800.00	\$1,030.32	\$4,121.28
49	5ZO0018	1,865.00	Ton	Off-Site Disposal of ID-27 Waste	\$40.00	\$74,600.00	\$30.00	\$55,950.00	\$40.00	\$74,600.00	\$40.00	\$74,600.00	\$40.00	\$74,600.00	\$30.00	\$55,950.00	\$30.50	\$56,882.50	\$39.91	\$74,432.1
50	N2C0005	69	Each	Settlement Platforms	\$2,000.00	\$138,000.00	\$1,070.00	\$73,830.00	\$900.00	\$62,100.00	\$1,500.00	\$103,500.00	\$1,300.00	\$89,700.00	\$1,000.00	\$69,000.00	\$1,500.00	\$103,500.00	\$810.00	\$55,890.00
51	2M00003	1	L.S.	Vibration and Movement Monitoring	\$100,000.00	\$100,000.00	\$50,000.00	\$50,000.00	\$60,000.00	\$60,000.00	\$35,000.00	\$35,000.00	\$135,000.00	\$135,000.00	\$55,000.00	\$55,000.00	\$90,000.00	\$90,000.00	\$191,572.56	\$191,572.50
52	2N00002	52	Week	Geotechnical Instrumentation Monitoring	\$1,250.00	\$65,000.00	\$3,250.00	\$169,000.00	\$700.00	\$36,400.00	\$750.00	\$39,000.00	\$50.00	\$2,600.00	\$500.00	\$26,000.00	\$1,200.00	\$62,400.00	\$6,696.00	\$348,192.00
53	3A06ABC	9,665.00	S.Y.	Aggregate Base Course, 6" Thick	\$6.55	\$63,305.75	\$7.60	\$73,454.00	\$12.00	\$115,980.00	\$4.25	\$41,076.25	\$15.00	\$144,975.00	\$7.00	\$67,655.00	\$15.00	\$144,975.00	\$6.87	\$66,398.5
54	3A07ABC	301,910.00	S.Y.	Aggregate Base Course, 6.5" Thick	\$6.55	\$1,977,510.50	\$7.30	\$2,203,943.00	\$6.80	\$2,052,988.00	\$7.50	\$2,264,325.00	\$6.75	\$2,037,892.50	\$7.00	\$2,113,370.00	\$8.00	\$2,415,280.00	\$7.35	\$2,219,038.50
55	3A08ABC	14,205.00	S.Y.	Aggregate Base Course, 8" Thick	\$8.00	\$113,640.00	\$9.10	\$129,265.50	\$12.00	\$170,460.00	\$10.00	\$142,050.00	\$16.00	\$227,280.00	\$10.00	\$142,050.00	\$11.00	\$156,255.00	\$8.40	\$119,322.00
56	3B21SUP	135,180.00	Ton	Superpave Hot Mix Asphalt 25H 64 Base Course	\$55.00	\$7,434,900.00	\$53.00	\$7,164,540.00	\$55.00	\$7,434,900.00	\$55.00	\$7,434,900.00	\$58.00	\$7,840,440.00	\$52.20	\$7,056,396.00	\$63.00	\$8,516,340.00	\$54.77	\$7,403,808.60
57	3B23SUP	7,900.00	Ton	Superpave Hot Mix Asphalt 19M 64 Base Course	\$58.00	\$458,200.00	\$58.00	\$458,200.00	\$60.00	\$474,000.00	\$60.00	\$474,000.00	\$63.00	\$497,700.00	\$58.00	\$458,200.00	\$66.00	\$521,400.00	\$58.92	\$465,468.00
58	3B24SUP	54,260.00	Ton	Superpave Hot Mix Asphalt 19H 76 Intermediate Course	\$62.00	\$3,364,120.00	\$60.00	\$3,255,600.00	\$62.00	\$3,364,120.00	\$62.00	\$3,364,120.00	\$65.00	\$3,526,900.00	\$59.00	\$3,201,340.00	\$78.00	\$4,232,280.00	\$67.11	\$3,641,388.60
59	3B25SUP	47,335.00	Ton	Superpave Hot Mix Asphalt 12.5H 76 Surface Course	\$63.00	\$2,982,105.00	\$69.00	\$3,266,115.00	\$71.00	\$3,360,785.00	\$71.00	\$3,360,785.00	\$74.00	\$3,502,790.00	\$67.45	\$3,192,745.75	5 \$84.50	\$3,999,807.50	\$68.57	\$3,245,760.9
60	3B26TAC	35,580.00	Gallon	Tack Coat	\$9.50	\$338,010.00	\$2.02	\$71,871.60	\$3.00	\$106,740.00	\$2.10	\$74,718.00	\$4.50	\$160,110.00	\$2.00	\$71,160.00	\$2.50	\$88,950.00	\$2.43	\$86,459.40
61	3B31SUP	2,925.00	Ton	Superpave Hot Mix Asphalt 12.5M64 Surface Course	\$60.00	\$175,500.00	\$71.00	\$207,675.00	\$72.00	\$210,600.00	\$71.00	\$207,675.00	\$75.00	\$219,375.00	\$70.00	\$204,750.00	\$78.00	\$228,150.00	\$69.27	\$202,614.7
62	3B839APA	1	L.S.	Asphalt Price Adjustment (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$839,000. Enter a Unit Price of \$839,000 as your bid for this item.)	\$839,000.00	\$839,000.00	\$839,000.00	\$839,000.00	\$839,000.00	\$839,000.00	\$839,000.00	\$839,000.00	\$839,000.00	\$839,000.00	\$839,000.00	\$839,000.00	\$839,000.00	\$839,000.00	\$839,000.00	\$839,000.00
63	3C01BRS	11,715.00	S.Y.	Berm Surfacing, 3 Inches Thick	\$16.00	\$187,440.00	\$13.20	\$154,638.00	\$17.00	\$199,155.00	\$15.00	\$175,725.00	\$19.00	\$222,585.00	\$17.00	\$199,155.00	\$20.75	\$243,086.25	\$20.27	\$237,463.0
64	3C02BRS	52,875.00	S.Y.	Berm Surfacing, Crushed Stone, 6" Thick	\$10.00	\$528,750.00	\$11.50	\$608,062.50	\$9.00	\$475,875.00	\$11.00	\$581,625.00	\$12.00	\$634,500.00	\$12.00	\$634,500.00	\$14.30	\$756,112.50	\$19.29	\$1,019,958.7
65	3D01UPR	900	S.Y.	Underlayer Preparation	\$20.00	\$18,000.00	\$3.00	\$2,700.00	\$5.00	\$4,500.00	\$8.50	\$7,650.00	\$5.00	\$4,500.00	\$4.00	\$3,600.00	\$6.50	\$5,850.00	\$2.94	\$2,646.00
66	3D05APS	2,926.00	S.Y.	Bridge Approach Slab	\$275.00	\$804,650.00	\$305.00	\$892,430.00	\$300.00	\$877,800.00	\$400.00	\$1,170,400.00	\$275.00	\$804,650.00	\$280.00	\$819,280.00	\$432.00	\$1,264,032.00	\$307.80	\$900,622.8

									Contra	ct T869.120.302	- Bid Tabulation									
		Line Iter	n Detail		South Stat	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Gener	al Contractor	Union Paving and (Const. Co., Inc.	Pierson-Driscoll,	A Joint Venture	George Harms C	•	Intercounty Pavir Kibbleh	_
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
67	3E20PMR	18,535.00	S.Y.	Pavement Removal, Variable Depth	\$5.00	\$92,675.00	\$3.25	\$60,238.75	\$12.00	\$222,420.00	\$8.25	\$152,913.75	\$9.00	\$166,815.00	\$8.00	\$148,280.00	\$5.90	\$109,356.50	\$5.72	\$106,020.20
68	3E50PMR	32,265.00	S.Y.	Surface Milling, 2" Average Depth	\$2.50	\$80,662.50	\$3.25	\$104,861.25	\$5.00	\$161,325.00	\$3.25	\$104,861.25	\$3.25	\$104,861.25	\$3.00	\$96,795.00	\$5.25	\$169,391.25	\$2.41	\$77,758.65
69	3F01MRS	84,830.00	L.F.	Milled Rumble Strip	\$0.15	\$12,724.50	\$0.22	\$18,662.60	\$0.60	\$50,898.00	\$0.50	\$42,415.00	\$0.20	\$16,966.00	\$0.15	\$12,724.50	\$0.55	\$46,656.50	\$0.17	\$14,421.10
70	4A00015	274	L.F.	Modular Expansion Joint, 6 1/2" Movement	\$1,500.00	\$411,000.00	\$1,150.00	\$315,100.00	\$1,000.00	\$274,000.00	\$975.00	\$267,150.00	\$1,118.91	\$306,581.34	\$1,100.00	\$301,400.00	\$1,025.00	\$280,850.00	\$1,086.75	\$297,769.50
71	4A00027	720	C.Y.	Concrete In Wall Facing	\$500.00	\$360,000.00	\$635.00	\$457,200.00	\$700.00	\$504,000.00	\$825.00	\$594,000.00	\$650.00	\$468,000.00	\$1,100.00	\$792,000.00	\$715.00	\$514,800.00	\$864.00	\$622,080.00
72	4A01CCC	51	C.Y.	Concrete in CIP Collar	\$2,000.00	\$102,000.00	\$700.00	\$35,700.00	\$2,000.00	\$102,000.00	\$600.00	\$30,600.00	\$1,400.00	\$71,400.00	\$2,000.00	\$102,000.00	\$4,700.00	\$239,700.00	\$507.05	\$25,859.55
73	4A01CSH	74	C.Y.	Concrete In Structures, Headwalls	\$1,350.00	\$99,900.00	\$1,020.00	\$75,480.00	\$1,200.00	\$88,800.00	\$1,500.00	\$111,000.00	\$1,700.00	\$125,800.00	\$2,300.00	\$170,200.00	\$840.00	\$62,160.00	\$918.00	\$67,932.00
74	4A01STC	2,150.00	C.Y.	Concrete In Substructure Above Footings	\$750.00	\$1,612,500.00	\$750.00	\$1,612,500.00	\$840.00	\$1,806,000.00	\$950.00	\$2,042,500.00	\$1,250.00	\$2,687,500.00	\$1,270.00	\$2,730,500.00	\$1,400.00	\$3,010,000.00	\$945.00	\$2,031,750.00
76	4A04STC	5,388.00	C.Y.	Concrete In Footings	\$200.00	\$1,077,600.00	\$310.00	\$1,670,280.00	\$330.00	\$1,778,040.00	\$425.00	\$2,289,900.00	\$500.00	\$2,694,000.00	\$370.00	\$1,993,560.00	\$475.00	\$2,559,300.00	\$260.94	\$1,405,944.72
77	4A10RFS	1,189,381.00	Pound	Reinforcement Steel	\$1.10	\$1,308,319.10	\$1.15	\$1,367,788.15	\$1.20	\$1,427,257.20	\$1.20	\$1,427,257.20	\$1.27	\$1,510,513.87	\$1.10	\$1,308,319.10	\$1.30	\$1,546,195.30	\$1.18	\$1,403,469.58
78	4A10RWF	282	C.Y.	Concrete in Retaining Walls Above Footings	\$1,500.00	\$423,000.00	\$775.00	\$218,550.00	\$1,200.00	\$338,400.00	\$1,650.00	\$465,300.00	\$625.00	\$176,250.00	\$1,525.00	\$430,050.00	\$940.00	\$265,080.00	\$945.00	\$266,490.00
79	4A11RFS	2,615,619.00	Pound	Reinforcement Steel, Epoxy Coated	\$1.20	\$3,138,742.80	\$1.20	\$3,138,742.80	\$1.25	\$3,269,523.75	\$1.28	\$3,347,992.32	\$1.36	\$3,557,241.84	\$1.20	\$3,138,742.80	\$1.40	\$3,661,866.60	\$1.18	\$3,086,430.42
80	4A15DGR	324	Each	Drill and Grout Reinforcement Bars	\$50.00	\$16,200.00	\$26.00	\$8,424.00	\$50.00	\$16,200.00	\$52.00	\$16,848.00	\$45.00	\$14,580.00	\$65.00	\$21,060.00	\$44.00	\$14,256.00	\$194.25	\$62,937.00
81	N4A0001	22,562.00	S.Y.	Sawcut Grooved Deck Surface	\$3.25	\$73,326.50	\$4.00	\$90,248.00	\$5.00	\$112,810.00	\$3.80	\$85,735.60	\$2.25	\$50,764.50	\$4.20	\$94,760.40	\$6.00	\$135,372.00	\$4.05	\$91,376.10
82	N4A0003	1,340.00	L.F.	Strip Seal Expansion Joints, 4" Movement	\$325.00	\$435,500.00	\$585.00	\$783,900.00	\$360.00	\$482,400.00	\$410.00	\$549,400.00	\$400.00	\$536,000.00	\$380.00	\$509,200.00	\$365.00	\$489,100.00	\$420.00	\$562,800.00
83	4C01HMR	28	Each	HLMR Bearings, 200 Kips to 450 Kips, Type E	\$3,000.00	\$84,000.00	\$3,350.00	\$93,800.00	\$3,500.00	\$98,000.00	\$3,550.00	\$99,400.00	\$6,000.00	\$168,000.00	\$4,800.00	\$134,400.00	\$3,700.00	\$103,600.00	\$3,465.00	\$97,020.00
84	4C01SSC	81,642.00	Each	Shear Connectors	\$3.50	\$285,747.00	\$4.00	\$326,568.00	\$4.00	\$326,568.00	\$3.75	\$306,157.50	\$4.00	\$326,568.00	\$5.00	\$408,210.00	\$4.10	\$334,732.20	\$4.20	\$342,896.40
85	4C04HMR	13	Each	HLMR Bearings, 400 Kips to 950 Kips, Type F	\$3,000.00	\$39,000.00	\$3,600.00	\$46,800.00	\$5,700.00	\$74,100.00	\$3,760.00	\$48,880.00	\$6,000.00	\$78,000.00	\$4,800.00	\$62,400.00	\$3,900.00	\$50,700.00	\$3,675.00	\$47,775.00
86	4C05HMR	32	Each	HLMR Bearings, 400 Kips to 950 Kips, Type G	\$6,000.00	\$192,000.00	\$5,000.00	\$160,000.00	\$6,700.00	\$214,400.00	\$4,950.00	\$158,400.00	\$6,000.00	\$192,000.00	\$4,800.00	\$153,600.00	\$5,100.00	\$163,200.00	\$4,725.00	\$151,200.00
87	4C07HMR	1	Each	HLMR Bearings, 1000 Kips to 1600 Kips, Type F	\$15,000.00	\$15,000.00	\$17,500.00	\$17,500.00	\$12,000.00	\$12,000.00	\$6,550.00	\$6,550.00	\$6,000.00	\$6,000.00	\$4,800.00	\$4,800.00	\$10,750.00	\$10,750.00	\$7,035.00	\$7,035.00
88	4C08HMR	1	Each	HLMR Bearings, 1000 Kips to 1600 Kips, Type G	\$16,000.00	\$16,000.00	\$16,000.00	\$16,000.00	\$12,000.00	\$12,000.00	\$7,950.00	\$7,950.00	\$6,000.00	\$6,000.00	\$4,800.00	\$4,800.00	\$10,500.00	\$10,500.00	\$8,610.00	\$8,610.00
89	4C24HMR	4	Each	HLMR Bearings, 100 KIPS TO 200 KIPS, Type E	\$3,000.00	\$12,000.00	\$3,000.00	\$12,000.00	\$3,900.00	\$15,600.00	\$3,375.00	\$13,500.00	\$6,000.00	\$24,000.00	\$4,800.00	\$19,200.00	\$4,500.00	\$18,000.00	\$3,360.00	\$13,440.00
90	4C25HMR	38	Each	HLMR Bearings, 200 KIPS TO 400 KIPS, Type G	\$3,000.00	\$114,000.00	\$4,000.00	\$152,000.00	\$4,600.00	\$174,800.00	\$4,100.00	\$155,800.00	\$6,000.00	\$228,000.00	\$4,800.00	\$182,400.00	\$4,500.00	\$171,000.00	\$4,200.00	\$159,600.00
91	4C26HMR	3	Each	HLMR Bearings, 1700 KIPS TO 2000 KIPS, Type G	\$13,000.00	\$39,000.00	\$16,000.00	\$48,000.00	\$14,100.00	\$42,300.00	\$15,600.00	\$46,800.00	\$6,000.00	\$18,000.00	\$4,800.00	\$14,400.00	\$17,000.00	\$51,000.00	\$17,325.00	\$51,975.00
92	4C27HMR	3	Each	HLMR Bearings, 1700 KIPS TO 2500 KIPS, Type F	\$17,000.00	\$51,000.00	\$14,000.00	\$42,000.00	\$4,600.00	\$13,800.00	\$14,200.00	\$42,600.00	\$6,000.00	\$18,000.00	\$4,800.00	\$14,400.00	\$20,000.00	\$60,000.00	\$15,750.00	\$47,250.00
93	4CSSL01	1	L.S.	Structural Steel Structure No. 1	\$1,200,000.00	\$1,200,000.00	\$800,000.00	\$800,000.00	\$750,000.00	\$750,000.00	\$825,000.00	\$825,000.00	\$1,100,000.00	\$1,100,000.00	\$650,000.00	\$650,000.00	\$980,000.00	\$980,000.00	\$840,000.00	\$840,000.00
94	4CSSL02	1	L.S.	Structural Steel Structure No. 2	\$1,600,000.00	\$1,600,000.00	\$1,200,000.00	\$1,200,000.00	\$1,100,000.00	\$1,100,000.00	\$1,050,000.00	\$1,050,000.00	\$1,600,000.00	\$1,600,000.00	\$900,000.00	\$900,000.00	\$1,290,000.00	\$1,290,000.00	\$1,575,000.00	\$1,575,000.00
95	4CSSL03	1	L.S.	Structural Steel Structure No. 3	\$700,000.00	\$700,000.00	\$619,205.43	\$619,205.43	\$400,000.00	\$400,000.00	\$525,000.00	\$525,000.00	\$600,000.00	\$600,000.00	\$325,000.00	\$325,000.00	\$470,000.00	\$470,000.00	\$567,000.00	\$567,000.00
96	4CSSL04	1	L.S.	Structural Steel Structure No. 4	\$700,000.00	\$700,000.00	\$370,000.00	\$370,000.00	\$340,000.00	\$340,000.00	\$475,000.00	\$475,000.00	\$600,000.00	\$600,000.00	\$325,000.00	\$325,000.00	\$424,000.00	\$424,000.00	\$325,500.00	\$325,500.00
97	4CSSL05	1	L.S.	Structural Steel Structure No. 5	\$1,000,000.00	\$1,000,000.00	\$950,000.00	\$950,000.00	\$650,000.00	\$650,000.00	\$725,000.00	\$725,000.00	\$1,000,000.00	\$1,000,000.00	\$525,000.00	\$525,000.00	\$915,000.00	\$915,000.00	\$840,000.00	\$840,000.00
98	4CSSL06	1	L.S.	Structural Steel Structure No. 6	\$2,000,000.00	\$2,000,000.00	\$950,000.00	\$950,000.00	\$1,100,000.00	\$1,100,000.00	\$1,250,000.00	\$1,250,000.00	\$1,525,000.00	\$1,525,000.00	\$900,000.00	\$900,000.00	\$1,150,000.00	\$1,150,000.00	\$1,050,000.00	\$1,050,000.00
99	4CSSL07	1	L.S.	Structural Steel Structure No. 7	\$2,700,000.00	\$2,700,000.00	\$2,500,000.00	\$2,500,000.00	\$2,200,000.00	\$2,200,000.00	\$2,350,000.00	\$2,350,000.00	\$3,400,000.00	\$3,400,000.00	\$2,050,000.00	\$2,050,000.00	\$2,700,000.00	\$2,700,000.00	\$2,625,000.00	\$2,625,000.00
100	4CSSL08	1	L.S.	Structural Steel Structure No. 8	\$2,700,000.00	\$2,700,000.00	\$1,600,000.00	\$1,600,000.00	\$2,100,000.00	\$2,100,000.00	\$2,550,000.00	\$2,550,000.00	\$3,200,000.00	\$3,200,000.00	\$1,950,000.00	\$1,950,000.00	\$2,550,000.00	\$2,550,000.00	\$2,415,000.00	\$2,415,000.00
101	4CSSL09	1	L.S.	Structural Steel Structure No. 9	\$2,000,000.00	\$2,000,000.00	\$1,700,000.00	\$1,700,000.00	\$1,370,000.00	\$1,370,000.00	\$1,400,000.00	\$1,400,000.00	\$1,950,000.00	\$1,950,000.00	\$1,150,000.00	\$1,150,000.00	\$1,900,000.00	\$1,900,000.00	\$2,100,000.00	\$2,100,000.00

									Contra	ct T869.120.302	- Bid Tabulation									
		Line Iter	n Detail		South Stat	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Gener	al Contractor	Union Paving and	Const. Co., Inc.	Pierson-Driscoll,	A Joint Venture	George Harms C	construction Co.,	Intercounty Pavir Kibbleh	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
102	4CSSL10	1	L.S.	Structural Steel Structure No. 10	\$1,500,000.00	\$1,500,000.00	\$800,000.00	\$800,000.00	\$740,000.00	\$740,000.00	\$750,000.00	\$750,000.00	\$1,125,000.00	\$1,125,000.00	\$640,000.00	\$640,000.00	\$975,000.00	\$975,000.00	\$840,000.00	\$840,000.00
103	4CSSL11	1	L.S.	Structural Steel Structure No. 11	\$400,000.00	\$400,000.00	\$290,000.00	\$290,000.00	\$260,000.00	\$260,000.00	\$350,000.00	\$350,000.00	\$450,000.00	\$450,000.00	\$250,000.00	\$250,000.00	\$290,000.00	\$290,000.00	\$210,000.00	\$210,000.00
104	4CSSL12	1	L.S.	Structural Steel Structure No. 12	\$650,000.00	\$650,000.00	\$450,000.00	\$450,000.00	\$410,000.00	\$410,000.00	\$550,000.00	\$550,000.00	\$700,000.00	\$700,000.00	\$410,000.00	\$410,000.00	\$670,000.00	\$670,000.00	\$420,000.00	\$420,000.00
105	4CSSL13	1	L.S.	Structural Steel Structure No. 13	\$2,700,000.00	\$2,700,000.00	\$2,250,000.00	\$2,250,000.00	\$2,300,000.00	\$2,300,000.00	\$2,550,000.00	\$2,550,000.00	\$3,200,000.00	\$3,200,000.00	\$2,300,000.00	\$2,300,000.00	\$2,300,000.00	\$2,300,000.00	\$2,520,000.00	\$2,520,000.00
106	4CSSL14	1	L.S.	Structural Steel Structure No. 14	\$2,700,000.00	\$2,700,000.00	\$2,500,000.00	\$2,500,000.00	\$2,300,000.00	\$2,300,000.00	\$2,750,000.00	\$2,750,000.00	\$3,500,000.00	\$3,500,000.00	\$2,500,000.00	\$2,500,000.00	\$2,685,000.00	\$2,685,000.00	\$2,730,000.00	\$2,730,000.00
107	4.00E+15	85,713.00	L.F.	Driving HP 14 X 89 Piles	\$10.00	\$857,130.00	\$10.25	\$878,558.25	\$10.00	\$857,130.00	\$14.00	\$1,199,982.00	\$19.00	\$1,628,547.00	\$21.90	\$1,877,114.70	\$18.90	\$1,619,975.70	\$14.70	\$1,259,981.10
108	4.00E+16	6,709.00	L.F.	Steel HP 14 X 89 Test Piles	\$100.00	\$670,900.00	\$55.00	\$368,995.00	\$60.00	\$402,540.00	\$46.00	\$308,614.00	\$140.00	\$939,260.00	\$125.00	\$838,625.00	\$92.00	\$617,228.00	\$27.30	\$183,155.70
109	4.00E+17	709	Each	Splices For Steel Hp 14 X 89 Piles	\$1,000.00	\$709,000.00	\$1.15	\$815.35	\$760.00	\$538,840.00	\$200.00	\$141,800.00	\$475.00	\$336,775.00	\$1,160.00	\$822,440.00	\$415.00	\$294,235.00	\$149.10	\$105,711.90
110	4.00E+19	85,713.00	L.F.	Furnishing HP 14 X 89 Piles	\$60.00	\$5,142,780.00	\$40.00	\$3,428,520.00	\$40.00	\$3,428,520.00	\$34.00	\$2,914,242.00	\$55.00	\$4,714,215.00	\$32.00	\$2,742,816.00	\$43.00	\$3,685,659.00	\$53.55	\$4,589,931.15
111	4E01EDP	1	L.S.	Furnishing Equipment for Driving Piles	\$1,000,000.00	\$1,000,000.00	\$2,400,000.00	\$2,400,000.00	\$1,500,000.00	\$1,500,000.00	\$400,000.00	\$400,000.00	\$1,000,000.00	\$1,000,000.00	\$500,000.00	\$500,000.00	\$750,000.00	\$750,000.00	\$131,250.00	\$131,250.00
112	4E01PLT	76	Each	Dynamic Pile Load Tests	\$2,550.00	\$193,800.00	\$1,075.00	\$81,700.00	\$500.00	\$38,000.00	\$2,000.00	\$152,000.00	\$4,000.00	\$304,000.00	\$1,250.00	\$95,000.00	\$3,300.00	\$250,800.00	\$2,415.00	\$183,540.00
113	4E30SPC	2,263.00	L.F.	30" Diameter Steel Pipe Casing	\$30.00	\$67,890.00	\$33.00	\$74,679.00	\$60.00	\$135,780.00	\$28.00	\$63,364.00	\$45.00	\$101,835.00	\$45.00	\$101,835.00	\$54.00	\$122,202.00	\$46.20	\$104,550.60
114	4F01GMP	330	Pound	Aluminum Posts for Ground Mounted Signs	\$35.00	\$11,550.00	\$40.00	\$13,200.00	\$40.00	\$13,200.00	\$38.00	\$12,540.00	\$25.00	\$8,250.00	\$37.00	\$12,210.00	\$40.90	\$13,497.00	\$23.76	\$7,840.80
115	4F05GMF	45	C.Y.	Concrete Foundations for Ground Mounted Signs	\$95.00	\$4,275.00	\$105.00	\$4,725.00	\$300.00	\$13,500.00	\$400.00	\$18,000.00	\$725.00	\$32,625.00	\$100.00	\$4,500.00	\$112.00	\$5,040.00	\$810.00	\$36,450.00
116	4F10OHF	114	C.Y.	Concrete Foundations for Overhead Sign Structures	\$750.00	\$85,500.00	\$850.00	\$96,900.00	\$1,000.00	\$114,000.00	\$850.00	\$96,900.00	\$650.00	\$74,100.00	\$880.00	\$100,320.00	\$935.00	\$106,590.00	\$1,512.00	\$172,368.00
117	4F25IOS	1	L.S.	Install Overhead Span Sign Structure No. 1	\$14,000.00	\$14,000.00	\$16,000.00	\$16,000.00	\$15,300.00	\$15,300.00	\$15,500.00	\$15,500.00	\$11,500.00	\$11,500.00	\$10,500.00	\$10,500.00	\$24,500.00	\$24,500.00	\$17,280.00	\$17,280.00
118	4F26IOS	1	L.S.	Install Overhead Span Sign Structure No. 2	\$14,000.00	\$14,000.00	\$16,000.00	\$16,000.00	\$15,300.00	\$15,300.00	\$15,500.00	\$15,500.00	\$11,500.00	\$11,500.00	\$10,500.00	\$10,500.00	\$24,500.00	\$24,500.00	\$17,280.00	\$17,280.00
119	4F15IOS	1	L.S.	Install Overhead Butterfly Sign Structure No. 1	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00	\$8,160.00	\$8,160.00	\$8,250.00	\$8,250.00	\$10,000.00	\$10,000.00	\$9,000.00	\$9,000.00	\$5,900.00	\$5,900.00	\$9,720.00	\$9,720.00
120	4F20IOS	1	L.S.	Install Overhead Cantilever Sign Structure No. 1	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00	\$8,160.00	\$8,160.00	\$8,250.00	\$8,250.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$10,800.00	\$10,800.00	\$10,800.00	\$10,800.00
121	4F21IOS	1	L.S.	Install Overhead Cantilever Sign Structure No. 2	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00	\$8,160.00	\$8,160.00	\$8,250.00	\$8,250.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$10,800.00	\$10,800.00	\$10,800.00	\$10,800.00
122	4F22IOS	1	L.S.	Install Overhead Cantilever Sign Structure No. 3	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00	\$8,160.00	\$8,160.00	\$8,250.00	\$8,250.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$10,800.00	\$10,800.00	\$10,800.00	\$10,800.00
123	4F23IOS	1	L.S.	Install Overhead Cantilever Sign Structure No. 4	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00	\$8,160.00	\$8,160.00	\$8,250.00	\$8,250.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$10,800.00	\$10,800.00	\$10,800.00	\$10,800.00
124	4F24IOS	1	L.S.	Install Overhead Cantilever Sign Structure No. 5	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00	\$8,160.00	\$8,160.00	\$8,250.00	\$8,250.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$10,800.00	\$10,800.00	\$10,800.00	\$10,800.00
125	4F38IOS	1	L.S.	Install Overhead Cantilever Sign Structure No. 6	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00	\$8,160.00	\$8,160.00	\$8,250.00	\$8,250.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$10,800.00	\$10,800.00	\$10,800.00	\$10,800.00
126	4F31IOS	1	L.S.	Install Overhead Cantilever Sign Structure No. 7	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00	\$8,160.00	\$8,160.00	\$8,250.00	\$8,250.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$10,800.00	\$10,800.00	\$10,800.00	\$10,800.00
127	4F32IOS	1	L.S.	Install Overhead Cantilever Sign Structure No. 8	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00	\$8,160.00	\$8,160.00	\$8,250.00	\$8,250.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$10,800.00	\$10,800.00	\$10,800.00	\$10,800.00
128	4F33IOS	1	L.S.	Install Overhead Cantilever Sign Structure No. 9	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00	\$8,160.00	\$8,160.00	\$8,250.00	\$8,250.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$10,800.00	\$10,800.00	\$10,800.00	\$10,800.00
129	4F34IOS	1	L.S.	Install Overhead Cantilever Sign Structure No. 10	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00	\$8,160.00	\$8,160.00	\$8,250.00	\$8,250.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00	\$10,800.00	\$10,800.00	\$10,800.00	\$10,800.00
130	4H18LEB	18	Each	Laminated Elastomeric Bearing, 12" x 18"	\$2,500.00	\$45,000.00	\$2,400.00	\$43,200.00	\$2,500.00	\$45,000.00	\$1,750.00	\$31,500.00	\$3,500.00	\$63,000.00	\$2,000.00	\$36,000.00	\$3,500.00	\$63,000.00	\$2,100.00	\$37,800.00
131	4H65LEB	16	Each	Laminated Elastomeric Bearing, 10" X 20"	\$2,500.00	\$40,000.00	\$1,800.00	\$28,800.00	\$2,500.00	\$40,000.00	\$1,600.00	\$25,600.00	\$3,500.00	\$56,000.00	\$2,000.00	\$32,000.00	\$3,200.00	\$51,200.00	\$2,100.00	\$33,600.00

									Contra	ct T869.120.302	- Bid Tabulation									
		Line Iten	n Detail		South Stat	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Gener	al Contractor	Union Paving and	Const. Co., Inc.	Pierson-Driscoll,	A Joint Venture	George Harms C	•	Intercounty Pavir Kibbleh	-
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
132	4H66LEB	14	Each	Laminated Elastomeric Bearing, 8" X 16"	\$2,500.00	\$35,000.00	\$350.00	\$4,900.00	\$2,500.00	\$35,000.00	\$1,025.00	\$14,350.00	\$3,500.00	\$49,000.00	\$2,000.00	\$28,000.00	\$2,900.00	\$40,600.00	\$2,100.00	\$29,400.00
133	4H67LEB	7	Each	Laminated Elastomeric Bearing, 10" X 15"	\$2,500.00	\$17,500.00	\$1,700.00	\$11,900.00	\$2,500.00	\$17,500.00	\$1,200.00	\$8,400.00	\$3,500.00	\$24,500.00	\$2,000.00	\$14,000.00	\$3,500.00	\$24,500.00	\$2,100.00	\$14,700.00
134	4H68LEB	36	Each	Laminated Elastomeric Bearing, 9" X 14"	\$2,500.00	\$90,000.00	\$1,600.00	\$57,600.00	\$2,500.00	\$90,000.00	\$1,000.00	\$36,000.00	\$3,500.00	\$126,000.00	\$2,000.00	\$72,000.00	\$3,000.00	\$108,000.00	\$2,100.00	\$75,600.00
135	4H69LEB	7	Each	Laminated Elastomeric Bearing, 17" X 14"	\$2,500.00	\$17,500.00	\$2,200.00	\$15,400.00	\$2,500.00	\$17,500.00	\$1,900.00	\$13,300.00	\$3,500.00	\$24,500.00	\$2,000.00	\$14,000.00	\$3,900.00	\$27,300.00	\$2,100.00	\$14,700.00
136	4H70LEB	7	Each	Laminated Elastomeric Bearing, 18" X 15"	\$2,500.00	\$17,500.00	\$2,400.00	\$16,800.00	\$2,500.00	\$17,500.00	\$2,160.00	\$15,120.00	\$3,500.00	\$24,500.00	\$2,000.00	\$14,000.00	\$3,900.00	\$27,300.00	\$2,100.00	\$14,700.00
137	4H71LEB	14	Each	Laminated Elastomeric Bearing, 18" X 11"	\$2,500.00	\$35,000.00	\$2,100.00	\$29,400.00	\$2,500.00	\$35,000.00	\$1,580.00	\$22,120.00	\$3,500.00	\$49,000.00	\$2,000.00	\$28,000.00	\$3,300.00	\$46,200.00	\$2,100.00	\$29,400.00
138	4H96LEB	9	Each	Laminated Elastomeric Bearing, 8" x 20"	\$2,500.00	\$22,500.00	\$2,400.00	\$21,600.00	\$2,500.00	\$22,500.00	\$1,280.00	\$11,520.00	\$3,500.00	\$31,500.00	\$2,000.00	\$18,000.00	\$4,000.00	\$36,000.00	\$2,100.00	\$18,900.00
139	4H97LEB	20	Each	Laminated Elastomeric Bearing, 13" x 8"	\$2,500.00	\$50,000.00	\$1,400.00	\$28,000.00	\$2,500.00	\$50,000.00	\$850.00	\$17,000.00	\$3,500.00	\$70,000.00	\$2,000.00	\$40,000.00	\$2,800.00	\$56,000.00	\$2,100.00	\$42,000.00
140	4H98LEB	12	Each	Laminated Elastomeric Bearing, 13" x 9"	\$2,500.00	\$30,000.00	\$1,600.00	\$19,200.00	\$2,500.00	\$30,000.00	\$935.00	\$11,220.00	\$3,500.00	\$42,000.00	\$2,000.00	\$24,000.00	\$2,800.00	\$33,600.00	\$2,100.00	\$25,200.00
141	4H99LEB	10	Each	Laminated Elastomeric Bearing, 15" x 9"	\$2,500.00	\$25,000.00	\$1,500.00	\$15,000.00	\$2,500.00	\$25,000.00	\$1,100.00	\$11,000.00	\$3,500.00	\$35,000.00	\$2,000.00	\$20,000.00	\$2,600.00	\$26,000.00	\$2,100.00	\$21,000.00
142	4H100LEB	6	Each	Laminated Elastomeric Bearing, 16" x 9"	\$2,500.00	\$15,000.00	\$1,600.00	\$9,600.00	\$2,500.00	\$15,000.00	\$1,200.00	\$7,200.00	\$3,500.00	\$21,000.00	\$2,000.00	\$12,000.00	\$2,800.00	\$16,800.00	\$2,100.00	\$12,600.00
143	4J01DAW	2,389.00	S.Y.	Damp-proofing	\$17.00	\$40,613.00	\$19.00	\$45,391.00	\$30.00	\$71,670.00	\$28.00	\$66,892.00	\$20.00	\$47,780.00	\$25.00	\$59,725.00	\$23.50	\$56,141.50	\$18.90	\$45,152.10
144	4J04DAW	1,360.00	S.Y.	Preformed Sheet Membrane Waterproofing	\$38.00	\$51,680.00	\$41.00	\$55,760.00	\$30.00	\$40,800.00	\$40.00	\$54,400.00	\$13.00	\$17,680.00	\$20.00	\$27,200.00	\$24.30	\$33,048.00	\$56.16	\$76,377.60
145	N4C0003	221	S.F.	Clean Existing Steelwork	\$75.00	\$16,575.00	\$240.00	\$53,040.00	\$225.00	\$49,725.00	\$35.00	\$7,735.00	\$50.00	\$11,050.00	\$150.00	\$33,150.00	\$140.00	\$30,940.00	\$65.10	\$14,387.10
146	4L01BDR	3	Each	Inlet Frames and Grates	\$5,000.00	\$15,000.00	\$750.00	\$2,250.00	\$1,100.00	\$3,300.00	\$7,500.00	\$22,500.00	\$6,500.00	\$19,500.00	\$3,500.00	\$10,500.00	\$6,600.00	\$19,800.00	\$7,350.00	\$22,050.00
148	4L09FDP8	86	L.F.	8" Drainage Pipe, Fiberglass	\$50.00	\$4,300.00	\$38.00	\$3,268.00	\$60.00	\$5,160.00	\$90.00	\$7,740.00	\$200.00	\$17,200.00	\$220.00	\$18,920.00	\$170.00	\$14,620.00	\$82.95	\$7,133.70
149	4M02USP	750	S.Y.	Concrete Slope Protection	\$65.00	\$48,750.00	\$75.00	\$56,250.00	\$50.00	\$37,500.00	\$92.00	\$69,000.00	\$100.00	\$75,000.00	\$70.00	\$52,500.00	\$110.00	\$82,500.00	\$75.60	\$56,700.00
150	4M06USP	3,206.00	S.Y.	Stone Slope Protection	\$35.00	\$112,210.00	\$11.50	\$36,869.00	\$31.00	\$99,386.00	\$18.00	\$57,708.00	\$15.00	\$48,090.00	\$40.00	\$128,240.00	\$13.80	\$44,242.80	\$97.20	\$311,623.20
151 152	4001TSP 4002TSP	20,909.00	S.F.	Temporary Sheeting Temporary Sheeting to	\$40.00 \$50.00	\$836,360.00 \$897,600.00	\$37.00 \$50.00	\$773,633.00 \$897,600.00	\$35.00 \$30.00	\$731,815.00 \$538,560.00	\$10.00 \$45.00	\$209,090.00 \$807,840.00	\$30.00 \$65.00	\$627,270.00 \$1,166,880.00	\$85.00 \$75.00	\$1,777,265.00 \$1,346,400.00	\$76.00 \$42.00	\$1,589,084.00 \$753,984.00	\$39.90 \$47.25	\$834,269.10 \$848,232.00
153	4P01PSS	5,100.00	S.F.	Remain in Place Permanent Steel Sheeting,	\$33.00	\$168,300.00	\$27.00	\$137,700.00	\$60.00	\$306,000.00	\$35.00	\$178,500.00	\$50.00	\$255,000.00	\$35.00	\$178,500.00	\$75.00	\$382,500.00	\$43.05	\$219,555.00
154	4P06PCS	5,690.00	S.F.	Type PZ27 Permanent Steel Sheeting,	\$55.00	\$312,950.00	\$39.00	\$221,910.00	\$60.00	\$341,400.00	\$48.00	\$273,120.00	\$65.00	\$369,850.00	\$70.00	\$398,300.00	\$78.50	\$446,665.00	\$19.95	\$113,515.50
155	4P15PCS	9,300.00	S.F.	Type PZ35 Protective Coating	\$3.50	\$32,550.00	\$9.00	\$83,700.00	\$26.00	\$241,800.00	\$12.00	\$111,600.00	\$21.00	\$195,300.00	\$2.20	\$20,460.00	\$6.35	\$59,055.00	\$15.75	\$146,475.00
156	4ZN0085	1	L.S.	Removal of Existing VMS Signs and Structures	\$20,000.00	\$20,000.00	\$22,500.00	\$22,500.00	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00	\$8,000.00	\$8,000.00	\$20,000.00	\$20,000.00		\$20,000.00	\$22,680.00	\$22,680.00
157	4Q24BDR	4,160.00	L.F.	Reinforcement Steel, Field Anti - Corrosion Coating	\$10.00	\$41,600.00	\$5.00	\$20,800.00	\$27.00	\$112,320.00	\$2.50	\$10,400.00	\$4.00	\$16,640.00	\$4.30	\$17,888.00	\$3.50	\$14,560.00	\$4.20	\$17,472.00
158	4R25BSR	18,006.00	S.F.	Substructure Membrane Waterproofing	\$10.00	\$180,060.00	\$10.00	\$180,060.00	\$12.00	\$216,072.00	\$9.75	\$175,558.50	\$10.50	\$189,063.00	\$8.50	\$153,051.00	\$12.10	\$217,872.60	\$11.55	\$207,969.30
159	4ZF0008	355	S.F.	MSE Wing Wall No. 1	\$95.70	\$33,973.50	\$110.00	\$39,050.00	\$200.00	\$71,000.00	\$180.00	\$63,900.00	\$90.00	\$31,950.00	\$350.00	\$124,250.00	\$155.00	\$55,025.00	\$96.28	\$34,179.40
160	4ZF0012	7,191.00	S.F.	MSE North Abutment	\$90.20	\$648,628.20	\$82.00	\$589,662.00	\$90.00	\$647,190.00	\$110.00	\$791,010.00	\$80.00	\$575,280.00	\$100.00	\$719,100.00			\$96.28	\$692,349.48
161	4ZF0013	6,682.00	S.F.	MSE South Abutment	\$87.40	\$584,006.80	\$75.00	\$501,150.00	\$90.00	\$601,380.00	\$112.00	\$748,384.00	\$80.00	\$534,560.00	\$85.00	\$567,970.00	\$86.00	\$574,652.00	\$96.28	\$643,342.96
162	4ZF0031	1,275.00	S.F.	MSE East Abutment	\$130.60	\$166,515.00	\$100.00	\$127,500.00	\$100.00	\$127,500.00	\$130.00	\$165,750.00	\$100.00	\$127,500.00	\$100.00	\$127,500.00	\$139.00		\$96.28	\$122,757.00
163	4ZF0032	1,285.00	S.F.	MSE West Abutment	\$112.20	\$144,177.00	\$95.00	\$122,075.00	\$100.00	\$128,500.00	\$127.00	\$163,195.00	\$115.00	\$147,775.00	\$95.00	\$122,075.00	\$128.00	\$164,480.00	\$96.28	\$123,719.80
164	4ZF0053	13,486.00	S.F.	MSE Abutment with Welded Wire Mesh Wall	\$82.90	\$1,117,989.40	\$95.00	\$1,281,170.00	\$80.00	\$1,078,880.00	\$122.00	\$1,645,292.00	\$80.00	\$1,078,880.00	\$85.00	\$1,146,310.00		. , ,	\$96.28	\$1,298,432.08
165	N4ZF0001	3,330.00	S.F.	MSE Retaining Wall No. 1	\$95.70	\$318,681.00	\$90.00	\$299,700.00	\$100.00	\$333,000.00	\$75.00	\$249,750.00	\$85.00	\$283,050.00	\$95.00	\$316,350.00	\$95.00		\$101.65	\$338,494.50
166 167	N4ZF0002 N4ZF0003	7,024.00 3,652.00	S.F.	MSE Retaining Wall No. 2 MSE Retaining Wall No. 3	\$103.80 \$97.10	\$729,091.20 \$354,609.20	\$105.00 \$135.00	\$737,520.00 \$493,020.00	\$105.00 \$105.00	\$737,520.00 \$383,460.00	\$122.00 \$120.00	\$856,928.00 \$438,240.00	\$90.00 \$90.00	\$632,160.00 \$328,680.00	\$110.00 \$130.00	\$772,640.00 \$474,760.00	\$109.00 \$102.00		\$105.68 \$104.88	\$742,296.32 \$383,021.76
168	N4ZF0003 N4ZF0004	2,182.00	S.F.	MSE Retaining Wall No. 4	\$97.10 \$174.40	\$354,609.20	\$220.00	\$493,020.00	\$230.00	\$501,860.00	\$120.00	\$370,940.00	\$160.00	\$320,000.00	\$150.00 \$150.00	\$327,300.00	\$102.00	\$430,945.00	\$104.66	\$230,615.58
169	N4ZF0005	4,746.00	S.F.	MSE Retaining Wall No. 5	\$94.20	\$447,073.20	\$95.00	\$450,870.00	\$102.00	\$484,092.00	\$110.00	\$522,060.00	\$90.00	\$427,140.00	\$90.00	\$427,140.00	\$101.00	\$479,346.00	\$98.69	\$468,382.74
170	4ZF0002	2,147.00	S.F.	MSE Retaining Wall No. 6	\$80.30	\$172,404.10	\$85.00	\$182,495.00	\$90.00	\$193,230.00	\$110.00	\$236,170.00	\$80.00	\$171,760.00	\$90.00	\$193,230.00	\$88.00	\$188,936.00	\$97.06	\$208,387.82
171	4ZF0003	9,942.00	S.F.	MSE Retaining Wall No. 7	\$70.40	\$699,916.80	\$80.00	\$795,360.00	\$85.00	\$845,070.00	\$92.00	\$914,664.00	\$75.00	\$745,650.00	\$130.00	\$1,292,460.00	\$82.00	\$815,244.00	\$114.63	\$1,139,651.46
172	4ZF0014	4,609.00	S.F.	MSE Retaining Wall No. 8	\$86.50	\$398,678.50	\$92.00	\$424,028.00	\$95.00	\$437,855.00	\$100.00	\$460,900.00	\$80.00	\$368,720.00	\$130.00	\$599,170.00			\$97.48	\$449,285.32
173	4ZF0015	8,340.00	S.F.	MSE Retaining Wall No. 9	\$75.00	\$625,500.00	\$80.00	\$667,200.00	\$82.00	\$683,880.00	\$90.00	\$750,600.00	\$80.00	\$667,200.00	\$85.00	\$708,900.00	\$88.00	\$733,920.00	\$99.61	\$830,747.40

									Contra	ct T869.120.302	- Bid Tabulation									
		Line Ite	m Detail		South Stat	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Genera	al Contractor	Union Paving and C	Const. Co., Inc.	Pierson-Driscoll,	A Joint Venture	George Harms C	onstruction Co., c.	Intercounty Pavin Kibbleh	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
174	4ZF0016	3,450.00	S.F.	MSE Retaining Wall No. 10	\$97.90	\$337,755.00	\$95.00	\$327,750.00	\$102.00	\$351,900.00	\$105.00	\$362,250.00	\$80.00	\$276,000.00	\$100.00	\$345,000.00	\$108.00	\$372,600.00	\$101.90	\$351,555.00
175	4ZF0017	6,967.00	S.F.	MSE Retaining Wall No. 11	\$85.30	\$594,285.10	\$80.00	\$557,360.00	\$95.00	\$661,865.00	\$100.00	\$696,700.00	\$80.00	\$557,360.00	\$90.00	\$627,030.00	\$119.50	\$832,556.50	\$114.60	\$798,418.20
176	4ZF0018	10,111.00	S.F.	MSE Retaining Wall No. 12	\$78.60	\$794,724.60	\$75.00	\$758,325.00	\$83.00	\$839,213.00	\$88.00	\$889,768.00	\$90.00	\$909,990.00	\$85.00	\$859,435.00	\$110.00	\$1,112,210.00	\$97.70	\$987,844.70
177	4ZF0038	4,017.00	S.F.	MSE Retaining Wall No. 13	\$87.90	\$353,094.30	\$85.00	\$341,445.00	\$100.00	\$401,700.00	\$105.00	\$421,785.00	\$85.00	\$341,445.00	\$100.00	\$401,700.00	\$95.50	\$383,623.50	\$99.13	\$398,205.21
178	4ZF0039	4,461.00	S.F.	MSE Retaining Wall No. 14	\$88.40	\$394,352.40	\$85.00	\$379,185.00	\$100.00	\$446,100.00	\$92.00	\$410,412.00	\$85.00	\$379,185.00	\$95.00	\$423,795.00	\$95.00	\$423,795.00	\$100.16	\$446,813.76
179	4ZF0040	10,236.00	S.F.	MSE Retaining Wall No. 15	\$87.40	\$894,626.40	\$80.00	\$818,880.00	\$85.00	\$870,060.00	\$105.00	\$1,074,780.00	\$85.00	\$870,060.00	\$110.00	\$1,125,960.00	\$98.00	\$1,003,128.00	\$96.28	\$985,522.08
180	4ZF0041	9,949.00	S.F.	MSE Retaining Wall No. 16	\$77.60	\$772,042.40	\$80.00	\$795,920.00	\$85.00	\$845,665.00	\$92.00	\$915,308.00	\$75.00	\$746,175.00	\$100.00	\$994,900.00	\$88.00	\$875,512.00	\$96.28	\$957,889.72
181	4ZF0007	10,297.00	S.F.	MSE Retaining Wall No. 17	\$73.80	\$759,918.60	\$70.00	\$720,790.00	\$75.00	\$772,275.00	\$80.00	\$823,760.00	\$70.00	\$720,790.00	\$85.00	\$875,245.00	\$79.00	\$813,463.00	\$96.28	\$991,395.16
182	4ZF0042	9,672.00	S.F.	MSE Retaining Wall No. 18	\$78.30	\$757,317.60	\$80.00	\$773,760.00	\$86.00	\$831,792.00	\$96.00	\$928,512.00	\$80.00	\$773,760.00	\$110.00	\$1,063,920.00	\$89.00	\$860,808.00	\$96.28	\$931,220.16
183	4ZF0047	9,025.00	S.F.	MSE Retaining Wall No. 19 (103)	\$84.40	\$761,710.00	\$80.00	\$722,000.00	\$90.00	\$812,250.00	\$92.00	\$830,300.00	\$80.00	\$722,000.00	\$95.00	\$857,375.00	\$90.00	\$812,250.00	\$96.28	\$868,927.00
184	4ZF0043	7,316.00	S.F.	MSE Retaining Wall No. 20	\$91.50	\$669,414.00	\$80.00	\$585,280.00	\$98.00	\$716,968.00	\$88.00	\$643,808.00	\$80.00	\$585,280.00	\$85.00	\$621,860.00	\$106.00	\$775,496.00	\$96.28	\$704,384.48
185	4ZF0044	6,930.00	S.F.	MSE Retaining Wall No. 21	\$83.80	\$580,734.00	\$80.00	\$554,400.00	\$90.00	\$623,700.00	\$88.00	\$609,840.00	\$80.00	\$554,400.00	\$90.00	\$623,700.00	\$90.00	\$623,700.00	\$96.28	\$667,220.40
186	4ZF0045	6,413.00	S.F.	MSE Retaining Wall No. 22	\$82.50	\$529,072.50	\$85.00	\$545,105.00	\$90.00	\$577,170.00	\$98.00	\$628,474.00	\$80.00	\$513,040.00	\$90.00	\$577,170.00	\$90.00	\$577,170.00	\$96.28	\$617,443.64
187	4ZF0048	12,080.00	S.F.	MSE Retaining Wall No. 23 (103)	\$85.10	\$1,028,008.00	\$85.00	\$1,026,800.00	\$90.00	\$1,087,200.00	\$96.00	\$1,159,680.00	\$75.00	\$906,000.00	\$90.00	\$1,087,200.00	\$85.00	\$1,026,800.00	\$96.28	\$1,163,062.40
188	4ZF0049	10,920.00	S.F.	MSE Retaining Wall No. 24 (103)	\$75.60	\$825,552.00	\$80.00	\$873,600.00	\$80.00	\$873,600.00	\$92.00	\$1,004,640.00	\$70.00	\$764,400.00	\$80.00	\$873,600.00	\$80.00	\$873,600.00	\$96.28	\$1,051,377.60
189	4ZF0054	3,530.00	S.F.	MSE Retaining Wall No. 25	\$104.80	\$369,944.00	\$95.00	\$335,350.00	\$110.00	\$388,300.00	\$110.00	\$388,300.00	\$90.00	\$317,700.00	\$110.00	\$388,300.00	\$122.00	\$430,660.00	\$96.28	\$339,868.40
190	4ZG01RET	3,280.00	S.F.	Retaining Wall, Location No. 1	\$115.30	\$378,184.00	\$100.00	\$328,000.00	\$120.00	\$393,600.00	\$115.00	\$377,200.00	\$110.00	\$360,800.00	\$100.00	\$328,000.00	\$110.00	\$360,800.00	\$99.77	\$327,245.60
191	4ZG02RET	2,698.00	S.F.	Retaining Wall, Location No. 2	\$134.30	\$362,341.40	\$112.00	\$302,176.00	\$160.00	\$431,680.00	\$130.00	\$350,740.00	\$110.00	\$296,780.00	\$110.00	\$296,780.00	\$137.00	\$369,626.00	\$104.58	\$282,156.84
192	4ZG03RET	2,410.00	S.F.	Retaining Wall, Location No. 3	\$134.60	\$324,386.00	\$130.00	\$313,300.00	\$150.00	\$361,500.00	\$140.00	\$337,400.00	\$110.00	\$265,100.00	\$120.00	\$289,200.00	\$160.00	\$385,600.00	\$104.62	\$252,134.20
193	4ZG04RET	3,260.00	S.F.	Retaining Wall, Location No. 4	\$141.70	\$461,942.00	\$130.00	\$423,800.00	\$160.00	\$521,600.00	\$150.00	\$489,000.00	\$160.00	\$521,600.00	\$125.00	\$407,500.00	\$155.00	\$505,300.00	\$105.39	\$343,571.40
194	4ZG05RET	3,420.00	S.F.	Retaining Wall, Location No. 5	\$151.70	\$518,814.00	\$140.00	\$478,800.00	\$150.00	\$513,000.00	\$150.00	\$513,000.00	\$145.00	\$495,900.00	\$130.00	\$444,600.00	\$150.00	\$513,000.00	\$105.16	\$359,647.20
195	4ZM03HPC	132	C.Y.	Concrete in Headblock, HPC	\$1,000.00	\$132,000.00	\$900.00	\$118,800.00	\$1,000.00	\$132,000.00	\$2,000.00	\$264,000.00	\$1,200.00	\$158,400.00	\$2,100.00	\$277,200.00	\$1,610.00	\$212,520.00	\$1,575.00	\$207,900.00
196	4ZM04HPC	1,376.00	C.Y.	Concrete in Parapet, HPC	\$600.00	\$825,600.00	\$580.00	\$798,080.00	\$777.00	\$1,069,152.00	\$655.00	\$901,280.00	\$725.00	\$997,600.00	\$650.00	\$894,400.00	\$880.00	\$1,210,880.00	\$871.50	\$1,199,184.00
197	4ZM05HPC	1,097.00	S.Y.	Bridge Approach Slab, HPC	\$275.00	\$301,675.00	\$325.00	\$356,525.00	\$220.00	\$241,340.00	\$380.00	\$416,860.00	\$275.00	\$301,675.00	\$290.00	\$318,130.00	\$270.00	\$296,190.00	\$313.20	\$343,580.40
198	4ZM06HPC	5,741.00	C.Y.	Concrete in Deck, HPC	\$800.00	\$4,592,800.00	\$800.00	\$4,592,800.00	\$700.00	\$4,018,700.00	\$550.00	\$3,157,550.00	\$850.00	\$4,879,850.00	\$870.00	\$4,994,670.00	\$850.00	\$4,879,850.00	\$735.00	\$4,219,635.00
199	4ZM08HPC	230	S.Y.	Relief Slab, 18" Thick, HPC	\$300.00	\$69,000.00	\$210.00	\$48,300.00	\$250.00	\$57,500.00	\$275.00	\$63,250.00	\$120.00	\$27,600.00	\$300.00	\$69,000.00	\$234.00	\$53,820.00	\$162.00	\$37,260.00
200	4ZM09HPC	278	C.Y.	Concrete In Sidewalk, HPC	\$330.00	\$91,740.00	\$365.00	\$101,470.00	\$450.00	\$125,100.00	\$480.00	\$133,440.00	\$650.00	\$180,700.00	\$400.00	\$111,200.00	\$355.00	\$98,690.00	\$682.50	\$189,735.00
201	4ZM10HPC	170	C.Y.	Sleeper Slab, HPC	\$450.00	\$76,500.00	\$340.00	\$57,800.00	\$350.00	\$59,500.00	\$375.00	\$63,750.00	\$500.00	\$85,000.00	\$696.45	\$118,396.50	\$725.00	\$123,250.00	\$945.00	\$160,650.00
202	4ZN0037	1	L.S.	Install Overhead Span Variable Message Sign and Variable Speed Limit Sign Support Structure No. 1	\$17,000.00	\$17,000.00	\$19,000.00	\$19,000.00	\$18,360.00	\$18,360.00	\$18,500.00	\$18,500.00	\$17,000.00	\$17,000.00	\$15,490.00	\$15,490.00	\$24,000.00	\$24,000.00	\$17,280.00	\$17,280.00
203	4ZN0038	1	L.S.	Install Overhead Span Variable Message Sign and Variable Speed Limit Sign Support Structure No. 2	\$17,000.00	\$17,000.00	\$19,000.00	\$19,000.00	\$18,360.00	\$18,360.00	\$18,500.00	\$18,500.00	\$17,000.00	\$17,000.00	\$15,490.00	\$15,490.00	\$21,000.00	\$21,000.00	\$17,280.00	\$17,280.00
204	4ZN0100	1	L.S.	'Install Overhead Hybrid Changeable Message Sign Support Structure No. 1	\$17,000.00	\$17,000.00	\$19,000.00	\$19,000.00	\$18,360.00	\$18,360.00	\$18,500.00	\$18,500.00	\$17,000.00	\$17,000.00	\$15,490.00	\$15,490.00	\$26,000.00	\$26,000.00	\$17,280.00	\$17,280.00

									Contra	ct T869.120.302	- Bid Tabulation									
		Line Ite	m Detail		South Stat	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Genera	al Contractor	Union Paving and	Const. Co., Inc.	Pierson-Driscoll,	A Joint Venture	George Harms C		Intercounty Pavii Kibblel	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
205	4ZN0118	1	L.S.	Install Overhead Span Hybrid Changeable Message Sign Support Structure No. 2	\$17,000.00	\$17,000.00	\$19,000.00	\$19,000.00	\$18,360.00	\$18,360.00	\$18,500.00	\$18,500.00	\$17,000.00	\$17,000.00	\$15,490.00	\$15,490.00	\$23,000.00	\$23,000.00	\$17,280.00	\$17,280.00
206	4ZL0016	298	L.F.	54" Drilled Shaft for Sign Structures	\$725.00	\$216,050.00	\$410.00	\$122,180.00	\$600.00	\$178,800.00	\$775.00	\$230,950.00	\$600.00	\$178,800.00	\$435.00	\$129,630.00	\$830.00	\$247,340.00	\$703.50	\$209,643.00
207	4ZL0017	610	L.F.	30" Diameter Drilled Shafts For Sign Structure	\$500.00	\$305,000.00	\$295.00	\$179,950.00	\$200.00	\$122,000.00	\$550.00	\$335,500.00	\$425.00	\$259,250.00	\$180.00	\$109,800.00	\$620.00	\$378,200.00	\$446.25	\$272,212.50
208	4ZL0005	80	L.F.	Obstructions	\$800.00	\$64,000.00	\$315.00	\$25,200.00	\$400.00	\$32,000.00	\$1,250.00	\$100,000.00	\$1,650.00	\$132,000.00	\$1,030.00	\$82,400.00	\$925.00	\$74,000.00	\$3,675.00	\$294,000.00
209	4ZL0006	7	Each	Crosshole Sonic Logging (CSL) of Drilled Shaft	\$2,500.00	\$17,500.00	\$4,300.00	\$30,100.00	\$5,000.00	\$35,000.00	\$1,600.00	\$11,200.00	\$2,300.00	\$16,100.00	\$2,325.00	\$16,275.00	\$680.00	\$4,760.00	\$3,045.00	\$21,315.00
210	4ZL0007	2	Each	Crosshole Tomography, If and Where Directed	\$6,000.00	\$12,000.00	\$2,600.00	\$5,200.00	\$7,000.00	\$14,000.00	\$3,250.00	\$6,500.00	\$3,100.00	\$6,200.00	\$7,800.00	\$15,600.00	\$6,700.00	\$13,400.00	\$3,045.00	\$6,090.00
211	4ZL0008	80	L.F.	Concrete Coring at Drilled Shaft, If and Where Directed	\$350.00	\$28,000.00	\$100.00	\$8,000.00	\$100.00	\$8,000.00	\$120.00	\$9,600.00	\$75.00	\$6,000.00	\$465.00	\$37,200.00	\$200.00	\$16,000.00	\$141.75	\$11,340.00
212	4ZL01SDE	1	L.S.	Furnishing Drilled Shaft Drilling Equipment	\$500,000.00	\$500,000.00	\$47,000.00	\$47,000.00	\$200,000.00	\$200,000.00	\$310,000.00	\$310,000.00	\$600,000.00	\$600,000.00	\$300,000.00	\$300,000.00	\$1,500,000.00	\$1,500,000.00	\$105,000.00	\$105,000.00
213	4ZL04DDS	762	L.F.	48" Diameter Drilled Shaft	\$500.00	\$381,000.00	\$800.00	\$609,600.00	\$600.00	\$457,200.00	\$600.00	\$457,200.00	\$750.00	\$571,500.00	\$435.00	\$331,470.00	\$750.00	\$571,500.00	\$577.50	\$440,055.00
214	4ZL48DDS	1	Each	Demonstration Drilled Shaft, 48" Diameter	\$50,000.00	\$50,000.00	\$76,000.00	\$76,000.00	\$90,000.00	\$90,000.00	\$75,000.00	\$75,000.00	\$125,000.00	\$125,000.00	\$75,000.00	\$75,000.00	\$400,000.00	\$400,000.00	\$105,000.00	\$105,000.00
215	4ZL48OCL	1	Each	Osterberg Cell Load Test, 48-Inch Diameter Drilled Shaft	\$200,000.00	\$200,000.00	\$75,000.00	\$75,000.00	\$25,000.00	\$25,000.00	\$85,000.00	\$85,000.00	\$150,000.00	\$150,000.00	\$215,000.00	\$215,000.00	\$175,000.00	\$175,000.00	\$105,000.00	\$105,000.00
216	4E01FIP	450	L.F.	Furnishing and Installing W18 x 86 Piles	\$150.00	\$67,500.00	\$280.00	\$126,000.00	\$90.00	\$40,500.00	\$110.00	\$49,500.00	\$100.00	\$45,000.00	\$100.00	\$45,000.00	\$91.00	\$40,950.00	\$77.70	\$34,965.00
217	4E02FIP	2,200.00	L.F.	Furnishing and Installing W24 x 146 Piles	\$180.00	\$396,000.00	\$320.00	\$704,000.00	\$130.00	\$286,000.00	\$135.00	\$297,000.00	\$150.00	\$330,000.00	\$125.00	\$275,000.00	\$133.00	\$292,600.00	\$131.25	\$288,750.00
218	4ZL0012	3,160.00	L.F.	42" Diameter Drilled Shafts	\$300.00	\$948,000.00	\$94.00	\$297,040.00	\$200.00	\$632,000.00	\$330.00	\$1,042,800.00	\$120.00	\$379,200.00	\$185.00	\$584,600.00	\$200.00	\$632,000.00	\$498.75	\$1,576,050.00
219	4ZL0027	650	L.F.	36" Diameter Drilled Shafts	\$360.00	\$234,000.00	\$83.00	\$53,950.00	\$100.00	\$65,000.00	\$255.00	\$165,750.00	\$120.00	\$78,000.00	\$200.00	\$130,000.00	\$175.00	\$113,750.00	\$367.50	\$238,875.00
220	4ZL0028	100	L.F.	66" Diameter Drilled Shafts	\$1,200.00	\$120,000.00	\$140.00	\$14,000.00	\$600.00	\$60,000.00	\$765.00	\$76,500.00	\$500.00	\$50,000.00	\$800.00	\$80,000.00	\$350.00	\$35,000.00	\$876.75	\$87,675.00
221	4ZN01CDP	300	S.Y.	Composite Drainage Panel	\$7.00	\$2,100.00	\$50.00	\$15,000.00	\$50.00	\$15,000.00	\$45.00	\$13,500.00	\$26.00	\$7,800.00	\$60.00	\$18,000.00	\$75.00	\$22,500.00	\$151.20	\$45,360.00
222	4ZN01PTL	12,000.00	S.F.	Permanent Timber Lagging	\$12.00	\$144,000.00	\$10.50	\$126,000.00	\$20.00	\$240,000.00	\$20.00	\$240,000.00	\$9.00	\$108,000.00	\$17.00	\$204,000.00	\$18.50	\$222,000.00	\$20.09	\$241,080.00
223	4R00013	6	L.F.	Parapet Reconstruction Location No. 1	\$275.50	\$1,653.00	\$1,100.00	\$6,600.00	\$1,000.00	\$6,000.00	\$1,250.00	\$7,500.00	\$3,500.00	\$21,000.00	\$1,800.00	\$10,800.00	\$1,400.00	\$8,400.00	\$1,377.00	\$8,262.00
224	4R00014	6	L.F.	Parapet Reconstruction Location No. 2	\$275.50	\$1,653.00	\$1,100.00	\$6,600.00	\$1,000.00	\$6,000.00	\$1,250.00	\$7,500.00	\$3,500.00	\$21,000.00	\$1,800.00	\$10,800.00	\$1,400.00	\$8,400.00	\$1,050.00	\$6,300.00
225	5D00002	2	Each	Precast Concrete Splash Pad	\$2,500.00	\$5,000.00	\$3,900.00	\$7,800.00	\$2,000.00	\$4,000.00	\$1,200.00	\$2,400.00	\$500.00	\$1,000.00	\$325.00	\$650.00	\$1,900.00	\$3,800.00	\$446.25	\$892.50
226	5A00015	7,556.00	L.F.	12-Inch Combination Underdrain	\$30.00	\$226,680.00	\$29.00	\$219,124.00	\$25.00	\$188,900.00	\$22.00	\$166,232.00	\$24.00	\$181,344.00	\$25.00	\$188,900.00	\$43.50	\$328,686.00	\$29.51	\$222,977.56
227	5A08PUD	60,480.00	L.F.	8" Pipe Underdrain	\$26.00	\$1,572,480.00	\$16.00	\$967,680.00	\$20.00	\$1,209,600.00	\$18.50	\$1,118,880.00	\$21.00	\$1,270,080.00	\$22.00	\$1,330,560.00	\$30.50	\$1,844,640.00	\$19.78	\$1,196,294.40
228	N5A0008	884	L.F.	8" Drainage Pipe, PCMP	\$25.00	\$22,100.00	\$24.00	\$21,216.00	\$2.00		\$25.00	\$22,100.00	\$25.00	\$22,100.00	\$44.00	\$38,896.00	\$33.50	\$29,614.00	\$8.40	\$7,425.60
229	4A00004	88	Each	Concrete Collar	\$500.00	\$44,000.00	\$225.00	\$19,800.00	\$1,000.00	\$88,000.00	\$350.00	\$30,800.00	\$125.00	\$11,000.00	\$795.00	\$69,960.00	\$2,190.00		\$2,506.48	\$220,570.24
230	5B00008 5B00018	1,887.00	L.F.	8" Corrugated Metal Pipe 38"X60" Reinforced	\$25.00 \$169.00	\$2,725.00 \$318,903.00	\$25.00 \$230.00	\$2,725.00 \$434,010.00	\$20.00 \$175.00	\$2,180.00 \$330,225.00	\$25.00 \$170.00	\$2,725.00 \$320,790.00	\$40.00 \$180.00	\$4,360.00 \$339,660.00	\$45.00 \$180.00	\$4,905.00 \$339,660.00	\$33.60 \$249.00	\$3,662.40 \$469,863.00	\$52.50 \$289.61	\$5,722.50 \$546,494.07
				Concrete Elliptical Pipe 43"X68" Reinforced		\$295,290.00				\$306,000.00	\$195.00	-		•		\$344,250.00		\$448,290.00		·
232	5B00021 5B00025	1,530.00	L.F.	Concrete Elliptical Pipe 60" Corrugated Aluminum	\$193.00 \$282.00	\$295,290.00	\$240.00 \$190.00	\$367,200.00 \$5,700.00	\$200.00 \$250.00	\$306,000.00	\$195.00	\$298,350.00 \$12,000.00	\$200.00 \$150.00	\$306,000.00 \$4,500.00	\$225.00 \$250.00	\$344,250.00	\$293.00 \$295.00	\$8,850.00	\$348.81 \$540.55	\$533,679.30 \$16,216.50
234	5B00028	117	L.F.	Alloy Pipe, Gauge 10 38"x60" Reinforced Concrete Elliptical Pipe,	\$348.00	\$40,716.00	\$265.00	\$31,005.00	\$400.00	\$46,800.00	\$185.00	\$21,645.00		\$38,025.00	\$390.00	\$45,630.00	\$630.00	\$73,710.00	\$458.71	\$53,669.07
235	5B00030	29	L.F.	Class V 36" Corrugated Aluminum	\$123.00	\$3,567.00	\$85.00	·	\$100.00	\$2,900.00	\$125.00	\$3,625.00		\$3,625.00	\$125.00	\$3,625.00		. ,	\$154.87	\$4,491.23
236	5B00031	104	L.F.	Alloy Pipe, Gauge 14 15" Corrugated Aluminum Alloy Pipe, Gauge 16	\$85.00	\$8,840.00	\$28.00			\$6,864.00	\$45.00	\$4,680.00	\$65.00	\$6,760.00	\$38.00	\$3,952.00	\$53.00	\$5,512.00	\$95.12	\$9,892.48
				Alloy Tipe, Gauge 10																

237 5B0	nit Code B00032	Line Iten	n Detail		South Stat	e. Inc.											George Harms C	onstruction Co	Intercounty Pavis	2 11/01 211 2
237 5B(UNIT			-,	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Genera	al Contractor	Union Paving and C	Const. Co., Inc.	Pierson-Driscoll,	A Joint Venture	In	•	Kibblel	
	B00032			DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
238 5B(192	L.F.	18" Corrugated Aluminum Alloy Pipe, Gauge 16	\$89.00	\$17,088.00	\$32.00	\$6,144.00	\$70.00	\$13,440.00	\$50.00	\$9,600.00	\$70.00	\$13,440.00	\$45.00	\$8,640.00	\$58.00	\$11,136.00	\$125.58	\$24,111.36
200	B00033	69	L.F.	24" Corrugated Aluminum Alloy Pipe, Gauge 16	\$110.00	\$7,590.00	\$43.00	\$2,967.00	\$80.00	\$5,520.00	\$65.00	\$4,485.00	\$75.00	\$5,175.00	\$55.00	\$3,795.00	\$70.00	\$4,830.00	\$149.91	\$10,343.79
239 5B0	B00034	260	L.F.	30" Corrugated Aluminum Alloy Pipe, Gauge 14	\$115.00	\$29,900.00	\$52.00	\$13,520.00	\$85.00	\$22,100.00	\$85.00	\$22,100.00	\$80.00	\$20,800.00	\$85.00	\$22,100.00	\$95.00	\$24,700.00	\$153.27	\$39,850.20
240 5B0	B00038	147	L.F.	Precast Concrete Arch Culvert, 21' Diameter	\$3,500.00	\$514,500.00	\$5,950.00	\$874,650.00	\$4,000.00	\$588,000.00	\$2,800.00	\$411,600.00	\$3,200.00	\$470,400.00	\$4,000.00	\$588,000.00	\$5,000.00	\$735,000.00	\$3,510.80	\$516,087.60
241 5B0	B00039	125	L.F.	Precast Concrete Culvert, 8' x 11'	\$1,400.00	\$175,000.00	\$1,400.00	\$175,000.00	\$2,500.00	\$312,500.00	\$1,350.00	\$168,750.00	\$1,300.00	\$162,500.00	\$1,600.00	\$200,000.00	\$1,900.00	\$237,500.00	\$2,880.61	\$360,076.25
242 5B0	B00042	111	L.F.	29"x45" Reinforced Concrete Elliptical Pipe	\$112.00	\$12,432.00	\$110.00	\$12,210.00	\$200.00	\$22,200.00	\$150.00	\$16,650.00	\$110.00	\$12,210.00	\$110.00	\$12,210.00	\$157.00	\$17,427.00	\$189.24	\$21,005.64
243 5B0	B00044	66	L.F.	19" x 30" Reinforced Concrete Elliptical Pipe, Class V	\$96.00	\$6,336.00	\$150.00	\$9,900.00	\$200.00	\$13,200.00	\$130.00	\$8,580.00	\$90.00	\$5,940.00	\$85.00	\$5,610.00	\$113.00	\$7,458.00	\$190.65	\$12,582.90
244 5B0	B00045	38	L.F.	14" x 23" Reinforced Concrete Elliptical Pipe, Class V	\$79.00	\$3,002.00	\$140.00	\$5,320.00	\$200.00	\$7,600.00	\$120.00	\$4,560.00	\$80.00	\$3,040.00	\$65.00	\$2,470.00	\$80.00	\$3,040.00	\$152.53	\$5,796.14
245 5B0	B00048	258	L.F.	43" x 68" Reinforced Concrete Elliptical Pipe, Class V	\$399.00	\$102,942.00	\$325.00	\$83,850.00	\$450.00	\$116,100.00	\$225.00	\$58,050.00	\$350.00	\$90,300.00	\$390.00	\$100,620.00	\$520.00	\$134,160.00	\$614.77	\$158,610.66
246 5B0	B00049	30	L.F.	34"x53" Reinforced Concrete Elliptical Pipe, Class V	\$275.00	\$8,250.00	\$165.00	\$4,950.00	\$300.00	\$9,000.00	\$175.00	\$5,250.00	\$210.00	\$6,300.00	\$410.00	\$12,300.00	\$250.00	\$7,500.00	\$387.10	\$11,613.00
248 5B1	B15RC3	3,132.00	L.F.	15" Reinforced Concrete Pipe	\$42.00	\$131,544.00	\$38.00	\$119,016.00	\$36.00	\$112,752.00	\$45.00	\$140,940.00	\$30.00	\$93,960.00	\$40.00	\$125,280.00	\$45.00	\$140,940.00	\$86.03	\$269,445.96
249 5B1	B15RC5	1,078.00	L.F.	15" Reinforced Concrete Pipe, Class V	\$52.00	\$56,056.00	\$39.00	\$42,042.00	\$50.00	\$53,900.00	\$50.00	\$53,900.00	\$55.00	\$59,290.00	\$47.00	\$50,666.00	\$64.50	\$69,531.00	\$84.71	\$91,317.38
250 5B	B18DIP	345	L.F.	18" Ductile Iron Pipe	\$112.00	\$38,640.00	\$85.00	\$29,325.00	\$140.00	\$48,300.00	\$120.00	\$41,400.00	\$120.00	\$41,400.00	\$115.00	\$39,675.00	\$142.00	\$48,990.00	\$227.84	\$78,604.80
251 5B1	B18PEP	85	L.F.	18" High Density PolyEthylene Pipe	\$68.00	\$5,780.00	\$38.00	\$3,230.00	\$60.00	\$5,100.00	\$60.00	\$5,100.00	\$60.00	\$5,100.00	\$40.00	\$3,400.00	\$77.00	\$6,545.00	\$60.38	\$5,132.30
252 5B1	B18RC3	15,286.00	L.F.	18" Reinforced Concrete Pipe	\$47.00	\$718,442.00	\$39.00	\$596,154.00	\$42.00	\$642,012.00	\$45.00	\$687,870.00	\$35.00	\$535,010.00	\$45.00	\$687,870.00	\$51.00	\$779,586.00	\$69.85	\$1,067,727.10
	B18RC5	453	L.F.	18" Reinforced Concrete Pipe, Class V	\$54.00	\$24,462.00	\$40.00	\$18,120.00	\$100.00	\$45,300.00	\$48.00	\$21,744.00	\$75.00	\$33,975.00	\$45.00	\$20,385.00	\$54.00	\$24,462.00	\$89.78	\$40,670.34
	B20DIP	611	L.F.	20" Ductile Iron Pipe 24" Reinforced Concrete	\$102.00	\$62,322.00	\$95.00	\$58,045.00	\$140.00	\$85,540.00	\$125.00	\$76,375.00	\$125.00	\$76,375.00	\$42.00	\$25,662.00	\$112.00	\$68,432.00	\$104.72	\$63,983.92
	B24RC3	5,703.00	L.F.	Pipe 24" Reinforced Concrete	\$51.00	\$290,853.00	\$45.00	\$256,635.00	\$50.00	\$285,150.00	\$50.00	\$285,150.00	\$65.00	\$370,695.00	\$60.00	\$342,180.00	\$60.50	\$345,031.50	\$85.60	\$488,176.80
	B24RC5	663	L.F.	Pipe, Class V 24" Reinforced Concrete	\$65.00	\$43,095.00	\$48.00	\$31,824.00	\$65.00	\$43,095.00	\$60.00	\$39,780.00	\$70.00	\$46,410.00	\$95.00	\$62,985.00	\$101.00	\$66,963.00	\$98.46	\$65,278.98
20.	B24RCE	1	Each	Flared End Sections	\$1,500.00	\$1,500.00	\$430.00	\$430.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$1,100.00	\$1,100.00	V 1,000.00	\$1,800.00	\$3,779.13	\$3,779.13
	B30DIP B30RC3	17 4,746.00	L.F.	30" Ductile Iron Pipe 30 " Reinforced Concrete	\$241.00 \$68.00	\$4,097.00 \$322,728.00	\$235.00 \$60.00	\$3,995.00 \$284,760.00	\$280.00 \$59.00	\$4,760.00 \$280,014.00	\$250.00 \$62.00	\$4,250.00 \$294,252.00	\$325.00 \$80.00	\$5,525.00 \$379,680.00	\$170.00 \$95.00	\$2,890.00 \$450,870.00	\$204.00	\$3,468.00 \$393,918.00	\$231.72 \$116.94	\$3,939.24 \$554,997.24
	B30RCS	835	L.F.	Pipe, Class III 30" Reinforced Concrete	\$89.00	\$74,315.00	\$80.00	\$66,800.00	\$82.00	\$68,470.00	\$78.00	\$65,130.00	\$80.00	\$66,800.00	\$145.00	\$121,075.00		\$82,665.00	\$143.52	\$119,839.20
	B36RC3	2,758.00	L.F.	Pipe, Class V 36" Reinforced Concrete	\$83.00	\$228,914.00	\$85.00	\$234,430.00	\$99.00	\$273,042.00	\$88.00	\$242,704.00	\$85.00	\$234,430.00	\$85.00	\$234,430.00	\$108.00	\$297,864.00	\$157.06	\$433,171.48
	B36RC5	1,068.00	L.F.	Pipe, Class III 36" Reinforced Concrete	\$107.00	\$114,276.00	\$90.00	\$96,120.00	\$125.00	\$133,500.00	\$115.00	\$122,820.00	\$125.00	\$133,500.00	\$120.00	\$128,160.00	•	. ,	\$137.00	\$186,024.24
	B42RC3	775	L.F.	Pipe, ClassV 42" Reinforced Concrete	\$96.00	\$74,400.00	\$120.00	\$93,000.00	\$200.00	\$155,000.00	\$105.00	\$81,375.00		\$89,125.00	\$110.00	\$85,250.00	\$138.00	·	\$135.21	\$104,787.75
	B42RC4	106	L.F.	Pipe 42" Reinforced Concrete	\$123.00	\$13,038.00	\$108.00	\$11,448.00	\$175.00	\$18,550.00	\$130.00	\$13,780.00	·	\$16,960.00	\$150.00	\$15,900.00		. ,	\$222.17	\$23,550.02
	C00006	4	Each	Pipe, Class V Temporary Pipe Plug	\$250.00	\$1,000.00	\$135.00	\$540.00	\$900.00	\$3,600.00	\$1,500.00	\$6,000.00	\$650.00	\$2,600.00	\$330.00	\$1,320.00	\$950.00	\$3,800.00	\$1,070.54	\$4,282.16
	D00001	163	C.Y.	Fill Abandoned Pipe	\$250.00	\$40,750.00	\$130.00	\$21,190.00	\$150.00	\$24,450.00	\$160.00	\$26,080.00	\$210.00	\$34,230.00	\$350.00	\$57,050.00	\$565.00	\$92,095.00	\$230.91	\$37,638.33
267 5W0	W01CDV	200	L.F.	Cleaning Existing Storm Drain, 12" to 48" Diameter	\$10.00	\$2,000.00	\$4.80	\$960.00	\$60.00	\$12,000.00	\$50.00	\$10,000.00	\$20.00	\$4,000.00	\$10.50	\$2,100.00	\$10.50	\$2,100.00	\$81.00	\$16,200.00
268 5C0	01D2G2	20	Each	Inlet, Type D2,G2-X1	\$10,200.00	\$204,000.00	\$8,800.00	\$176,000.00	\$13,000.00	\$260,000.00	\$8,000.00	\$160,000.00	\$9,000.00	\$180,000.00	\$9,500.00	\$190,000.00	\$10,900.00	\$218,000.00	\$12,566.21	\$251,324.20
	01D3G3	2	Each	Inlet, Type D3,G3-X1	\$10,500.00	\$21,000.00	\$9,800.00	\$19,600.00	\$13,000.00	\$26,000.00	\$8,900.00	\$17,800.00	\$12,000.00	\$24,000.00	\$10,000.00	\$20,000.00	\$10,500.00	\$21,000.00	\$15,018.30	\$30,036.60
	C01D4G1 C01NBO	7 19	Each Each	Inlet, Type D4,G1-X1 Inlet, Type B	\$8,500.00 \$2,600.00	\$59,500.00 \$49,400.00	\$8,400.00 \$3,000.00	\$58,800.00 \$57,000.00	\$13,000.00 \$6,000.00	\$91,000.00 \$114,000.00	\$7,250.00 \$2,100.00	\$50,750.00 \$39,900.00	\$8,500.00 \$2,750.00	\$59,500.00 \$52,250.00	\$10,000.00 \$5,000.00	\$70,000.00 \$95,000.00	\$9,300.00 \$3,700.00	\$65,100.00 \$70,300.00	\$10,039.02 \$4,586.75	\$70,273.14 \$87,148.25
	C01ND1	28	Each	Inlet, Type B Inlet, Type D1	\$2,600.00	\$49,400.00	\$3,000.00	\$7,000.00	\$4,000.00	\$114,000.00	\$2,100.00	\$39,900.00	\$2,750.00	\$61,600.00	\$5,000.00	\$95,000.00	\$3,700.00	\$89,600.00	\$4,586.75	\$111,009.92

									Contra	ct T869.120.302	- Bid Tabulation									
		Line Iten	n Detail		South State	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Genera	al Contractor	Union Paving and C	const. Co., Inc.	Pierson-Driscoll,	A Joint Venture	George Harms C		Intercounty Pavin Kibbleh	•
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
273	5C01ND2	218	Each	Inlet, Type D2	\$2,700.00	\$588,600.00	\$2,900.00	\$632,200.00	\$3,000.00	\$654,000.00	\$2,100.00	\$457,800.00	\$3,000.00	\$654,000.00	\$5,000.00	\$1,090,000.00	\$3,900.00	\$850,200.00	\$4,672.89	\$1,018,690.02
274	5C01ND3	8	Each	Inlet, Type D3	\$2,400.00	\$19,200.00	\$2,800.00	\$22,400.00	\$4,000.00	\$32,000.00	\$2,000.00	\$16,000.00	\$3,100.00	\$24,800.00	\$5,000.00	\$40,000.00	\$4,500.00	\$36,000.00	\$4,256.81	\$34,054.48
275	5C01NE0	7	Each	Inlet, Type E	\$2,500.00	\$17,500.00	\$2,900.00	\$20,300.00	\$5,000.00	\$35,000.00	\$2,100.00	\$14,700.00	\$2,800.00	\$19,600.00	\$3,500.00	\$24,500.00	\$3,900.00	\$27,300.00	\$4,924.99	\$34,474.93
276	5C01NOS	9	Each	Outlet Structure	\$11,500.00	\$103,500.00	\$11,000.00	\$99,000.00	\$30,000.00	\$270,000.00	\$12,750.00	\$114,750.00	\$10,200.00	\$91,800.00	\$7,000.00	\$63,000.00	\$18,000.00	\$162,000.00	\$21,057.08	\$189,513.72
277	5C01SPP2	10	Each	Manhole, Type SP-P2X1	\$13,700.00	\$137,000.00	\$13,000.00	\$130,000.00	\$16,000.00	\$160,000.00	\$12,000.00	\$120,000.00	\$13,000.00	\$130,000.00	\$20,000.00	\$200,000.00	\$21,000.00	\$210,000.00	\$18,953.30	\$189,533.00
278	5C02D2G2	14	Each	Inlet, Type D2,G2-X2	\$9,500.00	\$133,000.00	\$8,500.00	\$119,000.00	\$12,000.00	\$168,000.00	\$7,750.00	\$108,500.00	\$11,000.00	\$154,000.00	\$10,000.00	\$140,000.00	\$9,900.00	\$138,600.00	\$13,030.30	\$182,424.20
279	5C02D4G1	7	Each	Inlet, Type D4,G1-X2	\$13,100.00	\$91,700.00	\$12,000.00	\$84,000.00	\$16,000.00	\$112,000.00	\$11,100.00	\$77,700.00	\$12,500.00	\$87,500.00	\$16,000.00	\$112,000.00	\$14,700.00	\$102,900.00	\$14,904.84	\$104,333.88
280	5C02SPP2	17	Each	Manhole, Type SP-P2X2	\$18,700.00	\$317,900.00	\$18,000.00	\$306,000.00	\$19,000.00	\$323,000.00	\$16,250.00	\$276,250.00	\$18,000.00	\$306,000.00	\$25,000.00	\$425,000.00	\$29,000.00	\$493,000.00	\$32,490.33	\$552,335.61
281	5C03D2G2	9	Each	Inlet, Type D2,G2-X3	\$12,900.00	\$116,100.00	\$11,000.00	\$99,000.00	\$16,000.00	\$144,000.00	\$10,750.00	\$96,750.00	\$14,000.00	\$126,000.00	\$20,000.00	\$180,000.00	\$15,500.00	\$139,500.00	\$15,509.31	\$139,583.79
282	5C03D4G1	5	Each	Inlet, Type D4,G1-X3	\$6,300.00	\$25,200.00	\$6,500.00	\$26,000.00	\$12,000.00	\$48,000.00	\$5,400.00	\$21,600.00	\$7,000.00	\$28,000.00	\$6,500.00	\$26,000.00	\$6,900.00	\$27,600.00 \$147,500.00	\$8,353.50 \$40,813.50	\$33,414.00
283 284	5C03SPP2 5C04D2G2	4	Each	Manhole, Type SP-P2X3	\$19,600.00 \$24,600.00	\$98,000.00 \$98,400.00	\$18,900.00 \$18,000.00	\$94,500.00 \$72,000.00	\$17,000.00 \$23,000.00	\$85,000.00 \$92,000.00	\$17,000.00 \$16,950.00	\$85,000.00 \$67,800.00	\$23,000.00 \$15,000.00	\$115,000.00 \$60,000.00	\$30,000.00 \$25,000.00	\$150,000.00 \$100,000.00	\$29,500.00 \$24,400.00	\$147,500.00	\$40,813.50	\$204,067.50 \$124,297.52
285	5C04D2G2 5C05D2G2	1	Each Each	Inlet, Type D2,G2-X4 Inlet, Type D2,G2-X5	\$24,600.00	\$98,400.00	\$18,000.00	\$12,000.00	\$23,000.00	\$92,000.00	\$16,950.00	\$21,250.00	\$15,000.00	\$27,000.00	\$25,000.00	\$100,000.00	\$24,400.00	\$97,600.00	\$31,074.38 \$59,048.28	\$124,297.52
286	5C10NBX	1	Each	Reconstructed Inlet, Type B1-X1, Using New Grate	\$24,900.00	\$24,900.00	\$2,700.00	\$2,700.00	\$2,000.00	\$2,000.00	\$1,450.00	\$1,450.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$2,545.47	\$2,545.47
		•		and Frame Reconstructed Inlet, Type	4 -7.33333		·	, , , , , , , , ,	* -,	* -,	V 1, 100100				V =,000,000		***************************************	4 0,000	4 =,5	
287	5C10NDX	1	Each	D1-X1, Using New Grate and Frame	\$2,100.00	\$2,100.00	\$2,700.00	\$2,700.00	\$2,000.00	\$2,000.00	\$1,150.00	\$1,150.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$4,800.00	\$4,800.00	\$2,270.44	\$2,270.44
288	5C10ND1	1	Each	Reconstructed Inlet, Type D1, Using New Grate and Frame	\$2,100.00	\$2,100.00	\$2,700.00	\$2,700.00	\$2,000.00	\$2,000.00	\$1,150.00	\$1,150.00	\$1,800.00	\$1,800.00	\$1,600.00	\$1,600.00	\$4,800.00	\$4,800.00	\$2,270.44	\$2,270.44
289	5C40RPI	10	S.F.	Repair Inlets	\$100.00	\$1,000.00	\$90.00	\$900.00	\$300.00	\$3,000.00	\$500.00	\$5,000.00	\$100.00	\$1,000.00	\$290.00	\$2,900.00	\$100.00	\$1,000.00	\$289.11	\$2,891.10
290	5C20NP1	48	Each	Manhole, Type P-1	\$2,100.00	\$100,800.00	\$3,400.00	\$163,200.00	\$4,000.00	\$192,000.00	\$1,550.00	\$74,400.00	\$2,500.00	\$120,000.00	\$3,500.00	\$168,000.00	\$4,900.00	\$235,200.00	\$4,874.63	\$233,982.24
291	5C20NP2	23	Each	Manhole, Type P-2	\$3,700.00	\$85,100.00	\$4,800.00	\$110,400.00	\$4,000.00	\$92,000.00	\$2,900.00	\$66,700.00	\$3,200.00	\$73,600.00	\$4,000.00	\$92,000.00	\$5,900.00	\$135,700.00	\$7,319.38	\$168,345.74
292	5C40RSF	3	Each	Reset Frame	\$500.00	\$1,500.00	\$390.00	\$1,170.00	\$1,000.00	\$3,000.00	\$600.00	\$1,800.00	\$775.00	\$2,325.00	\$350.00	\$1,050.00	\$500.00	\$1,500.00	\$1,684.18	\$5,052.54
293	5C50TCI	12	Each	Temporary Inlet Cap	\$1,000.00	\$12,000.00	\$440.00	\$5,280.00	\$2,000.00	\$24,000.00	\$1,250.00	\$15,000.00	\$650.00	\$7,800.00	\$475.00	\$5,700.00	\$735.35	\$8,824.20	\$1,997.16	\$23,965.92
294	5D10INC	497	C.Y.	Incidental Concrete	\$1,080.00	\$536,760.00	\$500.00	\$248,500.00	\$1,200.00	\$596,400.00	\$750.00	\$372,750.00	\$925.00	\$459,725.00	\$585.00	\$290,745.00	\$1,125.00	\$559,125.00	\$1,245.31	\$618,919.07
295	5E01ALC	994	L.F.	Asphalt Concrete Lip Curb	\$18.00	\$17,892.00	\$21.00	\$20,874.00	\$13.00	\$12,922.00	\$27.00	\$26,838.00	\$8.50	\$8,449.00	\$13.00	\$12,922.00	\$20.85	\$20,724.90	\$19.44	\$19,323.36
296	5E02ALC	2 744 00	Each	Asphalt Concrete lip Curb	\$750.00	\$1,500.00	\$101.00	\$202.00	\$1,900.00	\$3,800.00	\$1,300.00	\$2,600.00	\$350.00	\$700.00	\$500.00	\$1,000.00	\$338.00	\$676.00	\$270.00	\$540.00
297 298	5F00002 5F01VCA	3,744.00 6,573.00	S.Y. L.F.	Concrete Island, 4" Thick Concrete Curb, Type A	\$35.00 \$14.50	\$131,040.00 \$95,308.50	\$38.00 \$15.20	\$142,272.00 \$99,909.60	\$44.00 \$19.00	\$164,736.00 \$124,887.00	\$45.00 \$14.50	\$168,480.00 \$95,308.50	\$44.00 \$16.00	\$164,736.00 \$105,168.00	\$37.00 \$15.00	\$138,528.00 \$98,595.00	\$44.25 \$15.80	\$165,672.00 \$103,853.40	\$39.96 \$16.20	\$149,610.24 \$106,482.60
299	N5F0001	5,053.00	L.F.	9" X 18" Concrete Curb	\$14.50 \$15.00	\$75,795.00	\$15.20 \$15.50	\$78,321.50	\$19.00	\$90,954.00	\$14.50 \$15.50	\$78,321.50	\$16.00 \$16.50	\$83,374.50	\$15.50 \$15.50	\$78,321.50	\$18.80	\$94,996.40	\$16.20 \$16.74	\$84,587.22
300	5H00001	119	L.F.	Concrete Median Barrier, Protection, Variable Height	\$145.00	\$17,255.00	\$158.00	\$18,802.00	\$300.00	\$35,700.00	\$355.00	\$42,245.00	·	\$47,600.00	\$150.00	\$17,850.00			\$162.00	\$19,278.00
301	5H00004	1	Each	VMS Equipment Median	\$65,000.00	\$65,000.00	\$28,000.00	\$28,000.00	\$32,436.00	\$32,436.00	\$70,000.00	\$70,000.00	\$130,000.00	\$130,000.00	\$26,500.00	\$26,500.00	\$125,000.00	\$125,000.00	\$59,400.00	\$59,400.00
302	5H01CMB	370	L.F.	Concrete Median Barrier, Roadway	\$95.00	\$35,150.00	\$105.00	\$38,850.00	\$200.00	\$74,000.00	\$122.00	\$45,140.00	\$135.00	\$49,950.00	\$98.00	\$36,260.00	\$132.00	\$48,840.00	\$105.84	\$39,160.80
303	5H02CBC	101	L.F.	15"x41" Concrete Barrier Curb	\$62.00	\$6,262.00	\$68.00	\$6,868.00	\$100.00	\$10,100.00	\$87.00	\$8,787.00	\$100.00	\$10,100.00	\$65.00	\$6,565.00	\$94.00	\$9,494.00	\$70.20	\$7,090.20
304	5H03CMB	10,192.00	L.F.	Concrete Median Barrier, Protection Concrete Median Barrier,	\$68.00	\$693,056.00	\$73.00	\$744,016.00	\$72.00	\$733,824.00	\$82.00	\$835,744.00		\$917,280.00	\$70.00	\$713,440.00	\$88.00	\$896,896.00	\$75.60	\$770,515.20
305	5H06CMB	433	L.F.	Type 1 Removal of Existing Ground	\$390.00	\$168,870.00	\$420.00	\$181,860.00	\$420.00	\$181,860.00	\$125.00	\$54,125.00		\$71,445.00	\$395.00	\$171,035.00	\$185.00	\$80,105.00	\$426.60	\$184,717.80
306	5100RGM	15	Each	Mounted Sign Relocate Existing Ground-	\$95.00	\$1,425.00	\$102.00	\$1,530.00	\$102.00	\$1,530.00	\$120.00	\$1,800.00	\$115.00	\$1,725.00	\$100.00	\$1,500.00	\$110.00	\$1,650.00	\$540.00	\$8,100.00
307	5I01RES 5I01SNP	5 4,477.00	Each S.F.	Mounted Sign Sign Panels	\$450.00 \$20.00	\$2,250.00 \$89,540.00	\$535.00 \$22.00	\$2,675.00 \$98,494.00	\$510.00 \$22.00	\$2,550.00 \$98,494.00	\$550.00 \$22.00	\$2,750.00 \$98,494.00	\$125.00 \$23.00	\$625.00 \$102,971.00	\$500.00 \$21.00	\$2,500.00 \$94,017.00	\$550.00 \$23.00	\$2,750.00 \$102,971.00	\$4,860.00 \$19.98	\$24,300.00 \$89,450.46
309	5105SPP	1,729.00	L.F.	U-channel Post	\$14.00	\$24,206.00	\$15.50	\$26,799.50	\$16.00	\$27,664.00	\$16.00	\$27,664.00	\$16.50	\$28,528.50	\$15.00	\$25,935.00	\$16.50		\$11.34	\$19,606.86
310	5K00022	1,203.00	L.F.	Fence Screening Slats	\$6.00	\$7,218.00	\$12.20	\$14,676.60	\$17.00	\$20,451.00	\$15.00	\$18,045.00	\$6.50	\$7,819.50	\$14.00	\$16,842.00	\$15.50	\$18,646.50	\$12.31	\$14,808.93
311	5I16REL	16	Each	Relocate Sign Panels	\$180.00	\$2,880.00	\$214.00	\$3,424.00	\$204.00	\$3,264.00	\$210.00	\$3,360.00	\$100.00	\$1,600.00	\$200.00	\$3,200.00	\$221.00	\$3,536.00	\$1,080.00	\$17,280.00
312	5ZO0124	1	Each	Highway Advisory Radio Sign	\$16,000.00	\$16,000.00	\$10,500.00	\$10,500.00	\$13,000.00	\$13,000.00	\$16,700.00	\$16,700.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$6,100.00	\$6,100.00	\$13,068.00	\$13,068.00
313	5J00FGT	36	Each	Flared Guide Rail Terminal	\$1,500.00	\$54,000.00	\$2,000.00	\$72,000.00	\$1,683.00	\$60,588.00	\$2,000.00	\$72,000.00	\$1,800.00	\$64,800.00	\$1,650.00	\$59,400.00	\$2,150.00	\$77,400.00	\$1,782.00	\$64,152.00
314	5J01OBT	34	Each	Offset Bracket	\$11.50	\$391.00	\$10.75	\$365.50	\$127.50	\$4,335.00	\$11.00	\$374.00	\$110.00	\$3,740.00	\$12.00	\$408.00	\$11.00	\$374.00	\$12.96	\$440.64
315	5J01PCA	52	Each	Parapet Connection, Type A	\$1,400.00	\$72,800.00	\$1,700.00	\$88,400.00	\$1,377.00	\$71,604.00	\$1,650.00	\$85,800.00	\$1,500.00	\$78,000.00	\$1,355.00	\$70,460.00	\$1,770.00	\$92,040.00	\$1,458.00	\$75,816.00

									Contrac	ct T869.120.302	- Bid Tabulation									
		Line Iter	n Detail		South Stat	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Gener	al Contractor	Union Paving and (Const. Co., Inc.	Pierson-Driscoll,	A Joint Venture	George Harms C		Intercounty Pavir Kibbleh	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT												
316	5J01PCB	36	Each	Parapet Connection, Type B	\$350.00	\$12,600.00	\$210.00	\$7,560.00	\$408.00	\$14,688.00	\$210.00	\$7,560.00	\$450.00	\$16,200.00	\$435.00	\$15,660.00	\$220.00	\$7,920.00	\$432.00	\$15,552.00
317	5J01RBG	11,105.00	L.F.	Removal of Beam Guide rail	\$0.50	\$5,552.50	\$1.10	\$12,215.50	\$1.00	\$11,105.00	\$1.50	\$16,657.50	\$1.00	\$11,105.00	\$0.50	\$5,552.50	\$1.10	\$12,215.50	\$0.54	\$5,996.70
318	5J01SWA	1	Each	Safety Walk Connection, Type A	\$1,500.00	\$1,500.00	\$1,700.00	\$1,700.00	\$2,040.00	\$2,040.00	\$1,700.00	\$1,700.00	\$2,200.00	\$2,200.00	\$2,000.00	\$2,000.00	\$1,760.00	\$1,760.00	\$2,160.00	\$2,160.00
319	5J01SWB	1	Each	Safety Walk Connection, Type B	\$1,500.00	\$1,500.00	\$214.00	\$214.00	\$714.00	\$714.00	\$210.00	\$210.00	\$800.00	\$800.00	\$700.00	\$700.00	\$220.00	\$220.00	\$756.00	\$756.00
320	5J51TTS	14	Each	Tangent Guide Rail Terminal	\$1,700.00	\$23,800.00	\$2,140.00	\$29,960.00	\$1,785.00	\$24,990.00	\$2,050.00	\$28,700.00	\$2,000.00	\$28,000.00	\$1,750.00	\$24,500.00	\$2,200.00	\$30,800.00	\$1,890.00	\$26,460.00
321	5J52ABG	38	Each	Beam Guide Rail Anchorage	\$375.00	\$14,250.00	\$535.00	\$20,330.00	\$408.00	\$15,504.00	\$550.00	\$20,900.00	\$450.00	\$17,100.00	\$400.00	\$15,200.00	\$550.00	\$20,900.00	\$432.00	\$16,416.00
322	5J52BGD	12,715.00	L.F.	Beam Guide Rail, Dual- Faced	\$18.00	\$228,870.00	\$20.50	\$260,657.50	\$20.00	\$254,300.00	\$21.00	\$267,015.00	\$22.00	\$279,730.00	\$19.75	\$251,121.25	\$22.00	\$279,730.00	\$21.33	\$271,210.95
323	5J52BGR	79,565.00	L.F.	Beam Guide Rail	\$14.00	\$1,113,910.00	\$15.00	\$1,193,475.00	\$14.00	\$1,113,910.00	\$15.00	\$1,193,475.00	\$15.50	\$1,233,257.50	\$14.00	\$1,113,910.00	\$16.25	\$1,292,931.25	\$15.12	\$1,203,022.80
324	5J53RRS	2,390.00	L.F.	Rub Rail	\$6.00	\$14,340.00	\$8.57	\$20,482.30	\$7.00	\$16,730.00	\$8.25	\$19,717.50	\$7.00	\$16,730.00	\$6.00	\$14,340.00	\$8.75	\$20,912.50	\$6.48	\$15,487.20
325	5J54BGP	34	Each	Beam Guide Rail Post	\$46.00	\$1,564.00	\$43.00	\$1,462.00	\$46.00	\$1,564.00	\$42.00	\$1,428.00	\$50.00	\$1,700.00	\$45.00	\$1,530.00	\$44.00	\$1,496.00	\$48.60	\$1,652.40
326	5JGRP02	92	Each	Beam Guide Rail Post, 8' Long	\$63.00	\$5,796.00	\$59.00	\$5,428.00	\$62.00	\$5,704.00	\$56.00	\$5,152.00	\$65.00	\$5,980.00	\$60.00	\$5,520.00	\$60.00	\$5,520.00	\$64.80	\$5,961.60
327	5ZZ43GR	6	Each	Controlled Release Terminal Anchorages	\$975.00	\$5,850.00	\$800.00	\$4,800.00	\$1,020.00	\$6,120.00	\$755.00	\$4,530.00	\$1,100.00	\$6,600.00	\$1,000.00	\$6,000.00	\$830.00	\$4,980.00	\$1,080.00	\$6,480.00
328	5ZZ65GR	6	Each	Controlled Release Terminal	\$1,000.00	\$6,000.00	\$800.00	\$4,800.00	\$1,020.00	\$6,120.00	\$755.00	\$4,530.00	\$1,100.00	\$6,600.00	\$1,000.00	\$6,000.00	\$830.00	\$4,980.00	\$1,080.00	\$6,480.00
329	5K00001	40,900.00	L.F.	Chain Link Fence, Type II, 84" High	\$13.00	\$531,700.00	\$17.00	\$695,300.00	\$16.00	\$654,400.00	\$18.00	\$736,200.00	\$17.50	\$715,750.00	\$17.75	\$725,975.00	\$19.50	\$797,550.00	\$24.30	\$993,870.00
330	5K00002	2	Each	Vehicular Gate, Type II, 84" High, 12' Wide	\$950.00	\$1,900.00	\$2,140.00	\$4,280.00	\$2,000.00	\$4,000.00	\$1,250.00	\$2,500.00	\$1,700.00	\$3,400.00	\$1,200.00	\$2,400.00	\$1,320.00	\$2,640.00	\$1,382.40	\$2,764.80
331	5K00004	16	Each	Vehicular Gate, Type II, 84" High, 24' Wide	\$1,900.00	\$30,400.00	\$2,250.00	\$36,000.00	\$2,700.00	\$43,200.00	\$2,450.00	\$39,200.00	\$2,800.00	\$44,800.00	\$2,400.00	\$38,400.00	\$2,650.00	\$42,400.00	\$2,219.40	\$35,510.40
332	5K00009	1,970.00	L.F.	Bridge Fencing, Curved Top, 75" High	\$80.00	\$157,600.00	\$86.00	\$169,420.00	\$148.00	\$291,560.00	\$92.00	\$181,240.00	\$125.00	\$246,250.00	\$100.00	\$197,000.00	\$100.00	\$197,000.00	\$108.15	\$213,055.50
333	5K03BRF	985	L.F.	Bridge Fencing, 75" High	\$70.00	\$68,950.00	\$69.00	\$67,965.00	\$130.00	\$128,050.00	\$78.00	\$76,830.00	\$110.00	\$108,350.00	\$85.00	\$83,725.00	\$85.00	\$83,725.00	\$91.35	\$89,979.75
334	5K10MFN	1,203.00	L.F.	Median Fencing	\$22.00	\$26,466.00	\$71.00	\$85,413.00	\$31.00	\$37,293.00	\$42.00	\$50,526.00	\$35.00	\$42,105.00	\$40.00	\$48,120.00	\$44.00	\$52,932.00	\$26.46	\$31,831.38
335	N5ZP005	190	L.F.	Split Rail Fence	\$9.00	\$1,710.00	\$37.50	\$7,125.00	\$31.00	\$5,890.00	\$16.00	\$3,040.00	\$35.00	\$6,650.00	\$15.00	\$2,850.00	\$16.50	\$3,135.00	\$14.58	\$2,770.20
336	5L01MON 5N04PCS	50 15	Each S.Y.	Concrete Monuments Concrete Sidewalk. 4" Thick	\$700.00 \$36.00	\$35,000.00 \$540.00	\$300.00 \$47.00	\$15,000.00 \$705.00	\$580.00 \$45.00	\$29,000.00 \$675.00	\$550.00 \$52.00	\$27,500.00 \$780.00	\$300.00 \$55.00	\$15,000.00 \$825.00	\$575.00 \$38.00	\$28,750.00 \$570.00	\$795.00 \$55.00	\$39,750.00 \$825.00	\$635.19 \$41.04	\$31,759.50 \$615.60
338	5N06PCS	1,555.00	S.Y.	Concrete Sidewalk, 6" thick	\$42.00	\$65,310.00	\$46.00	\$71,530.00	\$51.00	\$79,305.00	\$45.00	\$69,975.00	\$55.00	\$85,525.00	\$45.00	\$69,975.00	\$48.50	\$75,417.50	\$48.60	\$75,573.00
339	5N10RSW	60	S.F.	Reconstruct Safetywalk	\$200.00	\$12,000.00	\$105.00	\$6,300.00	\$20.00	\$1,200.00	\$165.00	\$9,900.00	\$75.00	\$4,500.00	\$8.00	\$480.00	\$64.00	\$3,840.00	\$291.60	\$17,496.00
340	5001CAR	18	Each	Delineator, Type CA-R	\$100.00	\$1,800.00	\$42.00	\$756.00	\$102.00	\$1,836.00	\$42.00	\$756.00	\$110.00	\$1,980.00	\$40.00	\$720.00	\$44.00	\$792.00	\$108.00	\$1,944.00
341	5001CAW	141	Each	Delineator, Type CA-W	\$100.00	\$14,100.00	\$42.00	\$5,922.00	\$82.00	\$11,562.00	\$42.00	\$5,922.00		\$14,100.00	\$40.00	\$5,640.00		\$6,204.00	\$86.40	\$12,182.40
342	5001CAY	101	Each	Delineator, Type CA-Y	\$35.00	\$3,535.00	\$42.00	\$4,242.00	\$82.00	\$8,282.00	\$42.00	\$4,242.00	\$100.00	\$10,100.00	\$40.00	\$4,040.00	\$44.00	\$4,444.00	\$86.40	\$8,726.40
343	5001PAW	468	Each	Delineator, Type PA-W	\$22.00	\$10,296.00	\$42.00	\$19,656.00	\$51.00	\$23,868.00	\$42.00	\$19,656.00	\$60.00	\$28,080.00	\$40.00	\$18,720.00	\$44.00	\$20,592.00	\$54.00	\$25,272.00
344	5001PAY	199	Each	Delineator, Type PA-Y	\$22.00	\$4,378.00	\$42.00	\$8,358.00	\$51.00	\$10,149.00	\$42.00	\$8,358.00	\$100.00	\$19,900.00	\$40.00	\$7,960.00	\$44.00	\$8,756.00	\$54.00	\$10,746.00
345	5P00007	14,425.00	L.F.	Pavement Striping, White, 12" Wide	\$1.50	\$21,637.50	\$1.70	\$24,522.50	\$2.00	\$28,850.00	\$0.80	\$11,540.00	\$1.00	\$14,425.00	\$1.60	\$23,080.00	\$1.75	\$25,243.75	\$0.97	\$13,992.25
346	5P00009	4,845.00	L.F.	Pavement Striping, Yellow, 4" Wide	\$0.40	\$1,938.00	\$0.50	\$2,422.50	\$1.00	\$4,845.00	\$0.26	\$1,259.70	\$0.30	\$1,453.50	\$0.45	\$2,180.25	\$0.50	\$2,422.50	\$0.27	\$1,308.15
347	5P06PTW	181,040.00	L.F.	Pavement Striping, White 6" Wide	\$0.40	\$72,416.00	\$0.50	\$90,520.00	\$0.50	\$90,520.00	\$0.38	\$68,795.20	\$0.40	\$72,416.00	\$0.50	\$90,520.00	\$0.55	\$99,572.00	\$0.37	\$66,984.80
348	5P06PTY	85,110.00	L.F.	Pavement Striping, Yellow, 6" Wide	\$0.45	\$38,299.50	\$0.50	\$42,555.00	\$0.50	\$42,555.00	\$0.38	\$32,341.80	\$0.40	\$34,044.00	\$0.50	\$42,555.00	\$0.55	\$46,810.50	\$0.37	\$31,490.70
349	5P07REM	132,560.00	L.F.	Removal of Pavement Stripes (Hydromilling)	\$0.40	\$53,024.00	\$0.40	\$53,024.00	\$0.40	\$53,024.00	\$0.90	\$119,304.00	\$0.80	\$106,048.00	\$0.40	\$53,024.00	\$0.45	\$59,652.00	\$0.76	\$100,745.60
350	5P08PTW	130	L.F.	Pavement Striping, White, 8" Wide	\$0.80	\$104.00	\$0.95	\$123.50	\$5.00	\$650.00	\$0.55	\$71.50	\$0.85	\$110.50	\$0.90	\$117.00	\$1.00	\$130.00	\$0.81	\$105.30
351	5P13TMP	3,600.00	L.F.	Removable Black Line Mask, 8" Wide	\$3.20	\$11,520.00	\$3.55	\$12,780.00	\$4.00	\$14,400.00	\$3.60	\$12,960.00	\$3.30	\$11,880.00	\$3.30	\$11,880.00	\$3.65	\$13,140.00	\$3.24	\$11,664.00
352	5P20LLS	28,385.00	L.F.	Traffic Stripes, Long - Life, Epoxy Resin	\$0.25	\$7,096.25	\$0.30	\$8,515.50	\$0.50	\$14,192.50	\$0.45	\$12,773.25	\$0.42	\$11,921.70	\$0.30	\$8,515.50	\$0.35	\$9,934.75	\$0.41	\$11,637.85
353	5P01CMT	6,335.00	L.F.	Preformed Contrast Marking Tape	\$4.00	\$25,340.00	\$5.00	\$31,675.00	\$4.90	\$31,041.50	\$2.25	\$14,253.75	\$1.10	\$6,968.50	\$4.80	\$30,408.00	\$5.30	\$33,575.50	\$1.08	\$6,841.80
354	5P24PTW	1,055.00	L.F.	Pavement Striping, White, 24" Wide	\$3.00	\$3,165.00	\$3.40	\$3,587.00	\$4.00	\$4,220.00	\$1.60	\$1,688.00	\$1.65	\$1,740.75	\$3.20	\$3,376.00	\$3.60	\$3,798.00	\$1.62	\$1,709.10
355	5P30LLM	190	L.F.	Traffic Markings, Lines, long - Life, Epoxy Resin	\$4.50	\$855.00	\$5.30	\$1,007.00	\$6.00	\$1,140.00	\$0.45	\$85.50	\$1.65	\$313.50	\$5.00	\$950.00	\$5.50	\$1,045.00	\$16.20	\$3,078.00

									Contra	ct T869.120.302	- Bid Tabulation									
		Line Iten	n Detail		South State	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Genera	al Contractor	Union Paving and (Const. Co., Inc.	Pierson-Driscoll,	A Joint Venture	_	Construction Co., nc.	Intercounty Pavi Kibble	_
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
356	5P31LLM	3,485.00	L.F.	Traffic Markings, Lines, Long - Life, Thermoplastic	\$0.50	\$1,742.50	\$0.60	\$2,091.00	\$1.00	\$3,485.00	\$1.00	\$3,485.00	\$2.20	\$7,667.00	\$0.55	\$1,916.75	5 \$0.60	\$2,091.00	\$2.16	\$7,527.60
357	5P33LLM	76	S.F.	Traffic Markings, Symbols, Long - Life, Thermoplastic	\$7.00	\$532.00	\$8.00	\$608.00	\$8.00	\$608.00	\$5.25	\$399.00	\$11.00	\$836.00	\$7.50	\$570.00	\$8.20	\$623.20	\$10.80	\$820.80
358	5R01RPG	4	Each	Horizontal Ramp Gate	\$25,000.00	\$100,000.00	\$23,000.00	\$92,000.00	\$1,938.00	\$7,752.00	\$13,000.00	\$52,000.00	\$25,000.00	\$100,000.00	\$2,100.00	\$8,400.00	\$40,000.00	\$160,000.00	\$2,700.00	\$10,800.00
359	5V01PIT	30	Each	Test Pits	\$500.00	\$15,000.00	\$530.00	\$15,900.00	\$1,000.00	\$30,000.00	\$600.00	\$18,000.00	\$600.00	\$18,000.00	\$1,250.00	\$37,500.00	\$800.00	\$24,000.00	\$842.89	\$25,286.70
360	5X00001	3	Each	Quadguard Impact Attenuator, 9 Bays, 36" Wide	\$30,000.00	\$90,000.00	\$35,000.00	\$105,000.00	\$28,050.00	\$84,150.00	\$60,000.00	\$180,000.00	\$40,000.00	\$120,000.00	\$27,500.00	\$82,500.00	\$40,000.00	\$120,000.00	\$44,343.72	\$133,031.16
361	5X00002	1	Each	Quadguard Impact Attenuator, 9 Bays, 24" Wide	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00	\$25,500.00	\$25,500.00	\$55,000.00	\$55,000.00	\$38,000.00	\$38,000.00	\$25,000.00	\$25,000.00	\$38,000.00	\$38,000.00	\$42,494.76	\$42,494.76
362	5X00008	2	Each	Quadguard Impact Attenuator, 3 Bay, 36" Wide	\$15,000.00	\$30,000.00	\$16,000.00	\$32,000.00	\$18,360.00	\$36,720.00	\$35,000.00	\$70,000.00	\$20,000.00	\$40,000.00	\$18,000.00	\$36,000.00	\$19,000.00	\$38,000.00	\$20,149.56	\$40,299.12
363	5Y01MMP	56	Each	Mile Marker, Type MP	\$75.00	\$4,200.00	\$91.00	\$5,096.00	\$90.00	\$5,040.00	\$90.00	\$5,040.00	\$100.00	\$5,600.00	\$85.00	\$4,760.00	\$93.00	\$5,208.00	\$86.40	\$4,838.40
364 365	5Y01MRC 5Y01MRP	13	Each	Mile Marker, Type RC	\$75.00 \$75.00	\$975.00 \$4,125.00	\$91.00 \$91.00	\$1,183.00 \$5.005.00	\$90.00 \$90.00	\$1,170.00 \$4.950.00	\$90.00 \$90.00	\$1,170.00 \$4.950.00	\$100.00 \$100.00	\$1,300.00 \$5,500.00	\$85.00 \$85.00	\$1,105.00 \$4,675.00	\$93.00 \$93.00	\$1,209.00 \$5,115.00	\$86.40 \$86.40	\$1,123.20 \$4,752.00
366	5701MRP 5ZA01HGR	55 245	Each Each	Mile Marker, Type RP Utility Support Hangers	\$75.00 \$125.00	\$4,125.00	\$91.00	\$3,075.00	\$370.00	\$4,950.00	\$90.00 \$130.00	\$4,950.00	\$100.00 \$175.00	\$5,500.00	\$85.00 \$590.00	\$4,675.00	\$465.00	\$5,115.00	\$453.60	\$4,752.00
367	5P01DMG	6,333.00	L.F.	Diamond Grinding	\$1.50	\$9,499.50	\$1.60	\$10,132.80	\$2.00	\$12,666.00	\$2.10	\$13,299.30	\$2.20	\$13,932.60	\$1.50	\$9,499.50	\$1.70	\$10,766.10	\$1.94	\$12,286.02
368	5ZD07RPM	89	Each	Raised Pavement Markers, Bi-Directional, Amber Lens	\$29.00	\$2,581.00	\$31.00	\$2,759.00	\$30.00	\$2,670.00	\$45.00	\$4,005.00	\$60.00	\$5,340.00	\$29.00	\$2,581.00		\$2,848.00	\$26.46	\$2,354.94
370	5ZO0017	1	L.S.	Removal of Asbestos (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$100,000. Enter a Unit Price of \$100,000 as your bid for this item.)	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
371	5ZO0025	12	Month	Oil Water Separato	\$2,000.00	\$24,000.00	\$4,000.00	\$48,000.00	\$2,000.00	\$24,000.00	\$2,500.00	\$30,000.00	\$1,000.00	\$12,000.00	\$3,670.00	\$44,040.00	\$11,000.00	\$132,000.00	\$3,963.60	\$47,563.20
372	5ZO01TNK	2	Each	Tank Cleaning	\$5,000.00	\$10,000.00	\$5,400.00	\$10,800.00	\$4,000.00	\$8,000.00	\$2,500.00	\$5,000.00	\$1,850.00	\$3,700.00	\$4,500.00	\$9,000.00	\$5,000.00	\$10,000.00	\$4,860.00	\$9,720.00
373	5ZO02TNK	1	Each	Tank Decontamination	\$15.00	\$15.00	\$5,400.00	\$5,400.00	\$6,630.00	\$6,630.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,200.00	\$3,200.00	\$9,000.00	\$9,000.00	\$3,456.00	\$3,456.00
374	5ZO03TNK	2	Each	Tank Draining - Storm System	\$2,000.00	\$4,000.00	\$10,700.00	\$21,400.00	\$4,000.00	\$8,000.00	\$2,500.00	\$5,000.00	\$2,100.00	\$4,200.00	\$3,500.00	\$7,000.00	\$8,500.00	\$17,000.00	\$3,780.00	\$7,560.00
375	5ZO04TNK	1,000.00	Gallon	Tank Draining - Treatment Facility	\$2.00	\$2,000.00	\$1.07	\$1,070.00	\$25.50	\$25,500.00	\$2.00	\$2,000.00	\$5.00	\$5,000.00	\$0.95	\$950.00	\$10.00	\$10,000.00	\$1.03	\$1,030.00
376	5ZO05TNK	12	Month	Tank Rental	\$1,500.00	\$18,000.00	\$1,900.00	\$22,800.00	\$8,160.00	\$97,920.00	\$2,500.00	\$30,000.00	\$1,900.00	\$22,800.00	\$1,840.00	\$22,080.00	\$2,300.00	\$27,600.00	\$1,987.20	\$23,846.40
377	5ZO0055	2,700.00	L.F.	Transite Duct Bank Removal	\$20.00	\$54,000.00	\$26.00	\$70,200.00	\$88.47	\$238,869.00	\$16.00	\$43,200.00	\$14.50	\$39,150.00	\$15.00	\$40,500.00	\$42.00	\$113,400.00	\$8.10	\$21,870.00
378	5ZL0029	1	Each	Reset Water Valve Boxes	\$250.00	\$250.00	\$280.00	\$280.00	\$1,400.00	\$1,400.00	\$1,250.00	\$1,250.00	\$300.00	\$300.00	\$110.00	\$110.00	\$225.00	\$225.00	\$547.42	\$547.42
379	5ZL0061	165	L.F.	8" Ductile Iron Water Pipe, Class 52	\$217.00	\$35,805.00	\$220.00	\$36,300.00	\$80.00	\$13,200.00	\$130.00	\$21,450.00	\$200.00	\$33,000.00	\$150.00	\$24,750.00	\$247.00	\$40,755.00	\$182.60	\$30,129.00
380	5ZL00FAC	1	L.S.	Temporary Water Facilities	\$15,000.00	\$15,000.00	\$3,250.00	\$3,250.00	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$8,500.00	\$8,500.00	\$42,000.00	\$42,000.00	\$14,884.53	\$14,884.53
381	5C05ND1	2	Each	New Inlet Frame and Grate, Type D-1	\$1,250.00	\$2,500.00	\$750.00	\$1,500.00	\$900.00	\$1,800.00	\$400.00	\$800.00	\$1,000.00	\$2,000.00	\$710.00	\$1,420.00	\$1,280.00	\$2,560.00	\$1,598.89	\$3,197.78
382	5ZL0111	245	Each	8" PVC Sanitary Pipe	\$64.00	\$15,680.00	\$25.00	\$6,125.00	\$60.00	\$14,700.00	\$60.00	\$14,700.00	\$60.00	\$14,700.00	\$60.00	\$14,700.00	\$84.00	\$20,580.00	\$99.67	\$24,419.15
383	5ZL01WM	180	L.F.	4" Ductile Iron Water Pipe Class 54 Water Main	\$112.00	\$20,160.00	\$32.00	\$5,760.00	\$100.00	\$18,000.00	\$95.00	\$17,100.00	\$125.00	\$22,500.00	\$125.00	\$22,500.00	\$205.00	\$36,900.00	\$156.43	\$28,157.40
384	5ZL02FHA	1	Each	Reset Fire Hydrant	\$1,500.00	\$1,500.00	\$2,400.00	\$2,400.00	\$2,000.00	\$2,000.00	\$3,250.00	\$3,250.00	\$1,500.00	\$1,500.00	\$790.00	\$790.00		\$1,270.00	\$1,657.23	\$1,657.23
385	5ZL04WVU	1	Each	4" Water Valve	\$1,045.00	\$1,045.00	\$440.00	\$440.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00	\$650.00	\$650.00	\$750.00	\$750.00			\$1,554.09	\$1,554.09
386	5ZL08WVU	1	Each	8" Water Valve 6" Tapping Sleeve and	\$1,685.00	\$1,685.00	\$900.00	\$900.00	\$2,000.00	\$2,000.00	\$1,100.00	\$1,100.00		\$1,200.00	\$1,200.00	\$1,200.00		. ,	\$2,112.26	\$2,112.26
387	5ZL0083	1	Each	Valve	\$4,750.00	\$4,750.00	\$2,800.00	\$2,800.00	\$6,000.00	\$6,000.00	\$6,750.00	\$6,750.00	\$6,000.00	\$6,000.00	\$4,900.00	\$4,900.00			\$12,899.69	\$12,899.69
388	5ZL0100	1	Each	6" Line Stop	\$6,300.00	\$6,300.00	\$2,500.00	\$2,500.00	\$4,000.00	\$4,000.00	\$12,000.00	\$12,000.00	\$6,000.00	\$6,000.00	\$4,300.00	\$4,300.00	\$8,800.00	\$8,800.00	\$7,614.97	\$7,614.97
389	5ZL12DP	325	L.F.	12" Ductile Iron Water Pipe, Class 52	\$76.00	\$24,700.00	\$65.00	\$21,125.00	\$90.00	\$29,250.00	\$125.00	\$40,625.00	\$150.00	\$48,750.00	\$90.00	\$29,250.00	\$158.00	\$51,350.00	\$100.22	\$32,571.50
390	5ZL12WVU	1	Each	12" Water Valve	\$2,620.00	\$2,620.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$4,900.00	\$4,900.00	\$2,200.00	\$2,200.00	\$2,100.00	\$2,100.00	\$3,220.00		\$3,613.71	\$3,613.7
391	5ZO0024	1	L.S.	As-Built Plans	\$3,000.00	\$3,000.00	\$1,070.00	\$1,070.00	\$6,000.00	\$6,000.00	\$3,500.00	\$3,500.00	\$1,000.00	\$1,000.00	\$4,500.00	\$4,500.00	\$4,500.00	\$4,500.00	\$212,494.32	\$212,494.3

									Contra	ct T869.120.302	- Bid Tabulation									
		Line Iten	n Detail		South Stat	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Gener	al Contractor	Union Paving and C	Const. Co., Inc.	Pierson-Driscoll,	A Joint Venture	George Harms C	,	Intercounty Pavir Kibbleh	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT												
392	5C05NBO	2	Each	New Inlet Frame and Grate, Type B	\$1,250.00	\$2,500.00	\$750.00	\$1,500.00	\$2,000.00	\$4,000.00	\$1,200.00	\$2,400.00	\$1,200.00	\$2,400.00	\$965.00	\$1,930.00	\$1,600.00	\$3,200.00	\$2,035.71	\$4,071.42
393	5ZL0078	4	Each	Manhole, Sanitary Sewer	\$2,650.00	\$10,600.00	\$2,900.00	\$11,600.00	\$6,000.00	\$24,000.00	\$1,700.00	\$6,800.00	\$3,000.00	\$12,000.00	\$2,500.00	\$10,000.00	\$6,200.00	\$24,800.00	\$4,818.24	\$19,272.96
394	5ZL01FAC	1	L.S.	Temporary Sanitary Facilities	\$28,500.00	\$28,500.00	\$10,000.00	\$10,000.00	\$100,000.00	\$100,000.00	\$25,000.00	\$25,000.00	\$24,000.00	\$24,000.00	\$44,100.00	\$44,100.00	\$60,000.00	\$60,000.00	\$34,199.67	\$34,199.67
395	5ZL08DIS	166	L.F.	8" Ductile Iron Sanitary Sewer Main	\$110.00	\$18,260.00	\$44.00	\$7,304.00	\$100.00	\$16,600.00	\$135.00	\$22,410.00	\$100.00	\$16,600.00	\$84.00	\$13,944.00	\$105.00	\$17,430.00	\$118.64	\$19,694.24
396	5ZL0034	1,460.00	L.F.	6" Plastic Gas Main	\$31.00	\$45,260.00	\$34.00	\$49,640.00	\$37.00	\$54,020.00	\$32.00	\$46,720.00	\$35.00	\$51,100.00	\$32.00	\$46,720.00	\$50.00	\$73,000.00	\$70.20	\$102,492.00
397 398	5ZL0153 5ZL01GSC	3	Each Each	Reset Gas Valve Box Gas Service Connection	\$700.00 \$16,000.00	\$700.00 \$48,000.00	\$785.00 \$18,000.00	\$785.00 \$54,000.00	\$900.00 \$20,000.00	\$900.00 \$60,000.00	\$750.00 \$17,000.00	\$750.00 \$51,000.00	\$250.00 \$18,500.00	\$250.00 \$55,500.00	\$740.00 \$16,850.00	\$740.00 \$50,550.00	\$240.00 \$30,000.00	\$240.00 \$90,000.00	\$540.00 \$2,160.00	\$540.00 \$6,480.00
-		2			. ,		\$7,350.00		. ,	. ,	. ,	. ,	. ,		. ,		· /	. ,	. ,	. ,
399 400	5ZL0203	785	Each L.F.	Gas Expansion Joint Vault 6" Steel Gas Main, On	\$6,500.00 \$70.00	\$13,000.00 \$54,950.00	\$7,350.00 \$75.00	\$14,700.00 \$58,875.00	\$8,000.00 \$84.00	\$16,000.00 \$65.940.00	\$6,900.00 \$72.50	\$13,800.00 \$56,912.50	\$7,500.00 \$80.00	\$15,000.00 \$62,800.00	\$6,660.00 \$72.50	\$13,320.00 \$56,912.50	\$14,500.00	\$29,000.00 \$94,200.00	\$5,508.00 \$113.40	\$11,016.00 \$89,019.00
400	5ZL06SGS 5ZL0017	65	L.F.	Structures 36" Split Steel Casing	\$250.00	\$16,250.00	\$75.00	\$20,800.00	\$280.00	\$18,200.00	\$420.00	\$27,300.00	\$500.00	\$32,500.00	\$1,110.00	\$72,150.00	\$120.00 \$1,240.00	\$94,200.00	\$810.00	\$52,650.00
402	5ZL0017 5ZL0186	58	L.F.	2-5" Electric Riser Conduit	\$39.00	\$2,262.00	\$320.00 \$44.00	\$2,552.00	\$280.00	\$2,146.00	\$420.00	\$27,300.00	\$100.00	\$5,800.00	\$1,110.00	\$2,392.50	\$1,240.00	\$2,262.00	\$74.52	\$4,322.16
402	5ZL0160	165	L.F.	4" Plastic Gas Main	\$25.00	\$4,125.00	\$29.00	\$4,785.00	\$37.00	\$5,280.00	\$28.00	\$4,620.00	\$30.00	\$4,950.00	\$27.00	\$4,455.00	\$97.00	\$16,005.00	\$52.92	\$8,731.80
404	5ZO0033	2	Each	Removal of Aboveground Storage Tanks	\$3,000.00	\$6,000.00	\$24,000.00	\$48,000.00	\$4,590.00	\$9,180.00	\$10,000.00	\$20,000.00	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00	\$1,900.00	\$3,800.00	\$23,625.00	\$47,250.00
405	5ZL01MTD	1	Each	Manufactured Treatment Device No. 1	\$139,500.00	\$139,500.00	\$130,000.00	\$130,000.00	\$300,000.00	\$300,000.00	\$90,000.00	\$90,000.00	\$160,000.00	\$160,000.00	\$350,000.00	\$350,000.00	\$220,000.00	\$220,000.00	\$163,805.75	\$163,805.75
406	5ZL02MTD	1	Each	Manufactured Treatment Device No. 2	\$148,700.00	\$148,700.00	\$77,000.00	\$77,000.00	\$250,000.00	\$250,000.00	\$90,000.00	\$90,000.00	\$130,000.00	\$130,000.00	\$300,000.00	\$300,000.00	\$175,000.00	\$175,000.00	\$163,805.75	\$163,805.75
407	5ZL03MTD	1	Each	Manufactured Treatment Device No. 3	\$93,500.00	\$93,500.00	\$44,000.00	\$44,000.00	\$200,000.00	\$200,000.00	\$40,000.00	\$40,000.00	\$65,000.00	\$65,000.00	\$275,000.00	\$275,000.00	\$90,000.00	\$90,000.00	\$94,465.58	\$94,465.58
408	5ZO0012	1	L.S.	Demolition of Buildings (1)	\$24,000.00	\$24,000.00	\$27,000.00	\$27,000.00	\$40,000.00	\$40,000.00	\$27,000.00	\$27,000.00	\$12,000.00	\$12,000.00	\$100,000.00	\$100,000.00	\$35,000.00	\$35,000.00	\$25,801.20	\$25,801.20
409	5ZO0013	1	L.S.	Demolition of Buildings (2)	\$24,000.00	\$24,000.00	\$27,000.00	\$27,000.00	\$40,000.00	\$40,000.00	\$27,000.00	\$27,000.00	\$12,000.00	\$12,000.00	\$100,000.00	\$100,000.00	\$30,000.00	\$30,000.00	\$26,384.40	\$26,384.40
410	2A08CAG	6	Each	Monitoring Well	\$3,500.00	\$21,000.00	\$3,000.00	\$18,000.00	\$2,550.00	\$15,300.00	\$3,250.00	\$19,500.00	\$3,300.00	\$19,800.00	\$1,500.00	\$9,000.00	\$2,150.00	\$12,900.00	\$3,024.00	\$18,144.00
411	5ZO0021	2	Each	Removal of Underground Storage Tanks	\$8,000.00	\$16,000.00	\$23,500.00	\$47,000.00	\$5,100.00	\$10,200.00	\$15,000.00	\$30,000.00	\$6,500.00	\$13,000.00	\$5,000.00	\$10,000.00	\$3,200.00	\$6,400.00	\$23,625.00	\$47,250.00
412	6A00006	89,684.00	L.F.	#4/0 A.W.G. Multiple Lighting Cable	\$8.00	\$717,472.00	\$9.00	\$807,156.00	\$8.50	\$762,314.00	\$8.30	\$744,377.20	\$7.00	\$627,788.00	\$8.30	\$744,377.20	\$7.00	\$627,788.00	\$8.93	\$800,878.12
413	6A00017	6	L.F.	3" Rigid Metallic Conduit, PVC Coated, Exposed	\$255.00	\$1,530.00	\$125.00	\$750.00	\$280.00	\$1,680.00	\$125.00	\$750.00	\$85.00	\$510.00	\$273.00	\$1,638.00	\$282.00	\$1,692.00	\$294.84	\$1,769.04
414	6A00024	75	L.F.	2" Rigid Non-Metallic Conduit, PVC - Schedule 40	\$10.00	\$750.00	\$19.00	\$1,425.00	\$11.00	\$825.00	\$16.00	\$1,200.00	\$35.00	\$2,625.00	\$10.65	\$798.75	\$29.00	\$2,175.00	\$11.50	\$862.50
415	6A00059	9	Each	Junction Box Frame and Cover	\$560.00	\$5,040.00	\$1,020.00	\$9,180.00	\$600.00	\$5,400.00	\$950.00	\$8,550.00	\$1,300.00	\$11,700.00	\$580.00	\$5,220.00	\$1,220.00	\$10,980.00	\$626.40	\$5,637.60
416	6A00077	2,750.00	L.F.	#2/0 A.W.G. Service Cable (600v)	\$5.00	\$13,750.00	\$7.00	\$19,250.00	\$5.72	\$15,730.00	\$6.50	\$17,875.00	\$5.00	\$13,750.00	\$5.60	\$15,400.00	\$5.00	\$13,750.00	\$6.04	\$16,610.00
417	6A00093	935	L.F.	1 1/2" Rigid Non Metallic Conduit (Schedule 40)	\$10.00	\$9,350.00	\$9.00	\$8,415.00	\$11.00	\$10,285.00	\$8.50	\$7,947.50	\$10.00	\$9,350.00	\$10.65	\$9,957.75	\$5.00	\$4,675.00	\$11.50	\$10,752.50
418	6A00098	363	L.F.	#350kcmil Multiple Lighting	\$11.00	\$3,993.00	\$12.00	\$4,356.00	\$14.00	\$5,082.00	\$12.00	\$4,356.00	\$16.50	\$5,989.50	\$12.80	\$4,646.40	\$16.50	\$5,989.50	\$13.85	\$5,027.55
419	6A02GWR	41,766.00	L.F.	#2 A.W.G. Ground Wire	\$2.00	\$83,532.00	\$2.50	\$104,415.00	\$2.50	\$104,415.00	\$2.50	\$104,415.00	\$2.50	\$104,415.00	\$2.10	\$87,708.60	\$2.50	\$104,415.00	\$2.24	\$93,555.84
420	6A02MLC	42,748.00	L.F.	#2 A.W.G. Multiple Lighting Cable	\$2.00	\$85,496.00	\$3.70	\$158,167.60	\$3.00	\$128,244.00	\$3.75	\$160,305.00	\$3.50	\$149,618.00	\$2.90	\$123,969.20	\$3.50	\$149,618.00	\$3.12	\$133,373.76
421	6A02RMU	170	L.F.	2" Rigid Metallic Conduit, Underground	\$37.00	\$6,290.00	\$19.00	\$3,230.00	\$40.00	\$6,800.00	\$20.00	\$3,400.00	\$25.00	\$4,250.00	\$39.00	\$6,630.00	\$43.00	\$7,310.00	\$42.12	\$7,160.40
422	6A02RNM	135	L.F.	2" Rigid Nonmetallic Conduit, PVC-Schedule 80	\$24.00	\$3,240.00	\$19.00	\$2,565.00	\$30.00	\$4,050.00	\$18.50	\$2,497.50	\$20.00	\$2,700.00	\$25.00	\$3,375.00	\$29.00	\$3,915.00	\$27.00	\$3,645.00
423	6A02SVC	280	L.F.	#2 A.W.G. Service Cable (600v)	\$2.00	\$560.00	\$4.00	\$1,120.00	\$3.00	\$840.00	\$4.00	\$1,120.00	\$4.80	\$1,344.00	\$2.90	\$812.00	\$4.80	\$1,344.00	\$3.12	\$873.60
424	6A03RMS	22,848.00	L.F.	3" Rigid Metallic Conduit, on Structures	\$20.00	\$456,960.00	\$29.25	\$668,304.00	\$22.00	\$502,656.00	\$27.00	\$616,896.00	\$17.00	\$388,416.00	\$21.55	\$492,374.40	\$21.00	\$479,808.00	\$23.22	\$530,530.56
425	6A03RMU	172	L.F.	3" Rigid Metallic Conduit, Underground	\$40.00	\$6,880.00	\$40.00	\$6,880.00	\$43.00	\$7,396.00	\$40.00	\$6,880.00	\$35.00	\$6,020.00	\$42.00	\$7,224.00	\$40.00	\$6,880.00	\$45.36	\$7,801.92
426	6A03RNC	57,459.00	L.F.	3" Rigid Nonmetallic Conduit, PVC-(Schedule 40)	\$7.00	\$402,213.00	\$10.00	\$574,590.00	\$8.00	\$459,672.00	\$10.00	\$574,590.00	\$8.50	\$488,401.50	\$7.60	\$436,688.40	\$7.00	\$402,213.00	\$8.15	\$468,290.85

									Contra	ct T869.120.302	- Bid Tabulation									
		Line Iten	n Detail		South Stat	e, Inc.	The Delaney	Group, Inc.	Tutor Perini Corporation		J.H. Reid Genera	al Contractor	Union Paving and C	const. Co., Inc.	Pierson-Driscoll, A Joint Venture		George Harms Construction Co., Inc.		Intercounty Pavir Kibblet	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
427	6A04EDC	24	Each	4" Expansion / Deflection Coupling	\$480.00	\$11,520.00	\$250.00	\$6,000.00	\$512.00	\$12,288.00	\$525.00	\$12,600.00	\$660.00	\$15,840.00	\$500.00	\$12,000.00	\$900.00	\$21,600.00	\$540.00	\$12,960.00
428	6A04GWR	1,444.00	L.F.	#4 A.W.G. Ground Wire	\$1.25	\$1,805.00	\$2.80	\$4,043.20	\$2.00	\$2,888.00	\$2.60	\$3,754.40	\$3.00	\$4,332.00	\$1.50	\$2,166.00	\$3.00	\$4,332.00	\$1.57	\$2,267.08
429	6A04MLC	2,784.00	L.F.	#4 A.W.G. Multiple Lighting Cable	\$1.75	\$4,872.00	\$3.20	\$8,908.80	\$2.00	\$5,568.00	\$3.25	\$9,048.00	\$3.15	\$8,769.60	\$2.00	\$5,568.00	\$3.10	\$8,630.40	\$2.13	\$5,929.92
430	6A04RNM	312	L.F.	4" Rigid Nonmetallic Conduit, PVC-Schedule 40	\$11.00	\$3,432.00	\$19.00	\$5,928.00	\$13.00	\$4,056.00	\$19.00	\$5,928.00	\$22.00	\$6,864.00	\$12.00	\$3,744.00	\$28.50	\$8,892.00	\$12.96	\$4,043.52
431	6A05RMS	276	L.F.	1½" Rigid Metallic Conduit on Structures	\$48.00	\$13,248.00	\$25.00	\$6,900.00	\$50.00	\$13,800.00	\$24.00	\$6,624.00	\$75.00	\$20,700.00	\$48.50	\$13,386.00	\$19.01	\$5,246.76	\$52.06	\$14,368.56
432	6A06GWR	9,099.00	L.F.	#6 A.W.G. Ground Wire	\$1.00	\$9,099.00	\$1.85	\$16,833.15	\$1.00	\$9,099.00	\$1.90	\$17,288.10	\$1.70	\$15,468.30	\$1.05	\$9,553.95	\$1.70	\$15,468.30	\$1.12	\$10,190.88
433	6A06MLC	7,646.00	L.F.	#6 A.W.G. Multiple Lighting Cable	\$1.50	\$11,469.00	\$2.50	\$19,115.00	\$1.50	\$11,469.00	\$2.50	\$19,115.00	\$2.00	\$15,292.00	\$1.50	\$11,469.00	\$1.90	\$14,527.40	\$1.59	\$12,157.14
434	6A08GWR	2,835.00	L.F.	#8 A.W.G. Ground Wire	\$0.75	\$2,126.25	\$1.70	\$4,819.50	\$1.00	\$2,835.00	\$1.75	\$4,961.25	\$1.50	\$4,252.50	\$0.85	\$2,409.75	\$1.50	\$4,252.50	\$0.90	\$2,551.50
435	6A08MLC	28	L.F.	#8 A.W.G. Multiple Lighting Cable	\$1.00	\$28.00	\$5.30	\$148.40	\$5.00	\$140.00	\$6.00	\$168.00	\$6.40	\$179.20	\$1.05	\$29.40	\$6.40	\$179.20	\$1.13	\$31.64
436	6A08RMS	1,940.00	L.F.	4" Rigid Metallic Conduit, On Structure Concrete Foundation For	\$84.00	\$162,960.00	\$38.00	\$73,720.00	\$87.00	\$168,780.00	\$38.00	\$73,720.00	\$25.00	\$48,500.00	\$84.35	\$163,639.00	\$30.00	\$58,200.00	\$91.09	\$176,714.60
437	6A10FLC	1	Each	Load Center	\$4,000.00	\$4,000.00	\$2,900.00	\$2,900.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$1,250.00	\$1,250.00	\$4,150.00	\$4,150.00	\$4,200.00	\$4,200.00	\$4,482.00	\$4,482.00
438	6A10FMC	3	Each	Concrete Foundation For Meter Cabinet	\$1,300.00	\$3,900.00	\$1,300.00	\$3,900.00	\$1,600.00	\$4,800.00	\$1,350.00	\$4,050.00	\$1,250.00	\$3,750.00	\$1,500.00	\$4,500.00	\$2,650.00	\$7,950.00	\$1,620.00	\$4,860.00
439	6A10GWR	1,975.00	L.F.	#10 A.W.G. Ground Wire	\$0.50	\$987.50	\$1.55	\$3,061.25	\$1.00	\$1,975.00	\$1.60	\$3,160.00	\$1.40	\$2,765.00	\$0.60	\$1,185.00	\$1.30	\$2,567.50	\$0.66	\$1,303.50
440	6A10MLC	67,070.00	L.F.	#1/0 A.W.G. Multiple Lighting Cable	\$4.00	\$268,280.00	\$6.05	\$405,773.50	\$4.70	\$315,229.00	\$6.00	\$402,420.00	\$4.75	\$318,582.50	\$4.60	\$308,522.00	\$4.70	\$315,229.00	\$4.96	\$332,667.20
441	6A11MLC	3,650.00	L.F.	#10 A.W.G. Multiple Lighting Cable	\$0.75	\$2,737.50	\$1.55	\$5,657.50	\$0.84	\$3,066.00	\$1.60	\$5,840.00	\$2.15	\$7,847.50	\$0.85	\$3,102.50	\$2.10	\$7,665.00	\$0.89	\$3,248.50
442	6A13RNC	969	L.F.	3" Rigid Nonmetallic Conduit, PVC-(Schedule 80)	\$35.00	\$33,915.00	\$16.00	\$15,504.00	\$39.00	\$37,791.00	\$16.00	\$15,504.00	\$17.00	\$16,473.00	\$38.00	\$36,822.00	\$23.00	\$22,287.00	\$41.04	\$39,767.76
443	6A21JF1	133	Each	Junction Box Foundation, Type 1	\$3,300.00	\$438,900.00	\$2,700.00	\$359,100.00	\$3,600.00	\$478,800.00	\$2,800.00	\$372,400.00	\$2,350.00	\$312,550.00	\$3,520.00	\$468,160.00	\$2,900.00	\$385,700.00	\$3,801.60	\$505,612.80
444	6A24JBC	128	Each	Junction Box, Type C	\$2,800.00	\$358,400.00	\$2,550.00	\$326,400.00	\$3,100.00	\$396,800.00	\$2,750.00	\$352,000.00	\$1,700.00	\$217,600.00	\$2,980.00	\$381,440.00	\$2,400.00	\$307,200.00	\$3,218.40	\$411,955.20
445	6A25JBD	65	Each	Junction Box, Type D	\$1,000.00	\$65,000.00	\$1,050.00	\$68,250.00	\$1,200.00	\$78,000.00	\$1,200.00	\$78,000.00	\$800.00	\$52,000.00	\$1,100.00	\$71,500.00	\$725.00	\$47,125.00	\$1,188.00	\$77,220.00
446	6A25JPS	42	Each	Junction Box, Type PS	\$3,200.00	\$134,400.00	\$3,575.00	\$150,150.00	\$3,400.00	\$142,800.00	\$3,600.00	\$151,200.00	\$1,800.00	\$75,600.00	\$3,320.00	\$139,440.00	\$3,100.00	\$130,200.00	\$3,585.60	\$150,595.20
447	6A40GWR	1,368.00	L.F.	#4/0 A.W.G. Ground Wire #500kCMil A.W.G. Service	\$6.00	\$8,208.00	\$8.00	\$10,944.00	\$7.00	\$9,576.00	\$9.00	\$12,312.00	\$6.54	\$8,946.72	\$6.40	\$8,755.20	\$6.40	\$8,755.20	\$6.92	\$9,466.56
448	6A500SVC	2,736.00	L.F.	Cable (600V) 4-Way Power/Comm Duct	\$18.00	\$49,248.00	\$11.00	\$30,096.00	\$21.00	\$57,456.00	\$12.00	\$32,832.00	\$15.82	\$43,283.52	\$19.60	\$53,625.60	\$15.50	\$42,408.00	\$21.18	\$57,948.48
449	6J00029	7,400.00	L.F.	Bank, Soil Encased	\$23.00	\$170,200.00	\$18.00	\$133,200.00	\$25.00	\$185,000.00	\$18.50	\$136,900.00	\$25.00	\$185,000.00	\$24.00	\$177,600.00	\$32.00	\$236,800.00	\$25.92	\$191,808.00
450	6J00030	9,034.00	L.F.	4-Way Power/Comm Duct Bank, Concrete Encased	\$37.00	\$334,258.00	\$37.00	\$334,258.00	\$41.00	\$370,394.00	\$37.00	\$334,258.00	\$42.00	\$379,428.00	\$39.40	\$355,939.60	\$55.00	\$496,870.00	\$42.55	\$384,396.70
451	6J00039	394	L.F.	4-Way Power/Comm Duct bank, Concrete Encased	\$120.00	\$47,280.00	\$37.00	\$14,578.00	\$126.00	\$49,644.00	\$37.00	\$14,578.00	\$105.00	\$41,370.00	\$123.00	\$48,462.00	\$109.00	\$42,946.00	\$132.84	\$52,338.96
452	6J00049	630	L.F.	4-Way Duct Bank, 4" HDPE Conduits Directional Drilled	\$250.00	\$157,500.00	\$325.00	\$204,750.00	\$262.60	\$165,438.00	\$330.00	\$207,900.00	\$190.00	\$119,700.00	\$256.80	\$161,784.00	\$251.00	\$158,130.00	\$277.34	\$174,724.20
453	6J00055	844	L.F.	2-Way Power/Comm Duct Bank, Soil Encased	\$20.00	\$16,880.00	\$17.50	\$14,770.00	\$22.50	\$18,990.00	\$19.00	\$16,036.00	\$15.00	\$12,660.00	\$22.00	\$18,568.00	\$23.00	\$19,412.00	\$23.76	\$20,053.44
454	6J00056	510	L.F.	2-Way Power/Comm Duct Bank, Concrete Encased	\$30.00	\$15,300.00	\$37.00	\$18,870.00	\$33.00	\$16,830.00	\$37.50	\$19,125.00	\$25.00	\$12,750.00	\$32.00	\$16,320.00	\$39.00	\$19,890.00	\$34.56	\$17,625.60
455	6J00065	4,340.00	L.F.	Multi-Mode Fiber Optic Cable, 6-Fibers	\$3.00	\$13,020.00	\$18.00	\$78,120.00	\$3.50	\$15,190.00	\$18.50	\$80,290.00	\$55.00	\$238,700.00	\$3.40	\$14,756.00	\$55.00	\$238,700.00	\$3.67	\$15,927.80
457	6B00028	2	Each	Meter Cabinet, Type F, Voltage 277/480V	\$2,800.00	\$5,600.00	\$2,350.00	\$4,700.00	\$3,100.00	\$6,200.00	\$2,500.00	\$5,000.00	\$2,425.00	\$4,850.00	\$2,950.00	\$5,900.00	\$2,400.00	\$4,800.00	\$3,186.00	\$6,372.00
458	6B00030	1	Each	Meter Cabinet, Type G, Voltage 120/240V	\$3,100.00	\$3,100.00	\$2,750.00	\$2,750.00	\$3,300.00	\$3,300.00	\$2,800.00	\$2,800.00	\$2,600.00	\$2,600.00	\$3,180.00	\$3,180.00	\$2,500.00	\$2,500.00	\$3,434.40	\$3,434.40
459	6B00055	1	L.S.	Underbridge Lighting Installation, Structure No. 3	\$31,000.00	\$31,000.00	\$8,000.00	\$8,000.00	\$34,000.00	\$34,000.00	\$7,000.00	\$7,000.00	\$78,500.00	\$78,500.00	\$32,610.00	\$32,610.00	\$78,500.00	\$78,500.00	\$35,218.80	\$35,218.80
460	6B01CBM	1	Each	Concrete Base, Type M	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$3,300.00	\$3,300.00	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$3,180.00	\$3,180.00	\$2,800.00	\$2,800.00	\$3,434.40	\$3,434.40
461	6B01LCC	2	Each	Modify Load Center Cabinet	\$3,300.00	\$6,600.00	\$3,200.00	\$6,400.00	\$3,700.00	\$7,400.00	\$2,900.00	\$5,800.00	\$5,000.00	\$10,000.00	\$3,540.00	\$7,080.00	\$4,900.00	\$9,800.00	\$3,823.20	\$7,646.40
462	6B01LCT	1	Each	Load Center, Type T	\$17,000.00	\$17,000.00	\$5,500.00	\$5,500.00	\$18,000.00	\$18,000.00	\$5,300.00	\$5,300.00	\$16,650.00	\$16,650.00	\$17,100.00	\$17,100.00	\$16,500.00	\$16,500.00	\$18,468.00	\$18,468.00

									Contra	ct T869.120.302	- Bid Tabulation									
		Line Iter	m Detail		South Stat	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Genera	al Contractor	Union Paving and C	onst. Co., Inc.	Pierson-Driscoll, A Joint Venture		George Harms Construction Co., Inc.		Intercounty Paving LLC J/V H. & Kibblehouse	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
463	6B04RSF	1	L.S.	Remove And Salvage Existing Facilities	\$105,000.00	\$105,000.00	\$60,000.00	\$60,000.00	\$117,000.00	\$117,000.00	\$60,000.00	\$60,000.00	\$50,000.00	\$50,000.00	\$113,610.00	\$113,610.00	\$200,000.00	\$200,000.00	\$122,698.80	\$122,698.80
464	6B07RWL	1	Each	RELOCATE LIGHTING STANDARD	\$2,800.00	\$2,800.00	\$1,500.00	\$1,500.00	\$3,100.00	\$3,100.00	\$1,400.00	\$1,400.00	\$1,400.00	\$1,400.00	\$2,970.00	\$2,970.00	\$1,350.00	\$1,350.00	\$3,207.60	\$3,207.60
465	6B15LMGS	43	Each	Lighting Standard, Type L- MG-40-SB	\$1,800.00	\$77,400.00	\$2,200.00	\$94,600.00	\$1,900.00	\$81,700.00	\$2,250.00	\$96,750.00	\$2,150.00	\$92,450.00	\$1,830.00	\$78,690.00	\$2,100.00	\$90,300.00	\$1,976.40	\$84,985.20
466	6B15TP2	32	Each	Type P2 Luminaire, 150W	\$950.00	\$30,400.00	\$1,000.00	\$32,000.00	\$1,100.00	\$35,200.00	\$1,000.00	\$32,000.00	\$1,200.00	\$38,400.00	\$1,050.00	\$33,600.00	\$1,150.00	\$36,800.00	\$1,134.00	\$36,288.00
467	6B25TP2	111	Each	Type P2 Luminaire, 250W	\$1,100.00	\$122,100.00	\$1,100.00	\$122,100.00	\$1,200.00	\$133,200.00	\$1,100.00	\$122,100.00	\$1,200.00	\$133,200.00	\$1,130.00	\$125,430.00	\$1,200.00	\$133,200.00	\$1,220.40	\$135,464.40
468	6B25TP4	33	Each	Type P4 Luminaire, 250W	\$1,100.00	\$36,300.00	\$1,200.00	\$39,600.00	\$1,300.00	\$42,900.00	\$1,250.00	\$41,250.00	\$1,300.00	\$42,900.00	\$1,200.00	\$39,600.00	\$1,250.00	\$41,250.00	\$1,296.00	\$42,768.00
469	6B45LMG	133	Each	Lighting Standard, Type L- MG-40	\$1,900.00	\$252,700.00	\$2,450.00	\$325,850.00	\$2,000.00	\$266,000.00	\$2,600.00	\$345,800.00	\$2,450.00	\$325,850.00	\$1,940.00	\$258,020.00	\$2,400.00	\$319,200.00	\$2,095.20	\$278,661.60
470	6J00067	3	Each	Lighting Standard, Type L- ITS-40	\$2,100.00	\$6,300.00	\$2,500.00	\$7,500.00	\$2,300.00	\$6,900.00	\$2,600.00	\$7,800.00	\$2,350.00	\$7,050.00	\$2,210.00	\$6,630.00	\$2,350.00	\$7,050.00	\$2,386.80	\$7,160.40
471	N6B0007	1	L.S.	Underbridge Lighting Installation, Str. No. 1	\$82,000.00	\$82,000.00	\$40,000.00	\$40,000.00	\$87,000.00	\$87,000.00	\$40,000.00	\$40,000.00	\$19,000.00	\$19,000.00	\$84,440.00	\$84,440.00	\$18,900.00	\$18,900.00	\$91,195.20	\$91,195.20
472	N6B0008	1	L.S.	Underbridge Lighting Installation, Str. No. 2	\$42,000.00	\$42,000.00	\$6,000.00	\$6,000.00	\$46,000.00	\$46,000.00	\$7,000.00	\$7,000.00	\$45,000.00	\$45,000.00	\$44,030.00	\$44,030.00	\$44,500.00	\$44,500.00	\$47,552.40	\$47,552.40
473	6A00083	1	Each	Transformer, Type 45KVA	\$3,200.00	\$3,200.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$4,100.00	\$4,100.00	\$3,400.00	\$3,400.00	\$4,000.00	\$4,000.00	\$3,672.00	\$3,672.00
474	6E06ESR	2	Each	Removal of Emergency Speed Warning and Speed Limit Sign System, Bridge Mounted	\$4,500.00	\$9,000.00	\$2,000.00	\$4,000.00	\$2,295.00	\$4,590.00	\$1,300.00	\$2,600.00	\$6,000.00	\$12,000.00	\$10,000.00	\$20,000.00	\$7,000.00	\$14,000.00	\$3,564.00	\$7,128.00
475	6J00001	63	Each	In-Pavement Wireless Sensor	\$1,400.00	\$88,200.00	\$1,200.00	\$75,600.00	\$1,450.00	\$91,350.00	\$1,300.00	\$81,900.00	\$1,000.00	\$63,000.00	\$1,410.00	\$88,830.00	\$1,000.00	\$63,000.00	\$1,522.80	\$95,936.40
476	6J00007	1	L.S.	Spare Parts	\$20,000.00	\$20,000.00	\$55,000.00	\$55,000.00	\$21,000.00	\$21,000.00	\$52,000.00	\$52,000.00	\$26,500.00	\$26,500.00	\$20,210.00	\$20,210.00	\$26,000.00	\$26,000.00	\$21,826.80	\$21,826.80
477	6J00017	2	Each	Variable Message Sign Installation	\$18,000.00	\$36,000.00	\$10,000.00	\$20,000.00	\$16,000.00	\$32,000.00	\$13,500.00	\$27,000.00	\$4,500.00	\$9,000.00	\$15,620.00	\$31,240.00	\$4,500.00	\$9,000.00	\$16,869.60	\$33,739.20
478	6J00018	2	Each	Variable Speed Limit Sign Installation	\$12,500.00	\$25,000.00	\$6,000.00	\$12,000.00	\$12,000.00	\$24,000.00	\$7,500.00	\$15,000.00	\$3,500.00	\$7,000.00	\$11,060.00	\$22,120.00	\$3,500.00	\$7,000.00	\$11,944.80	\$23,889.60
479	6J00100	4	Each	Hybrid Changeable Message Sign Installation	\$18,000.00	\$72,000.00	\$8,000.00	\$32,000.00	\$16,000.00	\$64,000.00	\$10,500.00	\$42,000.00	\$4,500.00	\$18,000.00	\$15,620.00	\$62,480.00	\$4,500.00	\$18,000.00	\$16,869.60	\$67,478.40
480	6J00020	4	Each	System Control Cabinet Installation	\$4,300.00	\$17,200.00	\$3,600.00	\$14,400.00	\$4,500.00	\$18,000.00	\$3,500.00	\$14,000.00	\$5,000.00	\$20,000.00	\$4,320.00	\$17,280.00	\$4,950.00	\$19,800.00	\$4,665.60	\$18,662.40
481	6J00024	3	Each	CCTV Camera, ITSS Mounted	\$11,000.00	\$33,000.00	\$15,000.00	\$45,000.00	\$12,000.00	\$36,000.00	\$16,000.00	\$48,000.00	\$15,300.00	\$45,900.00	\$11,720.00	\$35,160.00	\$15,000.00	\$45,000.00	\$12,657.60	\$37,972.80
482	6J00025	1	Each	CCTV Camera, Pole Mounted	\$14,000.00	\$14,000.00	\$29,000.00	\$29,000.00	\$15,000.00	\$15,000.00	\$30,000.00	\$30,000.00	\$15,000.00	\$15,000.00	\$14,020.00	\$14,020.00	\$14,500.00	\$14,500.00	\$15,141.60	\$15,141.60
483	6J00032	7	Each	Wireless Access Point, ITSS Mounted	\$10,000.00	\$70,000.00	\$10,000.00	\$70,000.00	\$10,300.00	\$72,100.00	\$10,500.00	\$73,500.00	\$10,200.00	\$71,400.00	\$10,060.00	\$70,420.00	\$10,000.00	\$70,000.00	\$10,864.80	\$76,053.60
484	6J00068	3	Each	ITS Power Equipment, Pedestal Mounted	\$18,000.00	\$54,000.00	\$8,000.00	\$24,000.00	\$19,500.00	\$58,500.00	\$8,500.00	\$25,500.00	\$4,250.00	\$12,750.00	\$19,010.00	\$57,030.00	\$4,000.00	\$12,000.00	\$20,530.80	\$61,592.40
485	6J00071	2	Each	ITS Equipment Platform, Type 2	\$5,500.00	\$11,000.00	\$12,000.00	\$24,000.00	\$6,200.00	\$12,400.00	\$6,100.00	\$12,200.00	\$30,000.00	\$60,000.00	\$5,990.00	\$11,980.00	\$50,000.00	\$100,000.00	\$6,469.20	\$12,938.40
486	6J00073	1	Each	ITS Equipment Platform, Type 4	\$16,000.00	\$16,000.00	\$12,000.00	\$12,000.00	\$17,000.00	\$17,000.00	\$42,000.00	\$42,000.00	\$33,000.00	\$33,000.00	\$16,280.00	\$16,280.00	\$82,000.00	\$82,000.00	\$17,582.40	\$17,582.40
487	6J00074	1	Each	Removal Of Variable Message Sign System, Structure Mounted	\$10,000.00	\$10,000.00	\$3,500.00	\$3,500.00	\$2,244.00	\$2,244.00	\$8,400.00	\$8,400.00	\$2,750.00	\$2,750.00	\$10,000.00	\$10,000.00	\$9,500.00	\$9,500.00	\$5,940.00	\$5,940.00
488	6J00075	1	Each	Removal Of Highway Advisory Radio Sign System, Ground Mounted	\$7,700.00	\$7,700.00	\$2,000.00	\$2,000.00	\$2,244.00	\$2,244.00	\$1,500.00	\$1,500.00	\$1,325.00	\$1,325.00	\$7,500.00	\$7,500.00	\$2,900.00	\$2,900.00	\$2,700.00	\$2,700.00
489	6J00112	4	Each	End Node Radio Installation	\$5,000.00	\$20,000.00	\$6,500.00	\$26,000.00	\$5,000.00	\$20,000.00	\$6,400.00	\$25,600.00	\$3,525.00	\$14,100.00	\$4,890.00	\$19,560.00	\$3,500.00	\$14,000.00	\$5,281.20	\$21,124.80
490	6J00131	1	Each	Transformer, Type 50 kVA	\$4,100.00	\$4,100.00	\$6,800.00	\$6,800.00	\$4,200.00	\$4,200.00	\$5,750.00	\$5,750.00	\$4,350.00	\$4,350.00	\$4,030.00	\$4,030.00	\$4,300.00	\$4,300.00	\$4,352.40	\$4,352.40
491	6J00HAR	1	Each	HAR Sign Beacon Control Equipment	\$6,700.00	\$6,700.00	\$29,000.00	\$29,000.00	\$7,000.00	\$7,000.00	\$26,000.00	\$26,000.00	\$25,000.00	\$25,000.00	\$6,660.00	\$6,660.00	\$24,800.00	\$24,800.00	\$7,192.80	\$7,192.80
493	6J00003	2	Each	Wireless Access Point, Pole Mounted	\$16,000.00	\$32,000.00	\$18,000.00	\$36,000.00	\$15,400.00	\$30,800.00	\$16,500.00	\$33,000.00	\$12,800.00	\$25,600.00	\$15,050.00	\$30,100.00	\$12,500.00	\$25,000.00	\$16,254.00	\$32,508.00
494	6J01EDB	1,185.00	L.F.	8-5" Electric Duct Bank, PVC	\$60.00	\$71,100.00	\$64.00	\$75,840.00	\$65.00	\$77,025.00	\$65.00	\$77,025.00	\$80.00	\$94,800.00	\$63.15	\$74,832.75	\$98.00	\$116,130.00	\$95.04	\$112,622.40
495	6J01EMH	7	Each	6'x12'x9' Electrical Manhole	\$13,000.00	\$91,000.00	\$10,000.00	\$70,000.00	\$14,000.00	\$98,000.00	\$13,600.00	\$95,200.00	\$13,500.00	\$94,500.00	\$13,555.00	\$94,885.00	\$22,000.00	\$154,000.00	\$22,356.00	\$156,492.00
496	6J02EDB	670	L.F.	8-6" Electric Duct Bank on Structure, Fiberglass	\$150.00	\$100,500.00	\$155.00	\$103,850.00	\$156.00	\$104,520.00	\$160.00	\$107,200.00	\$105.00	\$70,350.00	\$152.50	\$102,175.00	\$165.00	\$110,550.00	\$162.00	\$108,540.00

	Contract T869.120.302 - Bid Tabulation George Harms Construction Co																			
		Line Iter	n Detail		South Stat	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Gener	al Contractor	Union Paving and Const. Co., Inc.		Pierson-Driscoll, A Joint Venture		George Harms Construction Co., Inc.		Intercounty Paving LLC J/V H. & Kibblehouse	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
497	6J03EDB	140	L.F.	8-6" Electric Duct Bank, PVC	\$105.00	\$14,700.00	\$115.00	\$16,100.00	\$112.00	\$15,680.00	\$110.00	\$15,400.00	\$120.00	\$16,800.00	\$109.00	\$15,260.00	\$154.00	\$21,560.00	\$151.20	\$21,168.00
498	6J04EDB	15	L.F.	1-5" Electric Duct, PVC	\$120.00	\$1,800.00	\$130.00	\$1,950.00	\$125.00	\$1,875.00	\$125.00	\$1,875.00	\$50.00	\$750.00	\$122.00	\$1,830.00	\$80.00	\$1,200.00	\$78.84	\$1,182.60
499	6J05EDB	520	L.F.	2-5" Electric Duct Bank, PVC with Risers	\$34.00	\$17,680.00	\$36.00	\$18,720.00	\$36.00	\$18,720.00	\$35.00	\$18,200.00	\$45.00	\$23,400.00	\$34.30	\$17,836.00	\$95.00	\$49,400.00	\$93.96	\$48,859.20
501	5ZL0009	6	Each	8' X 4' X 7' Telephone Manhole	\$10,000.00	\$60,000.00	\$7,000.00	\$42,000.00	\$10,700.00	\$64,200.00	\$10,500.00	\$63,000.00	\$9,000.00	\$54,000.00	\$10,380.00	\$62,280.00	\$7,500.00	\$45,000.00	\$7,614.00	\$45,684.00
502	5ZL0165	1,090.00	L.F.	6-4" Telephone Duct Bank, PVC	\$40.00	\$43,600.00	\$43.00	\$46,870.00	\$42.00	\$45,780.00	\$42.00	\$45,780.00	\$60.00	\$65,400.00	\$40.40	\$44,036.00	\$82.00	\$89,380.00	\$81.00	\$88,290.00
503	5ZL0171	1,155.00	L.F.	6-4" Telephone Duct Bank on Structure, Fiberglass	\$100.00	\$115,500.00	\$102.00	\$117,810.00	\$103.00	\$118,965.00	\$102.00	\$117,810.00	\$100.00	\$115,500.00	\$100.00	\$115,500.00	\$100.00	\$115,500.00	\$97.20	\$112,266.00
504	6J01TDB	215	L.F.	2-4" Telephone Duct Bank, PVC with Risers	\$26.00	\$5,590.00	\$29.00	\$6,235.00	\$29.00	\$6,235.00	\$27.50	\$5,912.50	\$35.00	\$7,525.00	\$28.00	\$6,020.00	\$37.00	\$7,955.00	\$36.72	\$7,894.80
505	6J01TTH	2	Each	30"x60" Temporary Telephone Handhole	\$3,200.00	\$6,400.00	\$3,500.00	\$7,000.00	\$3,500.00	\$7,000.00	\$3,350.00	\$6,700.00	\$2,650.00	\$5,300.00	\$3,333.00	\$6,666.00	\$5,000.00	\$10,000.00	\$4,914.00	\$9,828.00
506	6J02TDB	1,500.00	L.F.	2-4" Temporary Telephone Duct Bank, PVC with Risers	\$22.00	\$33,000.00	\$24.00	\$36,000.00	\$23.52	\$35,280.00	\$24.00	\$36,000.00	\$55.00	\$82,500.00	\$23.00	\$34,500.00	\$32.00	\$48,000.00	\$31.32	\$46,980.00
507	6J01ISR	2	Each	Illuminated Sign Relocation	\$28,000.00	\$56,000.00	\$9,600.00	\$19,200.00	\$21,000.00	\$42,000.00	\$29,000.00	\$58,000.00	\$4,000.00	\$8,000.00	\$19,930.00	\$39,860.00	\$15,000.00	\$30,000.00	\$21,524.40	\$43,048.80
508	7C01TOP	345,585.00	S.Y.	Topsoil	\$1.00	\$345,585.00	\$0.70	\$241,909.50	\$1.00	\$345,585.00	\$1.40	\$483,819.00	\$1.30	\$449,260.50	\$1.20	\$414,702.00	\$1.70	\$587,494.50	\$1.47	\$508,009.95
509	7D01SED	116,960.00	S.Y.	Seeding, Type A	\$0.55	\$64,328.00	\$0.59	\$69,006.40	\$1.00	\$116,960.00	\$0.65	\$76,024.00	\$0.77	\$90,059.20	\$0.60	\$70,176.00	\$0.65	\$76,024.00	\$0.63	\$73,684.80
510	7D02SED	49,410.00	S.Y.	Seeding, Type B	\$0.55	\$27,175.50	\$0.62	\$30,634.20 \$6,200.00	\$1.00 \$1.00	\$49,410.00	\$0.65	\$32,116.50	\$0.77	\$38,045.70 \$7,700.00	\$0.60	\$29,646.00	\$0.65	\$32,116.50 \$6,500.00	\$0.71 \$0.90	\$35,081.10 \$9,000.00
511 512	7D03SED 7D08SED	10,000.00 156,390.00	S.Y.	Seeding, Type C Seeding, Type L	\$0.58 \$0.63	\$5,800.00 \$98,525.70	\$0.62 \$0.54	\$84,450.60	\$1.00 \$1.00	\$10,000.00 \$156,390.00	\$0.65 \$0.68	\$6,500.00 \$106,345.20	\$0.77 \$0.77	\$120,420.30	\$0.60 \$0.65	\$6,000.00 \$101,653.50	\$0.65 \$0.70	\$6,500.00	\$0.90	\$9,000.00
513	7D20MOW	60	Acre	Mowing	\$130.00	\$7,800.00	\$160.00	\$9,600.00	\$153.00	\$9,180.00	\$155.00	\$9,300.00	\$275.00	\$16,500.00	\$150.00	\$9,000.00	\$165.00	\$9,900.00	\$453.60	\$27,216.00
514	7D30WAT	3,500.00	M.G.	Watering	\$1.00	\$3,500.00	\$26.00	\$91,000.00	\$25.50	\$89,250.00	\$26.00	\$91,000.00	\$0.01	\$35.00	\$25.00	\$87,500.00	\$0.01	\$35.00	\$93.17	\$326,095.00
515	7E20MUL	1,070.00	S.Y.	Wood Chip Mulching	\$2.70	\$2,889.00	\$3.00	\$3,210.00	\$3.00	\$3,210.00	\$2.90	\$3,103.00	\$4.25	\$4,547.50	\$2.80	\$2,996.00	\$3.00	\$3,210.00	\$4.05	\$4,333.50
516	N7E0003	27	Each	Planting, Black Chokeberry (Aronia Melanocarpa)	\$32.00	\$864.00	\$37.00	\$999.00	\$36.00	\$972.00	\$36.00	\$972.00	\$55.00	\$1,485.00	\$35.00	\$945.00	\$38.00	\$1,026.00	\$39.69	\$1,071.63
517	N7E0008	27	Each	Planting, Winterberry Holly (llex Verticillata)	\$68.00	\$1,836.00	\$47.00	\$1,269.00	\$72.00	\$1,944.00	\$75.00	\$2,025.00	\$165.00	\$4,455.00	\$70.00	\$1,890.00	\$77.00	\$2,079.00	\$47.52	\$1,283.04
518	N7E0021	27	Each	Planting, Shadbush Serviceberry (Amelanchier Canadensis)	\$35.00	\$945.00	\$38.00	\$1,026.00	\$37.00	\$999.00	\$38.00	\$1,026.00	\$55.00	\$1,485.00	\$36.00	\$972.00	\$39.00	\$1,053.00	\$64.80	\$1,749.60
519	N7E0022	24	Each	Planting, Gray Birch (Betula Popufolia)	\$245.00	\$5,880.00	\$265.00	\$6,360.00	\$255.00	\$6,120.00	\$260.00	\$6,240.00	\$260.00	\$6,240.00	\$250.00	\$6,000.00	\$275.00	\$6,600.00	\$260.28	\$6,246.72
520	N7E0024	24	Each	Planting, Green Ash (Fraxinus Pennsylvanica)	\$195.00	\$4,680.00	\$214.00	\$5,136.00	\$204.00	\$4,896.00	\$210.00	\$5,040.00	\$260.00	\$6,240.00	\$200.00	\$4,800.00	\$220.00	\$5,280.00	\$249.48	\$5,987.52
521	N7E0025	24	Each	Planting, Sweetgum (Liquidambar Styraciflua)	\$210.00	\$5,040.00	\$230.00	\$5,520.00	\$220.00	\$5,280.00	\$220.00	\$5,280.00	\$260.00	\$6,240.00	\$215.00	\$5,160.00	\$237.00	\$5,688.00	\$249.48	\$5,987.52
522	N7E0027	29	Each	Planting, Swamp White Oak (Quercus Bicolor)	\$230.00	\$6,670.00	\$255.00	\$7,395.00	\$245.00	\$7,105.00	\$245.00	\$7,105.00	\$260.00	\$7,540.00	\$240.00	\$6,960.00	\$265.00	\$7,685.00	\$265.68	\$7,704.72
523	N7E0028	29	Each	Planting, Pin Oak (Quercus Palustris)	\$205.00	\$5,945.00	\$225.00	\$6,525.00	\$215.00	\$6,235.00	\$215.00	\$6,235.00	\$260.00	\$7,540.00	\$210.00	\$6,090.00	\$232.00	\$6,728.00	\$249.48	\$7,234.92
524	N7E0029	27	Each	Planting, American Holly (Ilex Opaca)	\$60.00	\$1,620.00	\$70.00	\$1,890.00	\$67.00	\$1,809.00	\$70.00	\$1,890.00	\$100.00	\$2,700.00	\$65.00	\$1,755.00	\$70.00	\$1,890.00	\$70.20	\$1,895.40
525	N7E0030	24	Each	Planting, Male American Holly (Ilex Opaca 'Male')	\$105.00	\$2,520.00	\$125.00	\$3,000.00	\$123.00	\$2,952.00	\$125.00	\$3,000.00	\$150.00	\$3,600.00	\$120.00	\$2,880.00	\$132.00	\$3,168.00	\$124.20	\$2,980.80
526	N7E0031	70	Each	Planting, Red Cedar (Juniperis Virginiana)	\$70.00	\$4,900.00	\$80.00	\$5,600.00	\$76.50	\$5,355.00	\$80.00	\$5,600.00	\$65.00	\$4,550.00	\$75.00	\$5,250.00	\$80.00	\$5,600.00	\$56.16	\$3,931.20
527	N7E0034	24	Each	Planting, Sugar Maple (Acer Saccharum)	\$220.00	\$5,280.00	\$230.00	\$5,520.00	\$225.00	\$5,400.00	\$225.00	\$5,400.00	\$260.00	\$6,240.00	\$220.00	\$5,280.00	\$240.00	\$5,760.00	\$249.48	\$5,987.52
528	N7E0035	24	Each	Planting, White Ash (Fraxinus Americana)	\$205.00	\$4,920.00	\$220.00	\$5,280.00	\$215.00	\$5,160.00	\$215.00	\$5,160.00	\$260.00	\$6,240.00	\$210.00	\$5,040.00	\$230.00	\$5,520.00	\$227.88	\$5,469.12
529	N7E0036	24	Each	Planting, Black Cherry (Prunus Seratina)	\$215.00	\$5,160.00	\$220.00	\$5,280.00	\$215.00	\$5,160.00	\$215.00	\$5,160.00	\$260.00	\$6,240.00	\$210.00	\$5,040.00	\$230.00	\$5,520.00	\$335.88	\$8,061.12
530	N7E0037	29	Each	Planting, White Oak (Quercus Alba)	\$235.00	\$6,815.00	\$255.00	\$7,395.00	\$245.00	\$7,105.00	\$245.00	\$7,105.00	\$265.00	\$7,685.00	\$240.00	\$6,960.00	\$260.00	\$7,540.00	\$260.28	\$7,548.12
531	N7E0041	29	Each	Planting, Red Oak (Quercus Rubra)	\$190.00	\$5,510.00	\$210.00	\$6,090.00	\$204.00	\$5,916.00	\$210.00	\$6,090.00	\$265.00	\$7,685.00	\$200.00	\$5,800.00	\$220.00	\$6,380.00	\$265.68	\$7,704.72
532	N7E0042	24	Each	Planting, Red Maple (Acer Rubrum)	\$185.00	\$4,440.00	\$200.00	\$4,800.00	\$194.00	\$4,656.00	\$200.00	\$4,800.00	\$250.00	\$6,000.00	\$190.00	\$4,560.00	\$200.00	\$4,800.00	\$227.88	\$5,469.12

									Contra	ct T869.120.302	- Bid Tabulation									
		Line Iter	n Detail		South Stat	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Genera	l Contractor	Union Paving and (Const. Co., Inc.	Pierson-Driscoll,	A Joint Venture	George Harms C		Intercounty Pavin	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
533	N7E0044	24	Each	Planting, Sassafras (Sassafras Albidum)	\$345.00	\$8,280.00	\$375.08	\$9,001.92	\$357.00	\$8,568.00	\$360.00	\$8,640.00	\$260.00	\$6,240.00	\$350.00	\$8,400.00	\$380.00	\$9,120.00	\$335.88	\$8,061.12
534	N7E0065	140	Each	Planting, Eastern White Pine (Pinus Strobus)	\$22.00	\$3,080.00	\$25.70	\$3,598.00	\$25.00	\$3,500.00	\$25.00	\$3,500.00	\$230.00	\$32,200.00	\$24.00	\$3,360.00	\$26.50	\$3,710.00	\$44.28	\$6,199.20
535	N7E0067	24	Each	Planting, Hackleberry (Celtis Occidentiis)	\$95.00	\$2,280.00	\$105.00	\$2,520.00	\$102.00	\$2,448.00	\$110.00	\$2,640.00	\$165.00	\$3,960.00	\$100.00	\$2,400.00	\$110.00	\$2,640.00	\$135.00	\$3,240.00
536	N7E0077	70	Each	Planting, Douglas Fir (Pseudotsuga Menziesii)	\$70.00	\$4,900.00	\$80.00	\$5,600.00	\$76.50	\$5,355.00	\$80.00	\$5,600.00	\$230.00	\$16,100.00	\$75.00	\$5,250.00	\$82.00	\$5,740.00	\$45.36	\$3,175.20
537	N7E0078	70	Each	Planting, Norway Spruce (Picea Abies)	\$25.00	\$1,750.00	\$32.00	\$2,240.00	\$30.60	\$2,142.00	\$35.00	\$2,450.00	\$55.00	\$3,850.00	\$30.00	\$2,100.00	\$33.00	\$2,310.00	\$45.36	\$3,175.20
538	N7E0079	76	Each	Planting, Pitch Pine (Pinus Rigida)	\$35.00	\$2,660.00	\$42.00	\$3,192.00	\$41.00	\$3,116.00	\$45.00	\$3,420.00	\$55.00	\$4,180.00	\$40.00	\$3,040.00	\$44.00	\$3,344.00	\$46.44	\$3,529.44
539	N7E0080	76	Each	Planting, Loblolly Pine (Pinus Taeda)	\$34.00	\$2,584.00	\$37.00	\$2,812.00	\$36.00	\$2,736.00	\$40.00	\$3,040.00	\$55.00	\$4,180.00	\$35.00	\$2,660.00	\$38.00	\$2,888.00	\$81.00	\$6,156.00
540	N7E0081	76	Each	Planting, Shortleaf Pine (Pinus Echinata)	\$44.00	\$3,344.00	\$48.00	\$3,648.00	\$46.00	\$3,496.00	\$50.00	\$3,800.00	\$55.00	\$4,180.00	\$45.00	\$3,420.00	\$49.00	\$3,724.00	\$45.36	\$3,447.36
541	N7E0082	27	Each	Planting, Tuplip Poplar (Liriodendron Tulipifera)	\$190.00	\$5,130.00	\$214.00	\$5,778.00	\$204.00	\$5,508.00	\$210.00	\$5,670.00	\$260.00	\$7,020.00	\$200.00	\$5,400.00	\$220.00	\$5,940.00	\$249.48	\$6,735.96
542	N7E0083	5	Each	Abandon Pits	\$48.00	\$240.00	\$53.00	\$265.00	\$51.00	\$255.00	\$55.00	\$275.00	\$225.00	\$1,125.00	\$50.00	\$250.00	\$55.00	\$275.00	\$378.00	\$1,890.00
543	7F02SSM	30,004.00	S.Y.	Permanent Soil Stabilization Matting	\$2.75	\$82,511.00	\$2.50	\$75,010.00	\$4.00	\$120,016.00	\$3.10	\$93,012.40	\$3.50	\$105,014.00	\$3.00	\$90,012.00	\$3.30	\$99,013.20	\$4.32	\$129,617.28
544	7I01LNP	25	S.Y.	Block Paving	\$150.00	\$3,750.00	\$37.00	\$925.00	\$50.00	\$1,250.00	\$55.00	\$1,375.00	\$175.00	\$4,375.00	\$200.00	\$5,000.00	\$165.00	\$4,125.00	\$540.00	\$13,500.00
545	7102LNP	8,308.00	S.Y.	Gravel Paving Wet Meadow Seed Mix,	\$6.90	\$57,325.20	\$8.00	\$66,464.00	\$12.00	\$99,696.00	\$16.00	\$132,928.00	\$4.00	\$33,232.00	\$5.00	\$41,540.00	\$7.00	\$58,156.00	\$6.10	\$50,678.80
546	7D20SED	840	S.Y.	Type W	\$0.75	\$630.00	\$0.84	\$705.60	\$1.00	\$840.00	\$0.90	\$756.00	\$2.00	\$1,680.00	\$0.80	\$672.00	\$0.85	\$714.00	\$3.78	\$3,175.20
547	N8A00010	23	Each	Placing and Removing Temporary Crash Cushion, Frangible Modular Type	\$100.00	\$2,300.00	\$480.00	\$11,040.00	\$290.00	\$6,670.00	\$1,100.00	\$25,300.00	\$2,200.00	\$50,600.00	\$1,500.00	\$34,500.00	\$2,180.00	\$50,140.00	\$2,065.80	\$47,513.40
548	N8A0004	1	Each	Portable Variable Message Sign	\$1,000.00	\$1,000.00	\$9,000.00	\$9,000.00	\$50,000.00	\$50,000.00	\$20,500.00	\$20,500.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$16,200.00	\$16,200.00
549	N8A0009	6	Each	Furnishing Temporary Crash Cushion, Frangible Modular Type	\$20,000.00	\$120,000.00	\$3,200.00	\$19,200.00	\$350.00	\$2,100.00	\$3,500.00	\$21,000.00	\$5,000.00	\$30,000.00	\$5,000.00	\$30,000.00	\$4,700.00	\$28,200.00	\$3,420.58	\$20,523.48
550	8A06MPT	100	Barrel	Repair Temporary Impact Attenuators	\$1.00	\$100.00	\$275.00	\$27,500.00	\$300.00	\$30,000.00	\$100.00	\$10,000.00	\$150.00	\$15,000.00	\$250.00	\$25,000.00	\$700.00	\$70,000.00	\$344.91	\$34,491.00
551	8A07MPT	1	Each	Repair Truck Mounted Impact Attenuators	\$1.00	\$1.00	\$6,500.00	\$6,500.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	\$15,000.00	\$15,000.00	\$11,880.00	\$11,880.00
552	8B00003	13	Each	Flashing Arrow Boards, 4' x 8'	\$1,500.00	\$19,500.00	\$3,750.00	\$48,750.00	\$6,000.00	\$78,000.00	\$3,500.00	\$45,500.00	\$1,500.00	\$19,500.00	\$4,000.00	\$52,000.00	\$5,000.00	\$65,000.00	\$5,400.00	\$70,200.00
553	8B01MPT	38,000.00	L.F.	Furnishing Concrete Barrier	\$5.00	\$190,000.00	\$19.00	\$722,000.00	\$20.00	\$760,000.00	\$20.00	\$760,000.00	\$30.00	\$1,140,000.00	\$20.00	\$760,000.00	\$21.25	\$807,500.00	\$41.58	\$1,580,040.00
554	8B10MPT	55,195.00	L.F.	Placing and Removing Concrete Barrier	\$1.00	\$55,195.00	\$4.00	\$220,780.00	\$7.00	\$386,365.00	\$10.00	\$551,950.00	\$12.00	\$662,340.00	\$17.00	\$938,315.00	\$12.25	\$676,138.75	\$10.53	\$581,203.35
555	8B14MPT	230,790.00	L.F.	Temporary Striping	\$0.50	\$115,395.00	\$0.18		\$0.50	\$115,395.00	\$0.40	\$92,316.00	\$0.20	\$46,158.00	\$0.15	\$34,618.50	\$0.20	\$46,158.00	\$1.08	\$249,253.20
556	8B15MPT	8,500.00	M.H.	Traffic Protection Patrol	\$0.75	\$6,375.00	\$1.05		\$67.32	\$572,220.00	\$70.00	\$595,000.00	\$45.00	\$382,500.00	\$80.00	\$680,000.00	\$75.00	\$637,500.00	\$89.90	\$764,150.00
557 558	8B16MPT 8B17MPT	5,000.00	M.H. Each	Uniformed Flagman Furnishing Truck with	\$0.75 \$1,500.00	\$3,750.00 \$7,500.00	\$62.00 \$40,000.00	\$310,000.00 \$200,000.00	\$66.72 \$56,000.00	\$333,600.00 \$280,000.00	\$62.00 \$20,000.00	\$310,000.00 \$100,000.00	\$60.00 \$15,000.00	\$300,000.00 \$75,000.00	\$70.00 \$15,000.00	\$350,000.00 \$75,000.00	\$65.00 \$15,000.00	\$325,000.00 \$75,000.00	\$89.90 \$70,200.00	\$449,500.00 \$351,000.00
559	8B24MPT	1	L.S.	Mounted Attenuator Furnishing Traffic Protection Devices	\$750,000.00	\$750,000.00	\$125,000.00	\$125,000.00	\$500,000.00	\$500,000.00	\$150,000.00	\$150,000.00	\$100,000.00	\$100,000.00	\$1,000,000.00	\$1,000,000.00	\$70,000.00	\$70,000.00	\$5,456,680.00	\$5,456,680.00
560	8B25MPT	6	Each	Furnish Variable Message Sign	\$950.00	\$5,700.00	\$9,100.00	\$54,600.00	\$28,560.00	\$171,360.00	\$12,500.00	\$75,000.00	\$12,000.00	\$72,000.00	\$12,000.00	\$72,000.00	\$10,000.00	\$60,000.00	\$16,200.00	\$97,200.00
561	8B27MPT	10	Each	Installation, Maintenance and Removal of Breakaway Barricades	\$200.00	\$2,000.00	\$300.00	\$3,000.00	\$255.00	\$2,550.00	\$150.00	\$1,500.00	\$300.00	\$3,000.00	\$100.00	\$1,000.00	\$190.00	\$1,900.00	\$270.00	\$2,700.00
562	8B31MPT	1	L.S.	Maintenance and Protection of Traffic	\$1,300,000.00	\$1,300,000.00	\$7,415,500.00	\$7,415,500.00	\$935,000.00	\$935,000.00	\$950,000.00	\$950,000.00	\$2,000,000.00	\$2,000,000.00	\$2,000,000.00	\$2,000,000.00	\$60,000.00	\$60,000.00	\$4,705,439.97	\$4,705,439.97
563	N8A0012	30	Each	Furnishing Temporary Impact Attenuator, Quadguard	\$1,000.00	\$30,000.00	\$10,000.00	\$300,000.00	\$5,000.00	\$150,000.00	\$15,000.00	\$450,000.00	\$7,500.00	\$225,000.00	\$12,000.00	\$360,000.00	\$17,200.00	\$516,000.00	\$16,200.00	\$486,000.00
564	N8A0013	70	Each	Placing And Removing Temporary Impact Attenuator, Quadguard	\$100.00	\$7,000.00	\$1,010.00	\$70,700.00	\$300.00	\$21,000.00	\$1,500.00	\$105,000.00	\$2,200.00	\$154,000.00	\$2,400.00	\$168,000.00	\$2,200.00	\$154,000.00	\$1,594.47	\$111,612.90
565	N8A0014	27	Bay	Repair Temporary Impact Attenuators, Quadguard	\$0.75	\$20.25	\$427.00	\$11,529.00	\$4,000.00	\$108,000.00	\$1,000.00	\$27,000.00	\$250.00	\$6,750.00	\$1,350.00	\$36,450.00	\$1,500.00	\$40,500.00	\$5,400.00	\$145,800.00

									Contra	ct T869.120.302	- Bid Tabulation									
		Line Iter	n Detail		South State	e, Inc.	The Delaney	Group, Inc.	Tutor Perini	Corporation	J.H. Reid Genera	al Contractor	Union Paving and C	Const. Co., Inc.	Pierson-Driscoll, A Joint Venture		George Harms Construction Co., Inc.		Intercounty Paving LLC J/V H. & Kibblehouse	
Item No.	Unit Code	QTY	UNIT	DESCRIPTION	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
566	8A25MPT	1	L.S.	Police Traffic Directors (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$75,000. Enter a Unit Price of \$75,000 as your bid for this item.)	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00
567	8C21MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 1	\$100,000.00	\$100,000.00	\$54,000.00	\$54,000.00	\$200,000.00	\$200,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$100,000.00	\$100,000.00	\$20,000.00	\$20,000.00	\$123,101.32	\$123,101.32
568	8C22MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 2	\$500,000.00	\$500,000.00	\$225,000.00	\$225,000.00	\$500,000.00	\$500,000.00	\$25,000.00	\$25,000.00	\$525,000.00	\$525,000.00	\$1,200,000.00	\$1,200,000.00	\$575,000.00	\$575,000.00	\$1,476,683.82	\$1,476,683.82
569	8C23MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 3	\$100,000.00	\$100,000.00	\$45,000.00	\$45,000.00	\$200,000.00	\$200,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$100,000.00	\$100,000.00	\$10,000.00	\$10,000.00	\$127,196.68	\$127,196.68
570	8C24MLR	1	L.S.	Maintenance and Protection of Traffic on Location No. 4	\$150,000.00	\$150,000.00	\$45,000.00	\$45,000.00	\$200,000.00	\$200,000.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	\$15,000.00	\$15,000.00	\$84,007.99	\$84,007.99
571	N8G0001	4,000.00	Hour	Standby Wrecker Service	\$1.00	\$4,000.00	\$140.00	\$560,000.00	\$25.50	\$102,000.00	\$85.00	\$340,000.00	\$75.00	\$300,000.00	\$75.00	\$300,000.00	\$75.00	\$300,000.00	\$114.75	\$459,000.00
572	4A55CPS	115,660.00	S.F.	Concrete Penetrating SealerTreatment	\$1.00	\$115,660.00	\$1.17	\$135,322.20	\$1.50	\$173,490.00	\$0.85	\$98,311.00	\$0.75	\$86,745.00	\$1.00	\$115,660.00	\$1.60	\$185,056.00	\$2.16	\$249,825.60
573	6J07EDB	490	L.F.	8-5" Electric Duct Bank on Structure, Fiberglass	\$135.00	\$66,150.00	\$145.00	\$71,050.00	\$140.00	\$68,600.00	\$140.00	\$68,600.00	\$110.00	\$53,900.00	\$136.05	\$66,664.50	\$143.00	\$70,070.00	\$140.40	\$68,796.00
574	6J08EDB	1,300.00	L.F.	4-5" Temporary Electric Duct Bank, PVC	\$29.00	\$37,700.00	\$31.00	\$40,300.00	\$30.06	\$39,078.00	\$30.00	\$39,000.00	\$55.00	\$71,500.00	\$29.40	\$38,220.00	\$59.00	\$76,700.00	\$58.32	\$75,816.00
575	6J09EDB	105	L.F.	2-5" Temporary Electric Duct Bank, PVC with Risers	\$35.00	\$3,675.00	\$39.00	\$4,095.00	\$38.00	\$3,990.00	\$38.00	\$3,990.00	\$40.00	\$4,200.00	\$37.00	\$3,885.00	\$143.00	\$15,015.00	\$140.40	\$14,742.00
576	6H00001	1	L.S.	System Manufacturer Installation and Testing (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$20,000. Enter a Unit Price of \$20,000 as your bid for this item.)	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
577	6J10EDB	265	L.F.	4-5" Temporary Electric Duct, Fiberglass - Bridge	\$170.00	\$45,050.00	\$100.00	\$26,500.00	\$180.00	\$47,700.00	\$185.00	\$49,025.00	\$100.00	\$26,500.00	\$235.00	\$62,275.00	\$193.00	\$51,145.00	\$189.00	\$50,085.00
578	5A12PBD	4,479.00	L.F.	12" Bleeder Drain	\$25.00	\$111,975.00	\$16.50	\$73,903.50	\$43.00	\$192,597.00	\$35.00	\$156,765.00	\$15.00	\$67,185.00	\$18.00	\$80,622.00	\$42.00	\$188,118.00	\$28.86	\$129,263.94
579 580	5B16DIP 7J01BLW	97 300	L.F. S.F.	16" Ductile Iron Pipe Block Wall	\$176.00 \$30.00	\$17,072.00 \$9,000.00	\$85.00 \$53.00	\$8,245.00 \$15,900.00	\$150.00 \$75.00	\$14,550.00 \$22,500.00	\$110.00 \$120.00	\$10,670.00 \$36,000.00	\$150.00 \$45.00	\$14,550.00 \$13,500.00	\$240.00 \$35.00	\$23,280.00 \$10,500.00	\$250.00 \$45.00	\$24,250.00 \$13,500.00	\$83.18 \$81.00	\$8,068.46 \$24,300.00
581	N8B0002	12,000.00		Resetting Concrete Barrier	\$30.00 \$15.00	\$180,000.00	\$53.00 \$1.40	\$16,800.00	\$3.00		\$5.00	\$60,000.00	\$45.00 \$16.00	\$192,000.00		\$66,000.00		\$64,800.00	\$5.17	\$62,040.00
582	5ZO0127	1	L.S.	Lead and Asbestos Survey, Report and Monitoring (This is a NO-BID, Lump Sum item for this contract. The Lump Sum price is \$50,000. Enter a Unit Price of \$50,000 as your bid for this item.)	\$50,000.00	\$50,000.00	\$50,000.00		\$50,000.00		\$50,000.00	\$50,000.00		\$50,000.00	\$50,000.00	\$50,000.00			\$50,000.00	\$50,000.00
583	5ZO0128	1	L.S.	Removal of Lead-Based Materials (This is a NO- BID, Lump Sum item for this contract. The Lump Sum price is \$20,000. Enter a Unit Price of \$20,000 as your bid for this item.)	\$20,000.00	\$20,000.00	\$20,000.00		\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00		\$20,000.00	\$20,000.00	\$20,000.00			\$20,000.00	\$20,000.0
İ				Base Total		\$144,139,490.97		\$145,238,146.00		\$149,565,777.00		\$152,080,882.15		\$153,748,653.81		\$154,093,894.95		\$178,369,637.56		\$184,444,444.4